ESARA

Japanese Technology since 1912

EVM series - vertical Multistage Pumps Data Book 50Hz




50 Hz

VERTICAL MULTISTAGE PUMPS

Page
1. SPECIFICATIONS @
1.1 TYPICAL APPLICATIONS 101
1.2 PERFORMANCE RANGE 102
2. EVMS 1-3-5-10-15-20 200
2.1 PRODUCT FEATURES 201
2.2 PRODUCT SPECIFICATIONS 202
2.3  SHAFT SEAL 203
2.4 TYPE KEY and NAMEPLATE 204
2.5 PERFORMANCE RANGE 205
2.6 CURVE SPECIFICATIONS 206
2.7 SELECTION CHART 207
2.8 EVMS(L)1 209
EVMSG1 215
2.9 EVMS(L)3 221
EVMSG3 227
2.10 EVMS(L)5 233
EVMSG5 239
211 EVMS(L)10 245
EVMSG10 251
2.12 EVMS(L)15 257
EVMSG15 263
2.13 EVMS(L)20 269
EVMSG20 275
2.14 PACKING 281
3. EVM 32-45-64 300
3.1 PRODUCT FEATURES 301
3.2 PRODUCT SPECIFICATIONS 302
3.3 SHAFT SEAL 303
3.4 TYPE KEY and NAMEPLATE 304
3.5 PERFORMANCE RANGE 305
3.6 CURVE SPECIFICATIONS 306
3.7 SELECTION CHART 307
3.8 EVM(L)32 308
EVMG32 323
3.9 EVM(L)45 338
EVMG45 351
3.10 EVM(L)64 364
EVMG64 379
3.11 PACKING 394
4. MOTOR DATA 400
41 NOISE DATA 401
4.2 TECHNICAL MOTOR DATA 402
EVMS 1-3-5-10-15-20 402
EVM 32-45-64 403
@ click INDEX to jump CORRESPONDING SECTION
Rev. C (2) click == to go back to INDEX
EBARA Pumps Europe @ % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

TYPICAL APPLICATIONS

INDUSTRY

BUILDING SERVICE

WATER SUPPLY

Water treatment

reverse 0smosis

ultra-filtration

water purification

micro-filtration

softening. ionizing and
demineralising systems

swimming pools

separators

Boiler feeding
steam systems
condensate systems

Wash and clean

vehicle washing systems

industrial part washing

laundry systems

supply of liquids with acids and
bases

supply of chemical liquids

Chilling

handling of refrigerants for cooling
thermal control systems

industrial cooling

laser cooling

Machine tooling
cooling lubricant supply for tooling
machines

Pressure boosting
pressure boosting for industrial
use

Food & beveage
food washing systems
bottle wash systems

Pharmaceutical industries
Marine applications

freshwater. deckwash. high fog
and fire fighting on ships

Pressure boosting

pressure boosting for buildings
pressure boosting for high rise
buildings/hotels

Sprinkler systems

Fire fighting systems
jockey pump

District heating
Heat exchangers / fan heaters
Air conditioning systems

Heating systems

Water treatment
water treatment plants filtration
water treatment plants transfer

Pressure boosting
transfer from water treatment
plants (mains)

Irrigation
golf course / sport fields irrigation

Agriculture
sprinkler irrigation
drip irrigation

101

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20
EVM(.)32-45-64

USgpm. 5 10 50 30 40 50 60 70 80 90100 120 140 160180200 250 300 350400 500
1 1 1 1 1 1 1 | 1 | | 1 1 1 1 | 1 1 1
T T T T T T } T T 17T T T T 17T T T T T
mpgpm. 5 10 52 3 40 50 60 70 80 90100 120 140 160180200 250 300 330 400
404 400
P H HH - 1200
0Pal 30 1™ 30 3 1000 N
5 10 EET - 900
_ 9 |b :::2(: e — [ft]
25 250 :::1 3 i .l | [ 15 T i N~ 45 - 800
== —— N | ™ = 1 -
20 200 = = # = 1 =4 100
L : N i e\ - 600
15 150 I | N i ! 64 - 500
| 1 | |
12 120 ; ; ! f 400
| I —
104 100 | o | 30
I i - 300
- 1 |
08 OT T T T T T e T T e T T T e
| [
06— 60 | E | i : L 200
! ] |
05— 50 i |
i — 150
04~ 40 ;
0.3 30 } I 100
[ i
I I 75
02 2 i = e =1
I I ~+ ==
I T~ ' ™ =]
0.15— 15 LU - 50
\ - 40
\ N
— \!
0.1 10 = ~y
~ —
o9 N \ N \ »
00 N - 25
007~ 7
0.06 6 ~ 20
005 5
- 15
0.04 - 4
9 10 5 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q[V/min]
T T T T T T T T T T TT T T 1T T T T T T T T
1 15 2 3 4 5 6 7 80910 1214161820 25 30 40 50 60 70 100 iy
" disi RRERESRS
ERIRRRNNNL| A5:::76/|
UL TITTT - v T
n & 10 157207
%] 5 ) JapiAc
60 3 - - P o AN M
- g N -~ A 32‘
5 e 2
7 Pl
40 A~
30
9 10 5 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
QUVmin]

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMVIS

200
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PRODUCT FEATURES

[General]
1. Pump Type
The EVMS is Non-self-priming, vertical multistage in line, centrifugal pumps.

2. Model range
The EVMS comes in 1,3,5,10,15 and 20 m3/h flow sizes for the majority market needs.

3. Maximum operating pressure
The EVMS can be operated at 16 bar or 25 bar as maximum.

4. Operating temperature range
The EVMS can be operated from - 30 to + 140 °C as the maximum.

5. Material options
AISI 304. AISI 316L and Cast iron versions are available.

6. Motor
The EVMS can be coupled with the commercial motors that are acquired in the markets.
The EVMS can be provided as the electric pump with IE3 motor for the over 0.75 kW. PTC
sensor is available from 1.5 kW motor
Unlosable screw and sealing from 0.75 kW to 11 kW are standard for terminal box fixing.

7. Certifications

Drinking water approval At_mosferes
explosibles approval
DM174/2004 ACS KTwW* WRAS ATEX 2014/34/UE
o KTW RS €
:."r. .-.'\f CENTIFIND COMPOMEMNTS APPROVED PRODUCT
Mechanical seal SiC/Carbon_EPDM SiC/Carbon_EPDM S'CS?SESQEW'te/ SiC/Carbon_EPDM ﬁ: \[')2;2“3 8;
EVMSG ° - - B °
EVMS ° L] ° ° °
EVMSL ° ° ° ° °
Note: * KTW is certified for components. e Available

8. Conform to the provisions of the European directives ‘ €

[Main Product Features]

1. Innovative hydraulic solutions
« Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust load.
« Low axial thrust load impeller can ensure long life of the motor bearing.
« High pump efficiency classified in MEI > 0.7 for all models.

2. Energy saving
« High efficiency IE3 motor starting from 0.75 kW complied with the EuP 2005/32/EC and ErP 2009/125/EC directives.
« The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain physical constant
operations such as pumping pressure depending on the conditions of use.

3. Piping connection options
«  The various pipe connections are available depending on the application requirements Oval flange / Round flange / Loose flange /
Victaulic® / Clamp connection.
« The external dimensions can be adjusted to the replacement of the existing pump in the wide majority.

4. Shaft seal solutions
« Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
¢ It's conforming to EN12756 (ex DIN 24960)
5. [Easy maintenance
« The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.
« The Spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW

6. Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge pressure / drain

201
EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS

EVMS(.)1-3-5-10-15-20

PUMP
Version EVMSG EVMS EVMSL
‘ Nominal flow rate (m*h ) 1 [ 3]s ]1o]ws[20]1[3]s]wo]s]20]1]3]s]10]15]20
O;::Lagleng Maximum working pressure 1.6 /2.5 MPa (16 bar/25 bar)
Liquid temperature range -30° to 140°C
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4404 (AIS| 316L) + PPS
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 . EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 . EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Key Shaft sleeve bearing Tungsten carbide
Components "
Material Shaft Seal See the shaft seal options
EPDM o 6| | &6 &6 &6 o6 o o o o o o o o o o o
O-ring
FPM ® | 6| 06| 6 &6 & o o o o o o o o o o o o
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class ISO 898/1
. up to 4.0 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange up to 16 bar o 6| 6 &6 &6 &6 o6 o o o o o o o o o o o
Round flange up to 16 bar | 6| 6| 6 &6 &6 o o o o o o o o o o o o
(DIN) fom16barto25bar | ® | ® | ® | @ | ® | ®@ | ® | ®@ | ®© | ®@ | ® 6| O® O O O O O
Pipe; Loose round up to 16 bar o o 0o 0|0 0|0 0o 0 0| 0 o
connection flange
(DIN) from 16 bar to 25 bar ® | &6 o o6 o6 6o 6 o o o o o
Victaulic® up to 16/25 bar ® 6| o o o6 oo o6 o o o o o
Clamp up to 16/25 bar ® | 6| o | o6 66 o6 66 o o o o
Legend: @ Available
MOTOR
Frequency 50 Hz
Phase Single Phase Three Phase
Rotation speed =~ 2900 min*
Power ) 0.37 + 2.2 kW 0.37 + 18.5 kW
Source Power rating
0.5+ 3.0HP 0.5+ 25 HP
230/400 + 10% V (up to 4.0 kW)
Voltage 230+ 10% V
400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC
. - from 0.37 up to 0.55 kW
Efficiency Level from 0.37 up to 2.2 kW
IE3: above 0.75 kW
Type
No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW included
Casing Material Aluminium
Others IMB14 (up to 4.0 kW)
Flange mount (IEC motor)
IM B5 (above 5.5 kW)
Terminal Box fixing Unlosable screw and sealing from 0.75 kW to 11 kW

202

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



VERTICAL MULTISTAGE PUMPS

EVMS

1. Shaft Seal

d4

1d3

d1

W]

up to 16 bar

SHAFT SEAL

EVMS(.)1-3-5-10-15-20

w =~ N W

Cartridge Unbalanced type

2. Type of Shaft Seal and Dimensions [mm]

d4
MREN == aEEy
L el |
gl d1
iy
- 5 d2
]

from 16 to 25 bar
Cartridge Balanced type

B W =2 N W

203

Pump model Shaft seal type Shaft seal material
Max Max operating Cartridge 1 2 3 4 5 Type Key
operating SR PEEITE ) Stationary Compression
pressure Unbalanced | Balanced Rotating Part Code Part Code e Code spring Collar | Code
-30°C to + 120°C [ ] sic (Q1) | carbon (8) EPDM (E) AISI 316 (G) Q1BEG
-30°C to + 80°C [ ) sic (Q1) | carbon (8) FPM v) AISI 316 (G) Q1BVG
up to 16 bar | - 30°C to + 140°C [ ] SiC with graphite | (Qg) SiC (Q1) EPDM (E) AIS| 316 (G) | HQYQ1EG
-30°C to + 80°C [ ] SiC with graphite | (Qg) sic (Q1) FPM V) AISI 316 (G) | HQYQLVG
-30°C to + 140°C [ sic (Q1) | carbon (B) EPDM (E) AISI 316 (G) | HQ1BEG
-30°C to + 140°C [ ] sic (Q1) | carbon (B) EPDM (E) AISI 316 (G) | HQ1BEG
from 16t0 | - 30°Cto +80°C o Sic (Q1) | carbon (B) FPM v) AISI 316 (G) | HQ1BVG
25 bar -30°C to + 140°C [ ] SiC with graphite | (Qg) sic (Q1) EPDM (E) AISI 316 (G) | HQUQLEG
- 30°Cto + 80°C [ ] SiC with graphite | (Qg) SiC (Q1) FPM V) AISI 316 (G) HQgQ1VG
® Available
Max operating di d2 d3 d4 |
Pump model Shaft seal type
p i pressure eV T O O Y .0 O 0
Unbalanced 16 bar 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 425
Unbalanced 16 bar 375
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS

TYPE KEY
EVMS(.)1-3-5-10-15-20

Evms| [ J[5 [ J[2][ J[FJ[5][ J[oBEG][E ]l / f037! M|
Phase motor
M = single phase
null = 3 phase
Motor in kW _ pag.402
Code for rubber parts
V = FPM (Viton)
E = EPDM
4|Code for shaft seal materials _ pag.203
Pole
Null = 2 pole
Frequency
5=50Hz
Code for pipe connection
F = Round flange
N = Oval flange
LF = Loose round flange
V = Victaulic® connection
C = Clamp connection
Code for pump version
null = standard version
|Number of impellers
|Space
Flow rate [m¥h]
113]5]10|15]20
Code for model series
null = AISI 304 version
L = AISI 316L version
G = Cast Iron version
|Series name
Example for pump without motor: Example for pump with motor:
EVMS5 2F5Q1BEGE EVMS5 2F5Q1BEGE/0.37M
NAMEPLATE
iR 1) “TYPE" Pump model
5 Em c € 2) Q" Indicates upper and lower flow rate liwiths
38025 Chos (7M1 -1TALY  MADE IN ITALY 3) “H” Indicates head liwiths corresponding to minimum and maximum flow rate
TYPE @ 4)  “Hmax" Maximum head
O ‘Hmax ® n |Hin OL ‘ O 5)  “Hmin” Minimum head
Q @ i |H @ mn 6) “P2" Rated power of the motor (output at shaft)
P2 o | Hz ‘min* @ ;; Ez’ :j::ej;c;wer of the motor expressed in HP (Horse Power)
HP @ il 9) “min-1" S eqed of 3r/ota'rion
ME> (1) e (1) % P
10) “P/IN°” Pump item number
11) “MEI" Index of the pump’s quality in relation to its efficiency
12) “Hyd. Eff.” Hydraulic efficiency of the pump

204
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

40+

MP.
MPa]
2.5+

2.0

0.8
0.6
0.5

0.4

0.3

0.2

0.15

0.1
0.09
0.08 —
0.07 4

0.06
0.05

0.04 -

205

400
M 500
250

200

150

120
100

80

60
50

40

30

20

@ N ® © o

o

100

n 8
[%]
60
50

40

30

UsSgpm.

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

50 60 70 80

90100 120 140 160180200 250 300 350 400 500
1 | - | | |1 |

Imp.g.p.m.

40

T T T T T T T 11 T T 1
50 60 70 80 90100 120 140 160180200 250 300 350 400

1200

- 1000 H

; F900

— 700

w4
/

! ~ - 600

7
|

[

/]
1

— 500

— 400

- 350

- 300

— 250

— 200

32| TT45]17164 150

— 100

75

— 50

- 40

7

\ 25

\ -0

—15

80

100 120

150

200 250 300

400 500 600 700800 1000 1200 1500 2000
Q [Vmin]

T T T T T T T 1T
6 7 8 910 12 14 161

T T T T T T T
820 25 30 40 50 60 70 100 qom

e

20 =

-
(=}

e - N

oy 1%

L ~
s N

20

30

40

50 60

80

100 120

150

200 250 300

400 500 600 700800 1000 1200 1500 2000
Q [Vmin]

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to 1ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.
Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of v = 1 mm?/s

(1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection. consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating. the pumps should not be used at a flow rate below 10% of best efficiency

point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump
MEI - minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency. The
minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point. leading to a reduced energy consumption. The
minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical when controlled. for
example. by the use of a variable speed drive that matches the pump duty to the system.

Information on benchmark efficiency is available at: www.europump.org (Ecodesign section)

Information on benchmark efficiency graph for MEI = 0.7 for the pump are available at:
www.europump.org/efficiencycharts (refer to "Multistage Vertical 2900 rpm")

Minimum efficiency index (MEI)

Pump type

MEI

EVMS(.)1

>0.70

EVMS(.)3

>0.70

EVMS(.)5

>0.70

EVMS(.)10

>0.70

EVMS(.)15

>0.70

EVMS(.)20

>0.70

206

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

207

SELECTION CHART

EVMS(.)1-3-5
. Q=Capacity
Pump Type Motor Maximum )
working I/min 0| 12 | 20 | 30 | 40 | 60 | 75 | 100 | 130
. kw HP Size pressureé  im3n 0072 1.2 | 1.8 |24 |36 | 45| 6.0]| 78
Single phase Three phase [MPa] ) .
H=Total manometric head in meters

EVMS(.)1 2/0.37M EVMS(.)1 2/0.37 037 | 05 71 11.9 11.2 (104|191 | 7.1 - - - -
EVMS(.)1 3/0.37M EVMS(.)1 3/0.37 0.37 | 0.5 71 17.9 16.8 | 15.6 | 13.6 [ 10.6 - - - -
EVMS(.)1 4/0.37M EVMS(.)1 4/0.37 037 | 05 71 23.8 22.4120.8(18.2|14.2 - - - -
EVMS()15/0.37M | EVMS(.)1 5/0.37 037 ] 05 71 30 28 [ 26 [227[17.7] - - - -
EVMS(.)1 6/0.37M EVMS(.)1 6/0.37 0.37 | 0.5 71 35.8 33.6|31.2(27.3|21.2 - - - -
EVMS(.)1 7/0.37M EVMS(.)1 7/0.37 037 | 05 71 415 |[39.2]36.4(31.8|248]| - - - -
EVMS()1 8/0.37M EVMS(.)1 8/0.37 037 ] 05 71 475 |445[415(36.4]283] - - - -
EVMS(.)1 9/0.55M EVMS(.)1 9/0.55 0.55 | 0.75 71 535 |[505]| 47 | 41 |31.8]| - - - -
EVMS(.)1 10/0.55M | EVMS(.)1 10/0.55 0.55 | 0.75 71 59.6 56 | 52 |455(354| - - - -
EVMS(.)1 11/0.55M EVMS(.)1 11/0.55 0.55 | 0.75 71 1.6 65.5 61.5| 57 50 |38.9 - - - -
EVMS(.)1 12/0.55M EVMS(.)1 12/0.55 0.55 | 0.75 71 71.5 67 |625|54.5]|425 - - - -
EVMS(.)1 13/0.55M EVMS(.)1 13/0.55 0.55 | 0.75 71 77.5 73 | 67.5| 59 46 - - - -
EVMS(.)1 14/0.75M EVMS(.)1 14/0.75 0.75 1 80 83.5 78.5| 73 [63.5]49.5 - - - -
EVMS(.)1 16/0.75M | EVMS(.)1 16/0.75 0.75 1 80 955 |895| 83 |725(565]| - - - -
EVMS()1 18/1.1M EVMS()1 18/1.1 11 | 15 80 107 | 101[935] 82 [635] - - - -
EVMS(.)1 20/1.1M EVMS(.)1 20/1.1 1.1 1.5 80 119 112 | 104 | 91 71 - - - -
EVMS(.)1 22/1.1M EVMS(.)1 22/1.1 1.1 15 80 131 123 | 114 | 100 | 78 - - - -
EVMS(.)1 24/1.1M EVMS(.)1 24/1.1 1.1 1.5 80 143 135 | 125 | 109 | 85 - - - -
EVMS(.)1 26/1.1M EVMS(.)1 26/1.1 1.1 15 80 155 146 | 135 | 118 | 92 - - - -
EVMS(.)1 27/1.5M EVMS(.)1 27/1.5 1.5 2 90 161 151 [ 140 | 123 [ 95.5 - - - -
EVMS(.)1 29/1.5M EVMS(.)1 29/1.5 1.5 2 90 173 163 | 151 | 132 | 103 - - - -
EVMS(.)1 32/1.5M EVMS(.)1 32/1.5 15 2 90 25 191 179 | 166 | 145 | 113 - - - -
EVMS(.)1 34/1.5M EVMS(.)1 34/1.5 1.5 2 90 ’ 203 191 | 177 | 155 | 120 - - - -
EVMS(.)1 37/2.2M EVMS(.)1 37/2.2 2.2 3 90 221 207 | 192 | 168 | 131 - - - -
EVMS(.)1 39/2.2M EVMS(.)1 39/2.2 2.2 3 90 232 219 | 203 | 177 | 138 - - - -
EVMS(.)3 2/0.37M EVMS(.)3 2/0.37 0.37 | 0.5 71 14.7 - 14.1]13.6|12.9|10.9]| 8.3 - -
EVMS(.)3 3/0.37M EVMS(.)3 3/0.37 0.37 0.5 71 22.1 - 21.1)120.4[19.4|16.4| 125 - -
EVMS(.)3 4/0.37TM EVMS(.)3 4/0.37 0.37 | 05 71 29.5 - |28.2]127.1[258|219|16.7| - -
EVMS(.)3 5/0.55M EVMS(.)3 5/0.55 0.55 | 0.75 71 36.9 - 35.2133.9[32.3|27.4|20.9 - -
EVMS(.)3 6/0.55M EVMS(.)3 6/0.55 0.55 | 0.75 71 44.2 - |425]1405(38.8|32.8| 25 - -
EVMS(.)3 7/0.75M EVMS(.)3 7/0.75 0.75 1 80 51.5 - 49.5[475| 45 [38.3]29.2 - -
EVMS(.)3 8/0.75M EVMS(.)3 8/0.75 0.75 1 80 59 - |56.5|545|515| 44 |334| - -
EVMS(.)3 9/1.1M EVMS(.)3 9/1.1 1.1 15 80 66.5 - |635]| 61 | 58 | 49 |376| - -
EVMS(.)3 10/1.1M EVMS(.)3 10/1.1 1.1 1.5 80 16 73.5 - 70.5| 68 |64.5|54.5|41.5 - -
EVMS(.)3 11/1.1M EVMS(.)311/1.1 1.1 1.5 80 ’ 81 - 775|745| 71 60 46 - -
EVMS(.)3 12/1.1M EVMS(.)3 12/1.1 1.1 15 80 88.5 - [845|815|77.5|65.5| 50 - -
EVMS(.)3 13/1.5M EVMS(.)3 13/1.5 1.5 2 90 96 - 91.5| 88 84 71 | 54.5 - -
EVMS(.)3 14/1.5M EVMS(.)3 14/1.5 15 2 90 103 - [985] 95 [905|76.5|585| - -
EVMS(.)3 15/1.5M EVMS(.)3 15/1.5 15 2 90 111 - |106 102 ] 97 | 82 [625] - -
EVMS(.)3 16/1.5M | EVMS(.)3 16/1.5 15 2 90 118 - [ 113109103 [875] 67 | - -
EVMS(.)3 17/2.2M EVMS(.)317/2.2 2.2 3 90 125 - 120 [ 115 | 110 | 93 | 71 - -
EVMS(.)3 19/2.2M EVMS(.)3 19/2.2 2.2 3 90 140 - 134 | 129 | 123 | 104 | 79.5| - -
EVMS(.)3 21/2.2M EVMS(.)3 21/2.2 2.2 3 90 155 - 148 | 142 | 136 | 115 | 87.5 - -
EVMS(.)3 23/2.2M EVMS(.)3 23/2.2 2.2 3 90 170 - 162 | 156 | 149 | 126 | 96 - -
EVMS(.)3 24/2.2M EVMS(.)3 24/2.2 2.2 3 90 177 - 169 | 163 | 155 | 131 | 100 - -
- EVMS(.)3 25/3.0 3.0 4 100 184 - 176 [ 170 | 161 | 137 | 104 - -
- EVMS(.)3 27/3.0 3.0 4 100 25 199 - 190 | 183 | 174 | 148 | 113 - -
- EVMS(.)3 29/3.0 3.0 4 100 214 - 204 | 197 | 187 | 159 | 121 - -
- EVMS(.)3 31/3.0 3.0 4 100 229 - 218 | 210 | 200 | 170 | 129 - -
- EVMS(.)3 33/3.0 3.0 4 100 243 - 232 | 224 | 213 | 181 | 138 - -

EVMS(.)5 2/0.37M EVMS(.)5 2/0.37 037 | 05 71 19 - - - 18 |17.1)| 16 [13.8]|10.2

EVMS(.)5 3/0.55M EVMS(.)5 3/0.55 0.55 | 0.75 71 28.4 - - - |26.9]256)|23.9[20.7)|153

EVMS(.)5 4/0.75M EVMS(.)5 4/0.75 0.75 1 80 37.9 - - - 35.9|34.1)|31.9[27.6|20.4

EVMS(.)5 5/1.1M EVMS(.)55/1.1 1.1 15 80 47.5 - - - 45 [425[39.9|345(25.5

EVMS(.)5 6/1.5M EVMS(.)5 6/1.5 1.5 2 90 57 - - - | 54 | 51 | 48 [41.5[30.6

EVMS(.)5 7/1.5M EVMS(.)5 7/1.5 15 2 90 66.5 - - - 63 [59.5| 56 |48.5(35.7
EVMS(.)5 8/2.2M EVMS(.)5 8/2.2 2.2 3 90 76 - - - 72 | 68 | 64 | 55 | 41
EVMS(.)5 9/2.2M EVMS(.)5 9/2.2 2.2 3 90 1.6 85.5 - - - 81 | 77 72 62 | 46
EVMS()5 10/2.2M | EVMS(.)5 10/2.2 22 | 3 90 95 - - - | 90 [855] 80 | 69 [ 51
EVMS(.)5 11/2.2M EVMS(.)5 11/2.2 2.2 3 90 104 - - - |985| 94 |875| 76 | 56
- EVMS(.)5 12/3.0 3.0 4 100 114 - - - 108 | 102 [ 95.5| 83 61

- EVMS(.)5 13/3.0 3.0 4 100 123 - - - 117 | 111 | 104 | 89.5 | 66.5

- EVMS(.)5 14/3.0 3.0 4 100 133 - - - 126 | 119 | 112 | 96.5| 715

- EVMS(.)5 15/3.0 3.0 4 100 142 - - - 135 | 128 | 120 | 104 | 76.5

- EVMS(.)5 17/4.0 4.0 55 112 161 - - - 153 | 145 | 136 | 117 | 86.5

- EVMS(.)5 19/4.0 4.0 5.5 112 180 - - - 171 | 162 | 152 | 131 | 97

- EVMS(.)5 20/4.0 4.0 5.5 112 190 - - - 179 [ 171 | 160 | 138 | 102

- EVMS(.)5 23/5.5 55 7.5 132 25 218 - - - 206 | 196 | 183 | 159 | 117

- EVMS(.)5 25/5.5 5.5 7.5 132 237 - - - 224 | 213 | 199 | 173 | 127

- EVMS(.)5 27/5.5 5.5 7.5 132 256 - - - 242 | 230 | 215 | 186 | 138

1.6 MPa = 16 bar; 2.5 MPa = 25 bar

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SELECTION CHART
EVMS(.)10-15-20

. Q=Capacity
Pump Type Motor Maximum )
working |/min 0| 75 | 100 | 130 | 150 | 180 | 200 | 250 | 300 | 350 | 400 | 450 | 480
. kw HP Size pressureé  im3nh 0| 45 | 6.0 | 7.8 | 9.0 [ 10.8 | 12.0|15.0|18.0|21.0 | 24.0|27.0|28.8
Single phase Three phase [MPa] X )
H=Total manometric head in meters

EVMS(.)10 2/0.75M | EVMS(.)10 2/0.75 0.75 1 80 218 [21.2]20.8]|19.7(18.7|16.6[149]| 9.8 - - - - -
EVMS(.)10 3/1.5M EVMS(.)10 3/1.5 1.5 2 90 32.7 31.8131.2|29.6(28.0|24.9|224|14.7 - - - - -
EVMS(.)10 4/2.2M EVMS(.)10 4/2.2 2.2 3 90 43.6 42.4[41.7[39.5]|37.3[33.2|29.8[19.6 - - - - -
EVMS(.)10 5/2.2M EVMS(.)10 5/2.2 2.2 3 90 54.5 53 | 52 [49.3|46.7(415|37.3[246]| - - - - -
EVMS(.)10 6/2.2M EVMS(.)10 6/2.2 2.2 3 90 65.5 63.5]|62.5| 59 56 50 45 | 29.5 - - - - -

- EVMS(.)10 7/3.0 3.0 4 100 76.5 74 | 73 69 |655| 58 | 52 (344 - - - - -

- EVMS(.)10 8/3.0 3.0 4 100 1.6 87.0 |[845|835| 79 [745|66.5(59.5(39.3| - - - - -

- EVMS(.)10 9/4.0 4.0 55 112 98 955|935 89 | 84 [745]| 67 | 44 - - - - -

- EVMS(.)10 10/4.0 4.0 55 112 109 106 | 104 | 98.5|93.5| 83 | 745 49 - - - - -

10 - EVMS(.)10 11/4.0 4.0 5.5 112 120 116 | 115 | 109 | 103 | 91.5| 82 54 - - - - -

- EVMS(.)10 12/5.5 5.5 7.5 132 131 127 | 125 | 118 | 112 | 99.5|89.5| 59 - - - - -

- EVMS(.)10 14/5.5 5.5 7.5 132 153 148 | 146 | 138 | 131 | 116 | 104 | 68.5 - - - - -

- EVMS(.)10 15/5.5 5.5 7.5 132 163 159 | 156 | 148 | 140 | 124 | 112 | 73.5 - - - - -

- EVMS(.)10 16/7.5 7.5 10 132 174 169 | 167 | 158 | 149 | 133 | 119 | 785 - - - - -

- EVMS(.)10 18/7.5 7.5 10 132 196 191 [ 187 | 178 | 168 | 149 | 134 | 88.5 - - - - -

- EVMS(.)10 19/7.5 7.5 10 132 25 207 201 | 198 | 188 | 177 | 158 | 142 | 935 - - - - -

- EVMS(.)10 21/7.5 7.5 10 132 : 229 222 | 219 | 207 | 196 | 174 | 157 | 103 - - - - -

- EVMS(.)10 22/11 11 15 160 240 233 | 229 | 217 | 205 | 183 | 164 | 108 - - - - -

- EVMS(.)10 23/11 11 15 160 251 244 | 240 | 227 | 215 | 191 | 172 | 113 - - - - -
EVMS(.)15 1/1.1M EVMS(.)15 1/1.1 1.1 1.5 80 14.9 - - 13.3| 13 [12.4]12.1(10.8| 95 | 75| 48 - -
EVMS(.)15 2/2.2M EVMS(.)15 2/2.2 2.2 3 90 29.5 - - 27.5|127.1| 26 |26.1|24.9[23.1]|20.4|16.8 - -

- EVMS(.)15 3/3.0 3.0 4 100 445 - - |415]405(39.739.1(37.3[34.7/30.6[25.2| - -

- EVMS(.)15 4/4.0 4.0 5.5 112 59 - - 55 | 545 53 52 50 [46.5| 41 |33.6 - -

- EVMS(.)15 5/5.5 5.5 7.5 132 73.5 - - 69 68 66 65 | 62 | 58 | 51 | 42 - -

- EVMS(.)15 6/5.5 55 75 132 1.6 88.5 - - |825[815|795| 78 |745[69.5| 61 |505| - -

- EVMS(.)15 7/7.5 7.5 10 132 103 - - 96.5]95.0/92.5| 91 87 81 715|585 - -

15 - EVMS(.)15 8/7.5 7.5 10 132 118 - - 110 | 109 | 106 | 104 [99.5|92.5|81.5| 67 - -

- EVMS(.)15 9/11 11 15 160 133 - - 124 [ 122 | 119 [ 117 | 112 [ 104 | 92 | 755 - -

- EVMS(.)15 10/11 11 15 160 147 - - 138 | 136 | 132 | 130 | 124 | 116 | 102 | 84 - -

- EVMS(.)15 11/11 11 15 160 162 - - 151 | 149 | 146 | 143 | 137 | 127 | 112 | 925 - -

- EVMS(.)15 12/11 11 15 160 177 - - 165 | 163 | 159 | 156 | 149 | 139 | 122 | 101 - -

- EVMS(.)15 13/11 11 15 160 25 191 - - 179 | 176 | 172 | 169 | 162 | 150 | 133 | 109 - -

- EVMS(.)15 15/15 15 20 160 M : 221 - - 206 | 203 | 199 | 195 | 187 | 174 | 153 | 126 - -

- EVMS(.)15 17/15 15 20 160 M 250 - - 234 | 231 | 225 | 221 | 211 | 197 | 173 | 143 - -
EVMS(.)20 1/1.5M EVMS(.)20 1/1.5 15 2 90 17.2 - - - - 1431139128113 |96 | 7.3 | 43 | 24

- EVMS(.)20 2/3.0 3.0 4 100 33.7 - - - - [30.4]29.9(28.9|27.7(26.2[23.6]|19.9[17.4

- EVMS(.)20 3/4.0 4.0 5.5 112 50.5 - - - - 46 45 | 43.4(41.6(39.2|35.5]29.9(26.2

- EVMS(.)20 4/5.5 55 75 132 67.4 - - - - 61 60 | 58 [55.4]|52.3|47.3[39.8|34.9

- EVMS(.)20 5/7.5 7.5 10 132 1.6 84.2 - - - - |76.0| 75 [72.3]169.3[65.4| 59 |49.8|43.6

- EVMS(.)20 6/7.5 7.5 10 132 101 - - - - |91.2| 90 | 87 [83.1|785| 71 [59.7]|52.3

- EVMS(.)20 7/11 11 15 160 118 - - - - 106 | 105 | 101 | 97 |915|82.7| 70 |61.1

20 - EVMS(.)20 8/11 11 15 160 135 - - - - 122 | 120 | 116 | 111 | 105 | 95 80 70

- EVMS(.)20 9/11 11 15 160 152 - - - - 137 [ 135 | 130 [ 125 | 118 | 106 [89.6| 79

- EVMS(.)20 10/11 11 15 160 168 - - - - 152 | 150 | 145 [ 139 | 131 | 118 | 100 | 87

- EVMS(.)20 11/15 15 20 160 M 185 - - - - 167 | 165 | 159 | 152 | 144 | 130 | 110 | 96

- EVMS(.)20 12/15 15 20 160 M 202 - - - - 182 | 179 | 173 | 166 | 157 | 142 | 119 | 105

- EVMS(.)20 13/15 15 20 160 M 25 219 - - - - 198 | 194 | 188 | 180 | 170 | 154 | 129 | 113

- EVMS(.)20 14/18.5 18.5 25 160 L 236 - - - - 213 | 209 | 202 | 194 | 183 | 166 | 139 | 122

- EVMS(.)20 15/18.5 18.5 25 160 L 253 - - - - 228 | 224 | 217 | 208 | 196 | 177 | 149 | 131

- EVMS(.)20 16/18.5 18.5 25 160 L 270 - - - - 243 | 239 | 231 | 222 | 209 | 189 | 159 | 140

1.6 MPa = 16 bar; 2.5 MPa = 25 bar
208

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)1
0 USgpm. 2 3 4 5 6 7 8 9 10 1 12 13
| | | | | | | | | | | | | |
[ I I I I [ I I I I [ 1
0  Imp.g.p.m. 2 3 4 5 6 7 8 9 10 1
250
— 800
p H
[MPa] m | 3?/2‘_2|kvx‘/\ H
.~
- = [ft
37/?42|ka\~ L \\\‘ L 700
2.0 - L | B SN
200 = 34/1.5 WL 1 ~ N
L T N SN
—an - ~
3 _/1‘.5|kvx‘/\ 1 ~— \\\\ N .
oy
| 2915w | ~ ~ ™N
271 T T~ \\\\\
L 15 kW | S~ NN N
1.5 150 —26/1.1 kw T - —~ ™ ~ \\‘ \ \ I~ 500
T T~ ~ N
- 24‘1/ 1‘ 1 kW T —~ ~~ ™ \\\ \\\\\
Ak = S
s 2\2/\ T L NN
| 22/1 1 w— ~ SN NS
HEANRN T T~ B NO - 400
— — T—
29/]1IKV\‘I T T \5\‘\ \\\\ \\\\\ \\\ \
[ T T Ll T — ~ \ N \ N
109 100 1§/1w'1 N = T — R \\\\\\ D
T — — ~ S
I~ —16/0.75kw— | _| §§§‘~~ \\\\ SN N - 300
— r— ™~ ™
::}1 4‘/ 0‘.75I kV‘V = T T Y
= —13/055kwW— —— | |} | TT—— T ‘\\\
==12/0.55 kW —=——|— j:_- ::‘ — B ~ ~~
~—11/055kw—+— | _—_--——_~-~~~~:~~§\ \\\ \\' — 200
——10/0.55 kw— —— — —— T T— ~
0.5 50 - —oss I —— | —_—
—— T 1 —_— — — I~ ~
- Thosran ——————
. — —~— —
— —6/0.37 k\w— — —- T
_—‘250.37 kW= — —= ] 100
— —4/0.37 \w— — —- —
— —3/0.37 kw— — - =
= —2/037 kw— ———
0- 0 ‘ ‘ 0
T
0 5 10 15 20 25 30 35 40 45 Q [I/min]
[ I I I I I I I I I I I I I I |3
0 0.2 0.4 0.6 0.8 1.0 1.2 14 1.6 18 2.0 2.2 24 2.6 28 Q[m/h]
012 60
P2 — n
"
kW] 008 = — n% 40 %
//
0.04 20
SINGLE IMPELLER kW
000 lHHlHHl 0
0 5 10 15 20 25 30 35 40 45 Q [I/min]
NPSH © NPSH
m) L P m
3
- 10
0 0
0 5 10 15 20 25 30 35 40 45 Q [I/min]

Rotation speed =2900 min*
Test standard: ISO 9906:2012 - Grade 3B

209
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)1

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
c
4 holes @14
- , Y ..
T - o (ARG )ﬂ P
e} © =
? s : o |
i 4 holes 12 m' 285 o‘
&
180
A | G ‘ 210
DIN Round flange (F) - DN25
Es 2 holes M10 4 holes 014
L] puny
~ i
L 63 | « |- 1,,?5@2 %%%@Lﬂ
o Qo= o IR ROAE
1100 | 4 holes 712 T & E 16 4holes 012 m 285 ﬁ{
149 149 ‘ 180
160 210 250 210
Dimensions [mm] and Weights [Kg]
Ovalfange () | L0758 rou e (L) | Vitunc connecton (9
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)1 2/0.37 1.6 0.37 71 @105 | 139 133 216 139 114 216 250 9.7 16.8 155 | 275 10.4 175 16.2 | 250 9.7 16.8 155
EVMS(L)1 3/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 271 | 102 [17.3 16 | 296 | 109 | 18 167 | 271 | 102 |17.3 16
EVMS(L)1 4/0.37 16 [037| 71 |g105| 139 133 216 | 139 114 216 | 202 | 10.6 |17.7 16.4 | 317 | 11.3 |184 17.1| 292 | 106 |17.7 164
EVMS(L)1 5/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 313 | 111 [182 169 | 338 | 11.8 |189 176 313 | 111 |182 169
EVMS(L)1 6/0.37 16 [037| 71 |@105| 139 133 216 | 139 114 216 | 334 | 115 [186 173 | 359 | 122 |19.3 18 | 334 | 115 |186 173
EVMS(L)1 7/0.37 16 [037| 71 |@105| 139 133 216 | 139 114 216 | 355 | 11.9 | 19 17.7 | 380 | 126 |19.7 184 | 355 | 119 |19.0 17.7
EVMS(L)1 8/0.37 16 [037| 71 |@105| 139 133 216 | 139 114 216 | 376 | 124 [195 182 401 | 131 |202 189 | 376 | 124 |195 182
EVMS(L)1 9/0.55 16 [055| 71 |@105| 139 133 216 | 139 114 216 | 397 | 128 [213 19 | 422 | 135 | 22 197 | 397 | 128 |213 19
EVMS(L)1 10/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 418 | 132 [217 10.4 | 443 | 139 |224 201 | 418 | 132 |217 194
EVMS(L)1 11/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 439 | 137 [222 109 | 464 | 144 |229 206 | 439 | 137 |222 199
EVMS(L)1 12/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 460 | 14.4 [229 206 | 485 | 151 |23.6 213 | 460 | 14.4 |229 206
EVMS(L)1 13/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 481 | 150 [235 212 506 | 157 |242 219 | 481 | 15 |235 212
EVMS(L)1 14/0.75 16 |075| 80 |@120| 160 151 232 | 141 102 233 | 512 | 157 |[27.1 242|537 | 164 |27.8 249|512 | 157 |27.1 242
EVMS(L)1 16/0.75 1.6 0.75 80 @120 | 160 151 232 141 102 233 554 16.7 28.1 252 | 579 17.4 288 259 | 554 16.7 28.1 252
EVMS(L)1 18/1.1 16 | 11| 80 |@120| 160 151 232 | 141 102 244 | 596 | 17.8 |29.6 27.8 | 621 | 185 |30.3 285 | 596 | 17.8 |29.6 27.8
EVMS(L)1 20/1.1 16 | 11| 80 |@g120| 160 151 232 | 141 102 244 | 638 | 188 [30.6 288 | 663 | 195 |31.3 295 | 638 | 188 |30.6 2838
EVMS(L)1 22/1.1 16 [ 11| 80 |@120| 160 151 232 | 141 102 244 | 680 | 20 [31.8 30 | 705 | 20.7 [325 307|680 | 20 |318 30
EVMS(L)1 24/1.1 16 | 11| 80 |@120| 160 151 232 | 141 102 244 | 722 | 21 [328 31 | 747 | 217 [335 3L7| 722 | 21 |328 31
EVMS(L)1 26/1.1 16 | 11| 80 |g120| 160 151 232 | 141 102 244 | 764 | 22 [338 32 | 780 | 227 [345 327 764 | 22 |338 32
EVMS(L)1 27/1.5 25 | 15| 90 |e140| 172 140 278 | 160 119 201 | - - - - | 820 | 231 [409 366 795 | 224 [402 359
EVMS(L)1 29/1.5 25 | 15| 9 |@140| 172 140 278 | 160 119 201 | - - - - | 862 | 241 [419 37.6| 837 | 234 [412 369
EVMS(L)1 32/1.5 25 | 15| 90 |e140| 172 140 278 | 160 119 201 | - - - - | 925 | 254 [432 389 900 | 247 |425 382
EVMS(L)1 34/1.5 25 | 15| 90 |e140| 172 140 278 | 160 119 201 | - - - - | 967 | 263 [441 398 | 942 | 256 |[43.4 301
EVMS(L)1 37/2.2 25 | 22| 9 |@140| 172 140 278 | 160 119 201 | - - - - |1030 | 27.7 |472 427 |1005| 27 |465 42
EVMS(L)1 39/2.2 25 | 22| 9 |@140| 172 140 278 | 160 119 201 | - - - - |1072| 287 |482 4371047 | 28 |475 43

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

210

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMS(L)1

140

128-6
135-6
120-6

/

//;ﬁi

43-3
52-1
44-1
43-7

IANNANNANVANN

VIV

211

|
[ANNA
z\&ﬂ\w—/l’

b

with Oval flange (N)

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)1

with Round flange (F)
with Clamp connection (C)

777
J

with Loose round flange (LF)
with Victaulic® connection (V)

212

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

_—J=-T.ET



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)1
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL

4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert | A4-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6 Screw for coupling Galvanized steel M6x25 1ISO 4762
120-11 | Screw for counterflange A2-70 UNI 7323

MEC 71-80 M6x20 ISO 4017
120-13 | Screw for motor R — Galvanized steel 8.8 strenght class ISO 898/1

MEC 90 M8x20 ISO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

213

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)1

b E
d D ln|la|a|afafafaja|o|ofofofofoafoafofo|o|o|ofofofo]a]o
©
—
w1111111111111111111111111 B2222222222222222222222222
N
:ﬂ__u2222222222222222222////// m2222222222222222222222222
—
m2222222222222222222222222 w2222222222222222222//////
I
w
A H A | A | A A | A A | A A A | A | A | A A A A A A A A A A A ﬂv_
Hllllll1111111111111111111
5 N
| H A | A | A A | A A | A A A | A | A A A A A A A A A A A A -
m_ Y lafafafa|afafajo|o|afafojofofafoalo)ofoaloajo|o]ofalo
A‘_.u1111111111111111111111111 <
m m1111111111111111111111111
m_1111111111111111111111111
mllllll1111111111111111111
5 old|la|m|slo|lo|o|la|s|lel~|olalx(n|e
ISH N B Il Il I B B Rl R R I IR Il SV IV IR (R IRV RS RN ol RN R ) ]
1llllll1111111111111111111
—
B2222222222222222222222222 m2222222222222222222222222
S R R R e e e e e e e I e e e e e e e e R N
n_ﬂ1111.111111111111111111111
— —
N R R R R B L I D T R I R R S R R T I A A A A
0
M4444444444444444444444444
w1111111111111111111111111 —
- —
PO Bl Bl Al Bnll I nl Bnl Bal Bl Bl Al Bull ull Bul Bal Bl Bl Bl all Ball Ball Bal Rall Ral Rl el o%4444444444444444444444444
z z
%2222222222222222222222222 —
£ ﬂ.llllll1111111111111111111
ARSI R R AR AR R R R A R R A R RS R A R R R —
o
—
%1111111111122222222222222 m4444444444444444444444444
~ ~
@////////l//llllllllllllll m3333333333333333333333333
o
bl <[~ ~|~[~|a|~|~|~[a|~[~[~|~|~|~|~|~|~|~|~|~|~ %
Q w_4444444444444444444444444
@
NN RN RN N RN RN R N I GV VR VR IRV NN SV IEN IV IRV IRV (VR (VR (VR Y 0
< %4444444444444444444444444
21357913579102604826828282
&w AldldlAa|ldN|S|a|fq|@|o|lols|[F|F|(w|v|o|o|~ pn
= SERARARARARANARIRARARARARAR AR AR AR IR ARIRIR AR AR AR AR AR
A.ﬁ_1111111111111111111111111 —
- g
I I I R R R R R I I I R R R R R R I L s A IRARARARARARARARAR AR AR RN AR AR AR AR AR AR ARAR AR AR AR AR
S
dlo]e[<]e[e]~[=[-[s]a[=]z[s]c][a]c]a]3[&]x[&]8[3]5]8 T
~NlHl A H | H A A A A A A A A A A A A A A A A A A A A 04444444444444444444//////
O |ldA | A | A A | A | A | A | A | A | A | A | A A A | A | A | A | A | A | A | A [ A | A | A [ A u
M1111111111111111111111111 m4444444444444444444444444
M1111111111122222222222222 o™
~ m4444444444444444444444444
olo|ld|lo|w[~|oldlo|s|lelolas]e
3 il Bl N I I B B el Bl Bl I I (R I =) (R IR I (R N IR RSOl R RVl RS o
- oy
r}1111111111111111111111111 m4444444444444444444444444
—
<t | H | A A A | A A A A A A A A A A A A A A A A A A A |
wlo|lvwlv|w|w
wlu|lw|lw|w|w I N TN N N S S AT R v ) v A Bl A R R RV R I I BTN RN RN RN RN RN
NN N N I G A D D R K R K R A R R R R T Y Q||| 0| s|s|lo|lo|o|lo|d|d|d|dld|d|d|dd| oo
mlo|lolo|laololo|lv|s|slslslalasldldlaldldldlalaldlala 21e(2(2(g8|d SIS
2l2isize Szl eleleleleleld|dld|d| DD || D|d|Q o (2121281828 |8|c|a|q|a|S|e|z|g|q|F|e|R|a|d| (x|
o [2]2|2(2|12|2(2|2|s|5|N|a|S|s|a|S|q|TF|s|IR|s|Q|F (x| o |N[@|F[(B|(S|F[B|S|d|d|d|d|d|d||Q(N|[N|q|[N|N[o|d|o|®
o |[N|o|ldgdvw(fo|M|O|Oo|dA|d|d|d|dA|d|d|N|N|N[N|[N|N[O|O|[®m|® =l B= B= B=1 E= B={ B={ B=1 B=1 B=1 B= B={ B={ B= B=4 B= B=0 B=A B=A B=4 B=4 B=I D=0 E= E=!
2 =¥ =N P=8 =Y B=4 P-4 = P=4 P=§ = P=4 P-4 B=Y P=4 P=4 B=Y B=Y P=4 B= P=Y b= P=4 P=N =4 P= = ) ) e} (yey) e ) e ey ey} ey el ey ey e ey e ey el e ) e ) e ey ey
o (2222222222222 222222222222 g |2|2|2|a|a|2|2|a|a|a|2|a|a|a|a|e|2|a|a|a|a|a|a|a|a
NNID[(D|D[(D[D][AD[D[D[D|D|D[D]|D]|D[(AD]|AD[D[AD|A[AD|D[DO|N|D S22 2|=s|=2=(=z12|=2(=2|12|1Ss1=2(2|1212|12|2|1212|2|2
mMMMMMMMMMMMMMMMMMMMMMMMMM WVVVVVVVVVVVVVVVVVVVVVVVVV
o Pl Pl Pl P I I I I e I B I I Il Il P I I Il Il Il Il Il I ||| ||| W
Wl wijw(w(wjo(w|ww|w|w

* only for Oval flange (N)

** only for Loose round flange (LF)

214

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMSG1
0 USgpm. 3 4 5 6 7 8 9 10 11 12 13
| | ! ! ! | ! ! ! ! ! | !
f T T T T T T T T T 1
0 Imp.g.p.m. 2 3 4 5 6 7 8 9 10 1"
250
- 800
p H
[MPa] m | S‘Q/T.z W___
372z ~L_ .
2.0 — - \“\\\ NN
200 = 34/1.5 kW ~ N
unly /‘ [ T N SN
T732/15 kW ~— N N
LT T S~ - SN \\ L 600
L ‘ ‘ | ‘ \\\\ \\\ \\‘ N
= 25‘3/1‘.5lkvx‘/\ ~ N N ~
27115 0w—L _ ~ ~ NN
15 150 [~ —26/1.1w. T T~ ™~ ‘\\\ ND - 500
——— T—
L || \“55\:\\\ T SN \\ NN\
= —124/1.1 w = —_T— < NN
|| T ~ T ~LONWD N
I~ T722/1.1 w— —~— e S N
LT T T~ ~— NO L 400
‘2\0/1\'1Ikww TT17 T T IO N
I~ T~ \‘ ~
| L T~ T~
= —18/11w— T N~ N N RS
— — — ~ N N
RN R ey SEEN SN
— 6‘/0‘75i kv‘v-- | | B T~ \\\\ \\ - 300
—— — ~
::}14/0.75 KW — - T — B SN ‘\\ N
" 180ss e —— L yT— | T \\\\\\\
==12/055 kW=t ||t — — ~
—:1&0-55 w— | T T - 200
I~ —10/0.55 k\w— 1 ——— [ ——— S —~— ~
054 s - TY0ssin— o — T~
— — —L ——— — — e~ —~
e =T ————————
— —6/0.37 kW— — — _:::~—:::~:::
——5/0.37 \w——— T 100
— —4/0.37 kw— +— — R e
—=—3/0.37 k\w— — — —
= —2/0.37 \w———
0- 0 ‘ ‘ 0
0 5 10 15 20 2 30 35 40 45 Q [imin]
T T T T T T T T T T T T T T T 1
0 02 04 06 08 10 12 14 16 18 20 22 24 26 28 Q[mM
042 60
P2 —
I
kW] 008 = —" n% 40
//
004 20
SINGLE IMPELLER kW
00 lHHIHHI 0
0 5 10 15 20 25 30 35 40 45 Q [imin]
NPSH ©
20
[m] L
T—
3 —
=10
0 0
0 5 10 15 20 25 30 35 40 45 Q [imin]
Rotation speed 2900 min*
Test standard: 1SO 9906:2012 - Grade 3B
215

fft

[%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
C [
e e
2 2

& &

¢ K ]

A | G38 A c3B

a v
E= 2 holes M10 B 4 holes 14
- N [ 638 < i e N P {yfig‘%‘ G318
i oo SR <5 et LI R )
Lo ]| anasor]] I ’ el
% dholes 012 Ljl % ] 100 18 4 holes 912 m 285 S
10 ‘ 210 149 ‘ 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight  Pump + Weight  Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor

Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~
EVMSGL1 2/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 250 14 | 211 198 | 275 | 17.4 | 245 232
EVMSGL1 3/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 271 | 145 [ 216 203 | 296 | 179 | 25 237
EVMSGL1 4/0.37 1.6 [037 71 2105 | 139 133 216 | 139 114 216 | 292 | 149 | 22 207 | 317 | 183 | 254 241
EVMSG1 5/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 313 | 154 | 225 212 | 338 | 188 | 259 246
EVMSG1 6/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 334 15.8 229 216 | 359 19.2 26.3 25
EVMSGL1 7/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 355 | 162 [ 233 22 | 380 | 196 | 267 254
EVMSGL1 8/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 376 | 167 | 238 225 | 401 | 201 | 272 259
EVMSG1 9/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 397 | 17.1 | 256 233 | 422 | 205 | 29 267
EVMSG1 10/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 418 | 175 | 26 23.7 | 443 | 209 | 294 27.1
EVMSG1 11/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 439 18 | 265 242 | 464 | 214 | 299 276
EVMSG1 12/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 460 | 18.7 | 272 24.9 | 485 | 221 | 306 283
EVMSG1 13/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 481 | 193 |[27.8 255 | 506 | 22.7 | 312 289
EVMSG1 14/0.75 1.6 [075 80 2120 | 160 151 232 | 141 102 233 | 512 20 | 314 285|537 | 234 |348 319
EVMSGL 16/0.75 16 |075 80 2120 | 160 151 232 | 141 102 233 | 554 21 | 324 295|579 | 244 |358 329
EVMSG1 18/1.1 1.6 11 80 9120 | 160 151 232 | 141 102 244 | 596 221 339 321 | 621 255 37.3 355
EVMSG1 20/1.1 1.6 11 80 2120 | 160 151 232 | 141 102 244 | 638 | 231 |[349 331 | 663 | 265 | 383 365
EVMSG1 22/1.1 16 11 80 2120 | 160 151 232 | 141 102 244 | 680 | 243 |[36.1 343 | 705 | 27.7 | 395 37.7
EVMSGL 24/1.1 16 11 80 2120 | 160 151 232 | 141 102 244 | 722 | 253 | 371 353 | 747 | 28.7 | 405 387
EVMSG1 26/1.1 16 11 80 2120 | 160 151 232 | 141 102 244 | 764 | 263 |[381 363 | 789 | 297 | 415 39.7
EVMSG1 27/1.5 25 15 90 2140 | 172 140 278 | 160 119 291 | - - - - | 820 | 301 |479 436
EVMSG1 29/1.5 2.5 15 90 @140 | 172 140 278 | 160 119 291 | - - - - | 862 | 311 |489 446
EVMSG1 32/1.5 25 15 90 2140 | 172 140 278 | 160 119 291 | - - - - | 925 | 324 | 502 459
EVMSG1 34/1.5 25 15 90 2140 | 172 140 278 | 160 119 291 | - - - - | 967 | 333 |511 4638
EVMSG1 37/2.2 2.5 2.2 90 @140 | 172 140 278 | 160 119 291 | - - - - | 1030 | 347 |542 497
EVMSG1 39/2.2 25 22 90 2140 | 172 140 278 | 160 119 291 | - - - - |1072| 357 |552 507

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

43-3
52-1
44-1
43-7

120-11
117
219

217

SECTIONAL VIEW

EVMSG1

J/

EVMS

with Oval flange (N)

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

N

|

=\

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

PIPE CONNECTION
EVMSG1

with Round flange (F)

218

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSGL1
N° PART NAME MQ\I;ZI,GAL DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 ISO 4762
120-6 Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 | Screw for counterflange A2-70 UNI 7323
120-13 | Screw for motor —MEC 71-80 Galvanized steel 8.8 strenght class ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 I1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kw Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2 | Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)

219

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG1

B
51111111111111111111111111 M
| Dlw| ||| ||| ||| |||~ T|¥|
N
M1111111111111111111111111
u m2222222222222222222222222
=]
N N NI R R I I R I R I R R R I R R R I I A A I Y 5
u o [NfN|[N|NfN[fN|[NfNfN[N|NfN[N|N|N[N[N| NN~ ~]|~|~|~]|~
o &
m1111111111111111111111111 ~
A_. H.1111111111111111111111111
m1111111111111111111111111 N
=
@ Nfw|s|s|s|s|s| ||| ||| |||~ 2|¥|~
m1111111111111111111111111 N
ullllll1111111111111111111
m1111111111111111111111111 N
o
N~ Q|lA|ldA|A|A|A|A|A|A|A|A|A| A | A|A| A| A| A| A | A | A | A | A | A | A |
ISR R I ol Rl I RN IR Rl R R I IR I I IR IR Il ROV R SA R S ) RN R =
— lala|a|a|afala|a]alalajafalalo]alaloafofalalolo]alo
TARARARARIRARARARARARARARAR AR AR AR ARAR AR AR AR AR AR AR AR —
(4
o
E1111111111111111111111111 m1111111111111111111111111
<
R R e R R e e R N R R R R IR R RIRI R S e e R e B R e R R B e R R B B e R I R o e I I I
<
w1111111111111111111111111 —
m4444444444444444444444444
M1111111111111111111111111
° o
z Z o
%2222222222222222222222222 B1111111111111111111111111
- o
=
~ =
~|~|~|~|~|~|~|~-|~-|~|~|d9|dA|AdA| A | A | A | A | A | A | A | A | A | A | —
< Qlo|o|o|lo|ofo|o|o[o|olo|o|o|o|o|olo|olo|olo]o|o]o]|o
=
81~ [= [~~~ [~~~ [~ |~ [~ [=[~[< <[~ <[]~ <[]~ ]<[~]~ >
SIRARARIRARARARARARARARARIRARARARIRARARIRARIR AR AR AN
0 —
N el Rl Rl Rl Rl Bl Rl Al R R R R N R R R R R IR R RIRI R
=
~ R A A A A A A A R R
) Adld|d|alg|d|QN||@o|o|s|F|[F|F|DO|[B|o|o|~
[}
o 1
=
Mﬂ.u1111111111111111111111111 m
pry olala|ml<ololol~ NI ~| o SRR IR A A A e A A R A A N T A N R N R N R
dlvjo|v|v|jo|ro|o|S|d|N|23|2[I[R[N[JI|Q|R[XS|IF|&|3 m
~NlHlHAl A A A A A A A A A A A A A A A A A A A | A A |
M1111111111111111111111111 ™
< A A A A A A A A e R R e
A—.—Nl111111111122222222222222 =
]
o olo[g|m|lv|[~lo|d|le|s|olo|ax|e IR IR <[]~ << |w <t ||~ < |«
3 al Bl N R I B Bl el Sl Bl I =0 (R IR =) (R I P (R N IR SOl RV RV N RS o m ~ S ST S
H1111111111111111111111111 *7
Slalajafa|aja|a|oajafoa|o|ofo|ofafo|oofo] <[~ ~[~|~
<t |HA|lA|A| Al Al A A A A A A A | A | A A | A A A | A A A A A A | A —
wlwlw|v|lw|w
7o) wlw|w|w
sl in|nlw[B|B[B[B|RIR[a|lala|a|alw|w|wv|v]|«]|« AR I I R R e B = e e B B Bl B B e B B A BN BN
ololo|lo|lelola(bd]|S|Sls|alolaslalaladlaglaldladlalalala © (o000l o)lb|lsls|o|o|o|S|d|d|d|d|d|d|d|d|d]|a|a
2 |g|lols|c|ls|s|sls|glelglsISISISISISIFIZISISISIFIRIS a [2|2|gelg|g|elg|g|s|a|a|a|F|o|d|S|q|F s || NI ||
SN IR RS R BRI E R R I BN R NI R RIEIRIE S S A A N S S R B B B B B B R R R T B R B R
Ll e R R e e I I I I I I I R I I I I I I I I A R I g =0 =0 =1 3 = =0 = =0 B0 =0 =0 =0 =0 Bl =1 B0 =) -0 B0 0 B0 =1 -0 Bl
3 313 213 3ls o |o|o|o|o|lo|lo|lo|jo|jo|jo|o|o|o|o|o|o|o|lolo|lo|o|ola|o|o
2 (2121212121219 21212 213 21219 212192 o|lo|o|ala|la|o|ala|a|a|a|la|le|ala|la|ld|ala|la|a|ala|a
E Q22|20 [(2]|Q|D[D[D]|AR[(D[D]|A[A[D[D]|A[(D[D[D[D[D[D|ND mMMMMMMMMMMMMMMMMMMMMMMMMM
s 22|22 2|2|12|2|2|2(2|2|=2(z(2|2|=2(2(2|22(2(=2)2 T [S|Is|s|s|s|s|s|s|s|s(s(s(s|s|s|s|s|s|s|s|(s|(s|(s|s|=
[ I D - 2 P P I I I ) B I I I I I I I B B B I I B D.EEEEEEEEEEEEEEEEEEEEEEEEE
wiwjwjlwjlwjwjlwjlwjwjlwjlwjlwjlwjlwjlwlwjwjw|lww|w|wiw|w|w

* only for Oval flange (N)

220

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

280
p H
[MPa] m]
24

240
209 o9
e TS
12 120
08 80
0.4 40
0 0
016

P2
kW] 012
0.08
004
NPSH *

[m]
2
0

221

PERFORMANCE CURVE

EVMS(L)3
0 USgpm 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
I T T T T T T T T T
0 Impgpm. 4 6 8 10 12 14 16 18
I~ 900
H
— 800 (]
— —33/3.0kw.
‘ —
~3}1/3.0 kiN\ I \\
——29/3.0kw \\\ -~ 700
= —2‘7/ —— >
} 3.0 kiN\ g \\\ \\
— —25/3.0n— ___ — e - 600
I~ —24/2.2w—_ 1 N~ \\ \\
[~ —23/2.2kw—_ N \
~—21/22kW— \\\ \\‘\\\i\ I~ 500
~—1‘9/2_2 w—g— T \‘E\\\\\\\\w
R S s S SN
——17/22W— __ e \‘\\\\&\\\ L 400
P —— ~
——14/15w— — \\ \\\\\\
[~ 135w — — ——— T NN - 300
U S e S S NS
——10/11w— - — N
=9 w— — — — T Q \\\ 200
= —8/0.75 k\wW— — —_— N B
——7/0.75 tx ‘\: > —~—
— —6/0.55 lw— — T >§
— —5/0.55 kw— — —_—
——4/0.37 kw—-— — ‘t 100
——3/0.37 kn\— — ——
— —2/037 ww— —
0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I 3
0.0 0.5 1.0 1.5 2.0 25 3.0 35 4.0 45 5.0 Q[m7/h]
T 70
n% n
R 50 [%)
//
//
— SINGLE IMPELLER kW
ik ’
0 10 20 30 40 50 60 70 80 Q [/min]
NPSH
10 If
=5
0
0 10 20 30 40 50 60 70 80 Q [/min]

Tes

Rotation speed #2900 min
t standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)3

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
c
4 holes @14
e 2 < Ff [ — 1 iﬂ% | © 5 ]
% ‘ JleEeE (O e
kg H & = H = EaT—
ks ] WOFF 18 4 holes @12 ﬁT 285 8‘ ‘%’ ‘ 40012 |
L - 149 180 0
Al D] cas 250 ‘ 210
&= if
i DIN Round flange (F) - DN25 Clamp connection (C)
P i 2 holes M10 4 holes @14
| — ’XK ——
i g — L 1 f% 6 | T |
chshes o rfimrEnE £ ke
© s | | ="l S ﬂ
100 | ‘”‘LW‘ L 8‘ 100 | 16 4holes 012 m 285 g‘ o 4 holes 912 |
149 149 180 162 ‘%
160 ‘ 210 250 ‘ 210 =
Dimensions [mm] and Weights [Kg]
Oufange (| LO%perourende (LF) | Vitauic connecton ()
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)3 2/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 250 | 9.7 |168 155 275 | 105 |17.6 163 | 250 | 9.7 |16.8 155
EVMS(L)3 3/0.37 16 [037| 71 |@105| 139 133 216 | 139 114 216 | 271 | 101 |17.2 159 | 296 | 109 | 18 167 | 271 | 102 |173 16
EVMS(L)3 4/0.37 16 [037| 71 |e105| 139 133 216 | 139 114 216 | 292 | 10.6 |17.7 164 | 317 | 113 |184 17.1| 292 | 106 |17.7 16.4
EVMS(L)3 5/0.55 16 [055| 71 |@105| 139 133 216 | 139 114 216 | 313 | 11 |195 172 338 | 11.8 |203 18 | 313 | 111 |19.6 173
EVMS(L)3 6/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 334 | 114 |19.9 17.6| 359 | 122 |207 184 | 334 | 115 | 20 177
EVMS(L)3 7/0.75 16 [075| 80 |120| 160 151 232 | 141 102 233 | 365 | 124 |23.8 209 390 | 131 |245 21.6| 365 | 124 |23.8 209
EVMS(L)3 8/0.75 16 [075| 80 |@120| 160 151 232 | 141 102 233 | 386 | 12.8 |242 213 | 411 | 136 | 25 221 386 | 129 |24.3 214
EVMS(L)3 9/1.1 16 | 11| 80 |@120| 160 151 232 | 141 102 244 | 407 | 132 | 25 232 432 | 14 |258 24 | 407 | 133 |251 233
EVMS(L)3 10/1.1 16 | 11| 80 |0120| 160 151 232 | 141 102 244 | 428 | 137 |255 237 453 | 145 |263 245 428 | 137 |255 237
EVMS(L)3 11/1.1 16 | 11| 80 |@120| 160 151 232 | 141 102 244 | 449 | 141 |259 241 474 | 149 |267 249 | 449 | 142 | 26 242
EVMS(L)3 12/1.1 16 | 11| 80 |@120| 160 151 232 | 141 102 244 | 470 | 14.6 |264 246 495 | 154 |27.2 254 | 470 | 146 | 264 246
EVMS(L)3 13/1.5 16 | 15| 90 |140| 172 140 278 | 160 119 291 | 501 | 153 |33.1 28.8| 526 | 161 |33.9 296 501 | 153 |33.1 2838
EVMS(L)3 14/1.5 16 | 15| 90 |e140| 172 140 278 | 160 119 201 | 522 | 157 |335 202 547 | 165 |343 30 | 522 | 158 |33.6 293
EVMS(L)3 15/1.5 16 | 15| 90 |@140| 172 140 278 | 160 119 201 | 543 | 162 | 34 20.7| 568 | 17 |348 305 543 | 163 |341 2938
EVMS(L)3 16/1.5 16 | 15| 90 |@140| 172 140 278 | 160 119 291 | 564 | 17.3 |351 30.8| 589 | 18 |358 315 564 | 17.3 | 351 3038
EVMS(L)3 17/2.2 16 |22 | 9 |e140| 172 140 278 | 160 119 201 | 585 | 17.7 |37.2 327 | 610 | 185 | 38 335 585 | 17.7 |37.2 327
EVMS(L)3 19/2.2 16 |22 | 9 |e140| 172 140 278 | 160 119 201 | 627 | 187 |382 337 652 | 195 | 39 345 627 | 187 |38.2 337
EVMS(L)3 21/2.2 16 |22 | 9 |e140| 172 140 278 | 160 119 291 | 669 | 19.6 |39.1 34.6| 694 | 204 |39.9 354 | 669 | 196 |39.1 346
EVMS(L)3 23/2.2 25 |22 9 |e140| 172 140 278 | 160 119 201 | - - - - | 736 | 214 [409 364 | 711 | 206 |40.1 356
EVMS(L)3 24/2.2 25 |22 9 |e140| 172 140 278 | 160 119 201 | - - - - | 757 | 21.8 |413 368| 732 | 211 [406 36.1
EVMS(L)3 25/3.0 25 |30 100 |o160 | - - - | 176 123 342 | - - - - | 788 | 224 - 444|763 | 207 | - 437
EVMS(L)3 27/3.0 25 |30 100 |@160 | - - - | 176 123 342 | - - - - | 830 | 234 - 454|805 | 226 | - 446
EVMS(L)3 29/3.0 25 |30 100 |o160 | - - - | 176 123 342 | - - - - | 872 | 243 - 463|847 | 236 | - 456
EVMS(L)3 31/3.0 25 |30 100 |o160 | - - - | 176 123 342 | - - - - | 914 | 253 - 473|889 | 246 | - 4656
EVMS(L)3 33/3.0 25 |30 100 |o160 [ - - - | 176 123 342 | - - - - | 956 | 26.1 - 481 931 | 254 - 474

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

222

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMS(L)3

140

128-6
135-6
120-6

/

//;ﬁi

43-3
52-1
44-1
43-7

IANNANNANVANN

VIV

223

|
[ANNA
z\&ﬂ\w—/l’

b

with Oval flange (N)

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)3

i

N

4 /7
17

2 O\
N\ ,
Wi
= "N}

with Round flange (F)

with Loose round flange (LF)

2\
VSN
/[ 5N 2=\//
raN \
|7/ 4
| 7 /
\ R \
\ NS oS ”
N
=z

Vo~
raN

I/ G Al

V[ ( o

\ \ , \
\ N\ g )

N =N
N Z=2 :

with Clamp connection (C)

with Victaulic® connection (V)

224

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

_—J=-T.ET



50 Hz EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)3
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL

4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6 Screw for coupling Galvanized steel M6x25 ISO 4762
120-11 | Screw for counterflange A2-70 UNI 7323

MEC 71-80 M6x20 1ISO 4017
120-13 | Screw for motor Galvanized steel 8.8 strenght class ISO 898/1

MEC 90-100 M8x20 1ISO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 | Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 | Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

225

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)3

b E
| D oo |cfofofafafo|o|o|ofofofofoajo]o]o|ofo
©
—
w1111111111111111111111111 B2222222222222222222222222
[N
:ﬂ__u222222222222222222/////// m2222222222222222222222222
—
%2222222222222222222222222 w222222222222222222///////
&
o o
A H A | A | A A | A A | A | A A | A | A | A A A A A A A A A A A s
m u1111111111111111111111111
= N
mlllllllllllllllllllllllll .I..
Nlo|ofa|afafa|o|oafafoafoaloajo]ofoafoafofo]ofoafoafoaloalo]on
) N
m_1111111111111111111111111
m1111111111111111lllllllll
m_1111111111111111111111111 .
w1111111111111111111111111
5 old|lun|m|s|w|ol~|o|d|o|s|vi~|o[d|o
Slafm|s|w|o|~|o|lo|S[d|Y|2S29]5S
— R R R R R N m1111111111111111111111111
—
B2222222222222222222222222 SN I N I I N N I I N I D D B I I R I R Y
=
Ola|a|a|a|a|lafafa|a]|a|alalala|a|a|a|a]|a]|a]|a|a|aa] N
~ n—qu1111111111111111111111111
1 —
MBI R R R R R R NI I I NI R R R R R R I I R
ie)
M4444444444444444444444444
w1111111111111111111111111 —
= —
PO Bl Al Al nll I nl Bal Bal Bl Bl Al Bull Bull Bul Bal Bl Bl Bl all all Ball Bal Rall Ral Bl el o%4444444444444444444444444
z z
%2222222222222222222222222 —
£ ﬂ.1111111111111111lllllllll
R R AR R R RS R A R R R R A A A R R R R R R R —
o
-
%l111111111122222222222222 m4444444444444444444444444
~ —
nw/lll/ll/ll/lllllllll11111 m3333333333333333333333333
6] 2
~|~|~||~[~|~|dA|~|~|~]|Hd|~|~|~|Hd| || ~|~|~|~|=|~|-=
Q w_4444444444444444444444444
@
R R R e R e s e e I R R I R I IR BRI R [
m4444444444444444444444444
21357913579102468260248260
&w Ald|d|ald|N|SN|q| SN |oo|F| T[T [T|w|w|o =
- SIEIBARAGARARARARAGARARARARARARARARANARARIRARIRARAN:
A.ﬁ_1111111111111111111111111 —
- g
S]] a]|a|a|a]|a|a]|a]a|a]|a]|ca]|a]a] S| e[| || ||| ||| ||| ||| |||~
S
—
— ofa[w|m wlo[~[o[ oo NNERIEIE
dlvjo|v|v|jo|ro|o|S|d|N|23|2[2[5[(S3(J|RIJI[Q|K|]|3|3 .W_
~NlHl A H A A A A A A A A A A A A A A A A A A A A A 0444444444444444444///////
Ofafa|ala|a|ala|a|a|a|a|ala|a|a|a|a]|a]a|a]|a]|a]a]a] =
M1111111111111111111111111 m4444444444444444444444444
M1111111111122222222222222 [¢2]
P~ B I e e e B e e e R R B e I e R I e e e e I I e e
© —
NN EEE B EEEERERNREEE i
- oy
r}1111111111111111111111111 m4444444444444444444444444
—
< | H | HA A A | A A A A A A A A A A A A A A A A A A A |
slin|slelele|w dla|a|w|v|w|v|~la|alwfwfo|olalale
SIninlglgle|e Ald|ad|w|vnlvlv|dfv|a|ly|lnlolo|lololo Qeeiuiwi~Ii~IAl G GG d|d|d|d|d|d|d|d|d|o|e|s|o|o
et it Al Gl Gl d|d|d|d|d|d|d|d|d|a|o|e|o|o|e 2 1g1glg1gl1glglgld|e|lgla|a|F|vls|=|e|d|a|TIv|s|old|a
o L1L1gl1g81g|glg|d|o|la|a|a|S|v|e|c|o|d|la|I v Is|o|g|la SR B R R N I R S B Bl B Bl B B B B R R B A N A N A B B
S N 0 8 A S S B B Bl B Bl el Bl el Bl Il Il N R B B B A B B R EAEA T AR R A S R KA B AR A R R A R DY Rt Ko R AR R K R
= e ey Pl el ey e e ey e Ry ey el ey ey el e ey el B ey el B ey ey BN a |Z(Z|2|2(2|2|222| 2222222222222 =222
o 2222222222222 222222222222 £ olo|la|a|a|a|a|a|a|a|a|la|la|a|a|a|la|la|la|la|la|lala|la|d
e |o|lo|la|la|la|a|a|a|o|o|a|a|a|la|a|a|a|a|a|a|la|alala|d R =1 =1 =1 = = = = = = = = = = (=3 =l = =3 = = =3 I =1 =3 = (=
s |22 2|1Z2|12|2|2|12|2|2|2(2|2|2(z(2|2|2(2(2|=2=2(2(=2)2 a (=1=21=21=21=2121=2=21=21=20=20=2120=20=20=2=20=2=20=2=202022 2
[ I D N P I I I D I I I I I I I I P P B I I I I I WLV |W|L
LoD o||b|b||b|b|b|b)b|L|L|o|o|o|D

* only for Oval flange (N)

** only for Loose round flange (LF)

226

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

280
p H
[MPa] m]
24

240
209 o9
e TS
12 120
08 80
0.4 40
0 0
016

P2
kW] 012
0.08
004
NPSH *

[m]
2
0

227

PERFORMANCE CURVE

EVMSG3
0 USgpm 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
I T T T T T T T T T
0 Impgpm. 4 6 8 10 12 14 16 18
I~ 900
H
— 800 (]
— —33/3.0kw.
‘ —
~3}1/3.0 kiN\ I \\
——29/3.0kw \\\ -~ 700
= —2‘7/ —— >
} 3.0 kiN\ g \\\ \\
— —25/3.0n— ___ — e - 600
I~ —24/2.2w—_ 1 N~ \\ \\
[~ —23/2.2kw—_ N \
~—21/22kW— \\\ \\‘\\\i\ I~ 500
~—1‘9/2_2 w—g— T \‘E\\\\\\\\w
R S s S SN
——17/22W— __ e \‘\\\\&\\\ L 400
P —— SO
——14/15w— — \\ \\\\\\
[~ 135w — — ——— T NN - 300
U S e S S NS
——10/11w— - — N
=9 w— — — — T Q \\\ 200
= —8/0.75 k\wW— — —_— N B
——7/0.75 tx ‘\: > —~—
— —6/0.55 lw— — T >§
— —5/0.55 kw— — —_—
——4/0.37 kw—-— — ‘t 100
——3/0.37 kn\— — ——
— —2/037 ww— —
0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I 3
0.0 0.5 1.0 1.5 2.0 25 3.0 35 4.0 45 5.0 Q[m7/h]
T 70
n% n
R 50 [%)
//
//
— SINGLE IMPELLER kW
ik ’
0 10 20 30 40 50 60 70 80 Q [/min]
NPSH
10 If
=5
0
0 10 20 30 40 50 60 70 80 Q [/min]

Tes

Rotation speed #2900 min*
t standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

TECHNICAL DATA
EVMSG3

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
C C
e s e
2 2 W
< ©
N © I
A A \
A G318 A | W
S 2 holes M10 e 4 holes 314
| NP
- i 2 ‘ )ﬁ <« [ 1l :i&? s |2
£ Umeliele €Ok J IHPEHI=EEE
“%.‘ 4 holes 212 H % & % 18 4 holes @12 H
160 210 %50
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight  Pump + Weight  Pump +
Pmax kw  Size A H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~
EVMSGS3 2/0.37 16 |037| 71 |@105| 139 133 216 | 139 114 216 | 250 | 12.9 20 18.7 | 275 | 157 | 228 215
EVMSGS3 3/0.37 16 |037| 71 |@105| 139 133 216 | 139 114 216 | 271 | 133 | 204 191 | 296 | 161 | 232 21.9
EVMSG3 4/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 292 13.8 209 196 | 317 16.6 23.7 224
EVMSGS3 5/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 313 | 142 | 227 204 | 338 17 255 232
EVMSGS3 6/0.55 16 |055| 71 |@105| 139 133 216 | 139 114 216 | 334 | 147 | 232 209 | 359 | 174 | 259 23.6
EVMSG3 7/0.75 16 |075| 80 |@120| 160 151 232 | 141 102 233 | 365 | 156 27 241|390 | 183 | 297 268
EVMSGS3 8/0.75 16 |075| 80 |@120| 160 151 232 | 141 102 233 | 386 16 | 274 245|411 | 188 | 302 273
EVMSG3 9/1.1 1.6 11| 80 |[@120| 160 151 232 | 141 102 244 | 407 | 164 | 282 26.4 | 432 | 19.2 31 202
EVMSG3 10/1.1 16 11| 80 |[@120| 160 151 232 | 141 102 244 | 428 | 169 | 287 269 | 453 | 19.7 | 315 29.7
EVMSG3 11/1.1 16 11| 80 |[@120| 160 151 232 | 141 102 244 | 449 | 17.3 [ 291 27.3 | 474 | 201 | 319 301
EVMSG3 12/1.1 1.6 11| 80 |[@120| 160 151 232 | 141 102 244 | 470 | 17.8 | 29.6 27.8 | 495 | 20.6 | 324 306
EVMSG3 13/1.5 1.6 15| 9 |[e140| 172 140 278 | 160 119 291 | 501 | 185 | 363 32 | 526 | 21.3 | 39.1 348
EVMSG3 14/1.5 16 15| 90 |[e140| 172 140 278 | 160 119 291 | 522 19 | 368 325|547 | 217 | 395 352
EVMSGS3 15/1.5 1.6 15| 90 |[e140| 172 140 278 | 160 119 291 | 543 | 194 | 372 329 | 568 | 222 | 40 357
EVMSGS3 16/1.5 16 15| 90 |[@140| 172 140 278 | 160 119 291 | 564 | 205 | 383 34 | 589 | 232 | 41 367
EVMSG3 17/2.2 16 2.2 90 @140 | 172 140 278 | 160 119 291 | 585 20.9 404 359 | 610 237 43.2 387
EVMSG3 19/2.2 16 22| 90 |el40 | 172 140 278 | 160 119 291 | 627 | 21.9 | 414 369 | 652 | 247 | 442 397
EVMSG3 21/2.2 16 22| 90 |e140| 172 140 278 | 160 119 291 | 669 | 22.8 | 423 37.8 | 694 | 256 | 451 406
EVMSG3 23/2.2 2.5 22| 90 |e140| 172 140 278 | 160 119 291 - - - - 736 | 26.6 | 461 416
EVMSG3 24/2.2 25 22| 90 |e140| 172 140 278 | 160 119 291 - - - - 757 27 | 465 42
EVMSG3 25/3.0 2.5 30| 100 |e160 | - - - 176 123 342 - - - - 788 | 27.6 - 496
EVMSG3 27/3.0 25 3.0 100 | @160 - - - 176 123 342 - - - - 830 28.6 - 50.6
EVMSG3 29/3.0 25 30| 100 |e@160 | - - - 176 123 342 - - - - 872 | 29.6 - 516
EVMSG3 31/3.0 2.5 30| 100 |e160 | - - - 176 123 342 - - - - 914 | 305 - 525
EVMSG3 33/3.0 2.5 30| 100 |e@160 | - - - 176 123 342 - - - - 956 | 31.3 - 533

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

228

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG3

245

~
130-2 I
%i Y S 212
130-1 7
i 75
120-3 -
! 111-4
128-1 \ JQ 120-13

/

//;ﬁi

i 5-4
\\\ 7

\

\

. - 52
52-1 3

31

44-1 .
N 1 L

437 //Q 21
N 5-1
- 107

S % 75-1
6 gi 273-1
48 - 212-1
120-11 )
117
219
with Oval flange (N)
229
EBARA Pumps Europe % ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

PIPE CONNECTION
EVMSG3

with Round flange (F)

230

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG3
N° PART NAME MQ\I’\EAZQL DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250EE1551
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shatft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 ISO 4762
120-6 Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
120-13 | Screw for motor MEC 71-80 Galvanized steel 8.8 strenght class 1ISO 898/1 M6x20 IS0 4017
MEC 90-100 M8x20 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu?2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)
231

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG3

1)
51111111111111111111111111 M
S| Dl ||| ||| |||
N
M1111111111111111111111111
u m2222222222222222222222222
—
N N NI R R I I R I R I R R R I R R R I I A A I Y 5
u [ NfN[N|N[fN[fN|[NfNfN[N|NN[N|N|N[N[N|N|~~|~|~|~|~]|—~
o N
m1111111111111111111111111 ~
A_. H.1111111111111111111111111
m1111111111111111111111111 N
—
) Y| ||| || ||| ||| |||
m1111111111111111111111111 N
u1111111111111111111111111
m1111111111111111111111111 N
o
N~ Q|lA|ldA|A|A|A|A|A|A|A|A|A| A | A|A| A| A| A| A | A | A | A | A | A | A |
Old|lNlOsw]|OIMN[O[dA|lO SO~ d| ™
ISR A N el Rl e BN I Rl R R I I e R I IR IV IR R RN R R R R ) =
— lala|a|a|afala|a]alalajafalalo]alaloafofalalolo]alo
TARARARARIRARARARARARARARAR AR AR AR ARAR AR AR AR AR AR AR AR —
(Y
Nl
E1111111111111111111111111 m1111111111111111111111111
ey
N R R e e R e e e K I R R I R IR RO sl ||| s]|s]| ||| |||~
1
%1111111111111111111111111 —
m4444444444444444444444444
M1111111111111111111111111
° o
z Z o
%2222222222222222222222222 B1111111111111111111111111
— o
%1111111111122222222222222 w4444444444444444444444444
—
~ —
Rl Bl Bl B Bl Bl Bl e el Bl Bl Bal Bal Bl Bal Bal Bal Bal Bl Bl Bal Bal Bal Bl Ral
< mw3333333333333333333333333
—
S 1=1=[=[=[=<[=[~[~[=[<]=[=[<]<[<[=]<[=[<[< ][]~ [~ ]<]~ =
SERARARARARANARARARARARARARARARARIRARARIRARAR IR AR AR
™ —
&w1111111111122222222222222
—
~ R A A A A A A A R R
1357913579102468260248260 —
mw Ald|d|d|d|N|[QN|[Q|N|Q|o|o|F(S[T|F|0|w|o
™
— 3
&_1111111111111111111111111 m4444444444444444444444444
—
Mﬂ.u1111111111111111111111111 maH_
n ol alwlolsolol<lo| oo ol <ol <o AR AR AR AR A A N N N N N I I I I IR IR IR R B
dlvjo|v|v|jo|~o|o|S|d|N|23|2[2[5[(2(J|RIJI[Q|K|]|3|3 m
~NlHlHAl A A A A A A A A A A A A A A A A A A A | A A |
O |ldA | A | A | A | A | A | A | A | A | A | A | A A A | A | A A | A | A | A | A [ A | A | A [ A m4444444444444444444444444
M1111111111111111111111111 ™
< A A A A A A A A e R R e
A—.—N1111111111122222222222222 =
]
N olo|d|la|m|s|o|lo|o|d|la|s|o|o|o LR AR AR AN < || S| < | <
3l Bl N R I B Bl el Sl Bl = =0 (R I R ' I = (R IRV IRV PN IRl IRV o m ~ S ST S
H1111111111111111111111111 *7
Slalajafa|aja|a|oajafoa|oa|ofo|ofafo|oof <] <[~|~]~[~|~
<t |HA|lA|A| Al Al A A A A A A A | A | A A | A A A | A A A A A A | A —
NN IR T E N I B I RN RN R RN RN S E EIEIE IR G et el et s 1 1 = D N P B N e e = e
Il I Il B el e e e N I e e B N S BN RN BN N RN B R A R S 3 SlololololaslslalS 29199 (2999991221222
2 |g|g|clglels|s|d|SIZSISISISISISIRISISISISIZEIRISISS o ([2lglglglg|e|Q|d|s|a|q|a|F|v|s|=s|s|d|la|F|v|(s|[o|I|a
S |S|s|F|5|e|=]a|5[2|I|S|2|3[(2)|S|5(2|J|RQI|Q|K|Q[5|9 N N S N R S S B I B S S B R R R R R R R R B
E lwlo|m|lom|lolololm|lolololm|lo|lolololo|lololol;o|lolololo Folololo|lo|lolo|lo|o|lo|o|o|[o|o]o|lo|ofofo|ofofo]ofofo]o
3 33 313 318 o |(o|o|o|lo|lo|lolololo|olo|o|lo|o|olalo|lolo|ola|o|lo|o|o
2 (2121212121219 213912 213 21213 212192 o|lo|o|ala|la|o|ala|a|a|a|la|le|ala|la|ld|ala|la|a|ala|a
e |o|lo|la|la|la|a|a|o|o|o|a|ala|la|la|la|a|o|a|a|la|alala|d mMMMMMMMMMMMMMMMMMMMMMMMMM
s 22|22 2|2|12|2|2|2(2|2|=2(z(2|2|=2(2(2|22(2(=2)2 T [S|Is|s|s|s|s|s|s|s|s(s(s(s|s|s|s|s|s|s|s|(s|(s|(s|s|=
[ I D - 2 P P I I I ) B I I I I I I I B B B I I B D.EEEEEEEEEEEEEEEEEEEEEEEEE
LoD o|b|b|b|b|b|b|b|D)Lb|L|L|o|o|o|D

* only for Oval flange (N)

232

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)5
0 USgpm. 5 10 15 20 2 30 35
| | | | | | | |
I T T T T T T
0 Imp.g.p.m. 5 10 15 20 25 30
280
900
p Hol
[MPa] m = —’27‘/5.5k‘W\ ~ H
S Y || T g0 [
= —-25{5.5 k‘W\\ —_ ~
23\ \ ~—
= 5.5kW——_
kW — \\ N - 700
209 ~—_ SN N
——20/4.0 kw—~— \\\ N
| | - N N
. ~ ~ NGO N\ - 600
19/4.0 kWw———
—~ ~—— N \\
[ — N\
1.6 160 —F= —17/4.0 xw= — \\\ \\ ™\ ‘\\\
i S~ \\\ N - 500
——15/3.0kw—- L \\\\ ™~ \\‘ N\ \\\\
- —-14‘3.0 w—— — S~ \i\\ \\ N\
12+ qpo =T 13B0Km— — Y \;\ \\ - 400
- 120w — — | ——— ~—_ N N
T T o — — N
- 10220 —— || T \\\:\<\$ N L 300
08 g AT ‘\\\‘\\\\‘\\\\\ ~_ Y
L — T S
— =7/ ‘1 5 =T — \\\\ \\\\\ <\\ 200
~how e —— —
ool I —5/ = = — — §\\§\\:\\\
: 0= ——4/9.75 W = — — — 1
::3/0"55 k‘W_' — §~§‘\\ 100
==2/037 W= = — — \_
0- 0 0
0 20 40 60 80 100 120 Q [imin]
T T T T T T T T T 3
0 1 2 3 4 5 6 7 Q[mh]
032 70
P = 1
kW] 024 — N% — 50 [%]
06 — L — .
— SINGLE IMPELLER kW
008 | l [ | ] l | 10
0 20 40 60 80 100 120 Q [imin]
NPSH ® 15 NPSH
[m] [ft]
3 — — 10
1 5
0 20 40 60 80 100 120 Q imin]

Rotation speed 2900 min
Test standard: 1ISO 9906:2012 - Grade 3B

233
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)5

Oval flange (N) DIN Loose round flange (LF) - DN32 Victaulic® connection (V)
c
4 holes @18
i — o | [T e f%
g I T - ) G38
- hal =18 5 NN
T ﬁ] | — —° 8 |
& ot = = S —
ki
i 100 20 4holes @12 2100 54
149 180 T
210 210
A | cas 250 210
{ DIN Round flange (F) - DN32 Clamp connection (C)
|
kS | 2 holes M10 4 holes 018
1 (—— )
| g Ny — % ~ 638
‘ G38 | e ‘ e ?
- A0 | e a i
2l o ~ e S5
‘ W 4 holes @12
100 4 holes 912 =] 100 19 4holes p12 2100 <
149 149 180
160 ‘ 210 250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)5 2/0.37 1.6 |037| 71 |@105| 139 133 216 | 139 114 216 | 264 | 9.8 |[16.9 15.6 | 289 11 | 181 16.8| 264 | 9.9 17 157
EVMS(L)5 3/0.55 1.6 |055| 71 |@105| 139 133 216 | 139 114 216 | 292 | 103 (188 165 | 317 | 115 | 20 17.7| 292 | 104 |[189 16.6
EVMS(L)5 4/0.75 1.6 |075| 80 |@120| 160 151 232 | 141 102 233 | 330 | 11.3 [22.7 19.8| 355 | 125 |239 21 | 330 | 114 |[228 19.9
EVMS(L)5 5/1.1 1.6 11| 80 |[@120| 160 151 232 | 141 102 244 | 358 | 11.8 | 236 21.8| 383 13 |248 23 |35 | 119 |237 219
EVMS(L)5 6/1.5 1.6 15| 90 |@140| 172 140 278 | 160 119 291 | 396 | 127 |305 262 | 421 | 137 [315 27.2| 396 | 126 |30.4 26.1
EVMS(L)5 7/1.5 1.6 15| 90 |@140| 172 140 278 | 160 119 291 | 424 | 128 |30.6 26.3| 449 | 141 |[31.9 27.6 | 424 13 [30.8 265
EVMS(L)5 8/2.2 1.6 22| 90 |@140| 172 140 278 | 160 119 291 | 452 | 134 |329 284 | 477 | 146 |[341 296 452 | 135 | 33 285
EVMS(L)5 9/2.2 1.6 22| 90 |@140| 172 140 278 | 160 119 291 | 480 | 139 |334 289 | 505 | 152 |[34.7 30.2| 480 | 14.1 |336 29.1
EVMS(L)5 10/2.2 1.6 22| 90 |@140| 172 140 278 | 160 119 291 | 508 | 14.4 |339 294|533 | 156 |[351 30.6| 508 | 145 | 34 295
EVMS(L)5 11/2.2 1.6 22| 90 |@140| 172 140 278 | 160 119 291 | 536 | 152 |347 302 | 561 | 165 | 36 315 536 | 154 |349 304
EVMS(L)5 12/3.0 1.6 30| 100 |@160| - - - | 176 123 342 | 574 | 167 - 387|599 | 17.7 - 397|574 | 166 - 386
EVMS(L)5 13/3.0 1.6 |30 100 |@160 | - - - | 176 123 342 | 602 17 - 39 | 627 | 183 - 403 602 | 17.2 - 392
EVMS(L)5 14/3.0 1.6 3.0 | 100 |@160| - - - | 176 123 342 | 630 | 17.6 - 396|655 | 188 - 408 630 | 17.7 - 397
EVMS(L)5 15/3.0 1.6 30| 100 |@160| - - - | 176 123 342 | 658 | 186 - 406 | 683 | 19.9 - 419 658 | 188 - 408
EVMS(L)5 17/4.0 1.6 | 40| 112 |@160 | - - - | 193 138 364 | 714 | 193 - 478|739 | 206 - 491 714 | 195 - 48
EVMS(L)5 19/4.0 25 |40 | 112 |e@160| - - - | 193 138 364 | - - - | 795 | 217 - 502|770 | 206 - 491
EVMS(L)5 20/4.0 25 |40 | 112 |@160| - - - | 193 138 364 | - - - | 823 | 239 - 524|798 | 22.8 - 513
EVMS(L)5 23/5.5 2.5 55| 132 [@300| - - - | 220 152 399 | - - - | 1001 | 306 - 696|976 | 295 - 685
EVMS(L)5 25/5.5 25 55| 132 [@300| - - - | 220 152 399 | - - - | 1057 | 316 - 7061032 | 305 - 695
EVMS(L)5 27/5.5 2.5 55| 132 [@300| - - - | 220 152 399 | - - - | 13| 331 - 7211088 | 32 -n

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

234

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW

EVMS(L)5
140
128-6
Xé 135-6
39-1 120-6
162 e \\\
131-1 x — =~ N | ) oo
130-2 N . : 5
130-1 U ) <K s 75
120-3 ‘ 111-4
‘ 120-13
128-1 LgRd ) 111-3
135-1 2 : 115-5
212-2 \ b /\ 115
Wk 111
115-4 46
150 —— [\ 47
1201 ———————— T 54
432——— || N T 7
33— || 052
434 % I I
521 ————— 1 T
43-5 . 31
137-1 \ //://— 21
p— |
6 R L 107
115-3 T 273-1
120-11 75-1
219 212-1
T~ 160
~ 1285
with Oval flange (N)
235
EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)5

(HEZ

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

236

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

_—J=-T.ET



VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)5
MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
8 Impeller nut A2-70 UN! 7323 with inox A4-70 UN! 7323 with inox M8
insert insert
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 ISO 4762
i up to 4.0 kw . M6x25 1ISO 4762
120-6 Screw for coupling _———— Galvanized steel
above 5.5 kW M8x20 ISO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 ISO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 1SO 4017
MEC 132 M12x40 ISO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kw Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron
237

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)5

¥
Iy ¥
te}
%11111111111111111111 122222222222222222222
©
—
M D oo |afafalalalcalajoafalaloalolo]ofoalalalo
”_11111111111111111111 2
& Qlalalalala|a|a|ala|o]alaloa|o|oala]o]alalo
m222222222222222///// N
— W222222222222222////l
%22222222222222222222 N
o
5 ullllllllllllllllllll
m11111111111111111111 o~
5 b
mllllllllllllllllllll MZ2222222222222222222
@
m1lllllllllllllllllll m_l.lllllllllllllllllll
m‘l.lllllllllllllllllll Mllllllllllllllllllll
5 N wir~ o ™ Ww |~
m23456789mH11M111m222 m11111111111111111111
—
I I I I I I I S I N T I R S I B I T A lalafalalala|a|ala|c]alaloa|o|afalo]olalo
Y )
—
Ellllllllllllllllllll ﬂllllllllllllllllllll
p— bl
MR I R R R R NI I R I I R R R R I I ) %
Cel Qo[]S [|f|~|~]|~
%11111111111111111111 Al
—
Fla|a|a|a|alala]a]a|a|a]|a]a|a]|a]a|a]|=]|=]= %44444444444444444444
o ol
Z Qla|a|ala|afa|a|a|a|aflafafa|ofa]o|ofo|oafo Z o
&11111111111111111111
i
W44444444444444444444 ~
- M44444444444444444444
%11111111122222222223
—
[re)
I Y R &lololo|o[o]o|o[o]o|o]c]o|o]o]o|o]o]o|o]o
M11111111122222222223 W44444444444444444///
©
@11111111122222222223 %
MV_44444444444444444444
o
dlo|lv[sslo|dleo|lv|o|o|lw|o|v|~
@13579111111222233444 v
D~~~ ~[~[~|~|~[~|~[~|~|~|~|~|~|~|«|<]|«
o S
%11111111111111111111 =
¥ SERARARARARARARARARARARARARARIRARIRARARAN
111111111111111111111 Al
. q
- olg|a|o|x|w o|o|w|~ S| S
d|v|o|sfw|o|~|oloZ[d|S|3|I[2[(5[(S|R|Q|Q|F m
~NlH A A A A A A A A A A | A A A A A A A A A *ﬂ
O |ldA| A |l A A A | A | A | A | A | A | A | A | A | A | A A | A | A [ A | A 0444444444444444/////
Mllllllllllllllllllll
™ SR AR AR S A N A S
Rl RN N Rl N B N Il N IV IOV U IOV N IOV OV IV (N I )
Vl~|a|nfo|<|v]|o|~|o|fo|o|S|d[YN[JHSISQINQ %
Iy EARSE RS AN =) R R RN RN ISIRARARARARAGARARARARIRARARIRARARARIRAREN
—
Mllllllllllllllllllll —
|
=}
<t | dA|A|A|A| A A | A | A A A A | A A A | A A A A A | A H44444444444444444444
S518|e NiNfe|o|o|ofefefow| W W ~|w|w o~ olol|o|o o|lo|w|w|w
QIR FIe| NN NG| oo | o ||| T F|w|w|w G818 alu|ln|lo|«[JY221212121221212]2
o |SlSlolalaladlalalY|IN|QQQ(2I|I(X|L2|L2|2 LR A NN G @@ |o|o|f|Ff|Ff|vw|v|w
S R R B B P e BN N e R I L B R R R A RS o |o|lg|S|d|d|d|d|dls|S|I|alFBIRIFSls| 6=
A|a|F|v|d|R|d|d|a|d|d|ad|a|a|a|q|q|a|a|w o |qls|F|slslclassSTYI2IL52[RIQNKLIN
N =Y R N -4 =Y - VY Y -4 - - V.Y - LY -4 - V- R -4 -3 2 |u|lv|v|lvlv|lv|lv|lv|lw|w|w|vw|lv|lw|w|wv|lvw|wv|w]|w
o | 21222222222 2222222222 o |212(2]2(2|2]2]|2|2|2|2|2|2|2| 222|222
E [|2|2(2(2(2|2|2|2(2|2|2(2(2(2|2|2|2(2|2|2 Q0| D | BB |D || B0 |0 |D|B|D|D|G|D|B|D|D|D
SR = =3 = = = = I = I= =3 =3 =3 I>=J =3 =3 =3 =3 =3 = b=} mMMMMMMMMMMMMMMMMMMMM
a |[=1=21=2=2=2z2z2122121=21=21=2=21=2202222 a ISISISISISISISISISISISISISISISISIcSSS
wjuwjwjmjujwjmjyjujnjujujujujujujujujujw DL D|b|b|w|b|L|jw|m

* only for Oval flange (N)

** only for Loose round flange (LF)

w[_] shaftin EN 1.4462 (AISI 3294)

128-3: only for motor above 5.5 kW (see drawing pag.247)

238

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG5
0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
I T T T T T T
0 Imp.g.p.m. 5 10 15 20 25 30
280
— 900
p I
[MPa] m = —’27‘/5.5k‘W\ ~ H
Sl P || T g0
= —-25{5.5 k‘W\\ —_ ~
23\ \ ~—
= ==23/5.5kW=—
— ~_ - 700
204 0 ‘4}\\‘ \\ ~_
——20/4.0 kw—~— \\\ N
| | — N N
| ~ ~ NN\ - 600
19/4.0 kWw———
—~ ~—— N \\
[ — N\
16 = —17/4.0 kW= . N \\
160 —— N
~ \\\ N - 500
——15/3.0w— L \\\\ ™~ \\‘ \\ \\\\
= —_14\3'0 \W‘_. — — \“\\ \\ \i\\ \\\\
124 13/0m— — S ~._ N\ - 400
120w —— T [~ T~ ~~— Q\‘
- 10220 —— || T \\\:\<\$ N L 300
0.8 80 - — T2y — ‘\\\‘\\\\‘\\\\\‘ \;\
SR T SRR — OIS
— =7/ ‘1 5 =T — \\\\ \\\\\ <\\ 200
::6/‘1.5 e e —
ool I —5/ = = — — §\\§\\:\\\
: 0= ——4/9.75 W = — — — 1
::3/0"55 k‘W_' — §~§‘\\ 100
==2/037 W= = — — ‘—
0— 0 0
0 20 40 60 80 100 120 Q [l/min]
[ I I I I I I I I 3
0 1 2 3 4 5 6 7 Q[m7h]
032 70
P2 = 1
—
] 024 —T % 50 %)
[
016 — —T— 30
] SINGLE IMPELLER kW
008 | l | [ | l | 10
0 20 4 60 80 100 120 Q fimin]
NPSH ® 15 NPSH
[m] Ift
3 - — 1
1 5
0 20 40 60 80 100 120 Q [fmin]

Rotation speed 2900 min*
Test standard: 1ISO 9906:2012 - Grade 3B

239
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

TECHNICAL DATA
EVMSG5

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN32
[ C
1 18 | B
? 2
k4 ks
ks ks
A | Gas A 638
e
o o
- 2 holes M10 T 4 holes @18
I I
ny - 1\ l [ oF
- [T 3 |
I N SR AL d
100 4 holes @12 H 75 &
149 180
160 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
kW  Size A H2 | Pump Motor H2 | Pump Motor
Pmax
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~
EVMSGS5 2/0.37 16 0.37 71 2105 | 139 133 216 | 139 114 216 | 264 13 20.1 18.8 | 289 175 | 246 233
EVMSGS 3/0.55 16 0.55 71 2105 | 139 133 216 | 139 114 216 | 292 135 22 19.7| 317 18 265 24.2
EVMSGS 4/0.75 16 0.75 80 2120 | 160 151 232 | 141 102 233 | 330 145 | 259 23 355 19 304 275
EVMSG5 5/1.1 16 11 80 2120 | 160 151 232 | 141 102 244 | 358 15 26.8 25 383 195 | 313 295
EVMSGS 6/1.5 16 15 90 2140 | 172 140 278 | 160 119 291 | 396 155 333 29 421 20.1 | 379 336
EVMSG5 7/1.5 16 15 90 2140 | 172 140 278 | 160 119 291 | 424 16 33.8 29.5| 449 205 |383 34
EVMSGS 8/2.2 16 22 90 2140 | 172 140 278 | 160 119 291 | 452 16.6 |36.1 31.6 | 477 21.1 | 406 36.1
EVMSG5 9/2.2 16 2.2 90 2140 | 172 140 278 | 160 119 291 | 480 17.1 | 36.6 32.1| 505 216 | 411 36.6
EVMSGS 10/2.2 16 2.2 90 2140 | 172 140 278 | 160 119 291 | 508 176 |37.1 326 | 533 221 | 416 37.1
EVMSGS5 11/2.2 16 22 90 2140 | 172 140 278 | 160 119 291 | 536 184 | 379 334 | 561 229 | 424 379
EVMSG5 12/3.0 16 3.0 100 | @160 - - - 176 123 342 | 574 19.6 - 41.6 | 599 241 - 46.1
EVMSGS 13/3.0 16 3.0 100 | 2160 - - - 176 123 342 | 602 20.2 - 422 | 627 24.7 - 46.7
EVMSGS 14/3.0 16 3.0 100 | @160 - - - 176 123 342 | 630 20.8 - 42.8 | 655 253 - 47.3
EVMSGS5 15/3.0 16 3.0 100 | @160 - - - 176 123 342 | 658 21.8 - 43.8 | 683 26.3 - 48.3
EVMSGS5 17/4.0 16 4.0 112 2160 - - - 193 138 364 | 714 225 - 51 739 27 - 55.5
EVMSGS5 19/4.0 25 4.0 112 2160 - - - 193 138 364 - - - - 795 28.1 - 56.6
EVMSGS5 20/4.0 25 4.0 112 2160 - - - 193 138 364 - - - - 823 30.3 - 58.8
EVMSGS 23/5.5 25 55 132 | 2300 . B - 220 152 399 - N B - 1001 37 - 76
EVMSGS 25/5.5 2.5 55 132 | @300 - - - 220 152 399 - - - - 1057 38 - 7
EVMSGS5 27/5.5 25 55 132 | @300 - - - 220 152 399 - - - - 1113 39.6 - 78.6

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

240

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMSG5
140
128-6
ﬁ&/ 135-6
39-1 120-6
162 s A
131-1 I ~— A
130-2 x | _ 212
130-1 Y < — 7
120-3 111-4
245 ‘ 120-13
128-1 /‘Q f 111-3
135-1 2] 115-5
212-2 \ ! 2 ) 111-5
4 111
115-4 46
M50 — I\ 1 R —
120-1 T 54
432 —— ||| N A7
433 — || T————— 52
G ————
52 ——————— X T 441
43-5 . 31
137-1 \ o'l 21
48 NN are 5-1
6 N ” 107
17 Z 751
120-11 273-1
219 é o 212-1
with Oval flange (N)
241
EBARA Pumps Europe % E3ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

PIPE CONNECTION
EVMSG5

with Round flange (F)

242

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG5
N° PART NAME ME\JEEI'GAL DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250EE1551
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shatft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510
115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 ISO 4762
_ up to 4.0 kW . M6x25 1SO 4762
120-6 Screw for coupling Galvanized steel
above 5.5 kW M8x20 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class 1ISO 898/1 M8x20 I1SO 4017
MEC 132 M12x40 ISO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)
243

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG5

-
;
% Q||| ST ||| ||
”_11111111111111111111 y
m11111111111111111111 %22222222222222222222
—
ﬁ22222222222222222222 m222222222222222l1///
o o
m11llllllllllllllllll ullllllllllllllllllll
1N
411111111111111111111 b
.m_ N ||| ||| ||| ]| ||
@ N
m‘l.lllllllllllllllllll I
NI R R S I R R S A N S R S Rl R R Al B
m‘l.lllllllllllllllllll
m11111111111111111111
5 o|ld|w|m wi~|lolo|lo|w|~
m234567891111M1112222
= m22222222222222222222
ERARARARER AR ARER AR AR AR AR AR AR AR AR AR AR AR AR —
(Y
n.«Fu11111111111111111111
e e e R e R e e e e e e R e A R R ]
= %44444444444444444///
N R R Rl R B Bl Bl B B A S A S A A S I I A S G K —
L =
[ R R R R N Il I R T Il N I I N T N I I R %44444444444444444444
~
- e e e e e e I R R o
Al Al A A A A A A | A A | A A A A A | A A | A | =
o s, 8
Z Qla|afa|afafoa|afafo|afofo|ofofo]ofo]o]ofo z
o
= %44444444444444444444
%11111111122222222223 —
—
1)
% Y Y Y &lololo]o|o]o|olo]|o|o]o|o]o|o|o|o|o]o|o]o
©
m11111111122222222223 m44444444444444444///
™ @
A A | A | A A A A A N[ N[ N[ N|N|[N[N|[N|N|[N|® &
] w._/lll////ll/ll//l/444
o
) dlo|lvl~sslo|dleo|lv|o|o|lw|o|v|~
%13579111111222233444 b
m44444444444444444444
1
N R R R R R R K R R K R R R R R A R A A K R
8 9
P IBARARARARARASAR AR AR AR ARARARIR AR AR AR AR
111111111111111111111 u
&
¥
N o|ldlan|m|x|w olm|w|~
b I Il I el I B KA RS RS R RS R R R A RS RN RS A M444444444444444/IIII
Nl A A A A A A A A A A | A A A A A A A A A H
O |ldA| A | A | A A | A | A | A | A | A | A | A | A | A | A A A A | %
n1/_44444444444444444444
Mllllllllllllllllllll
[
%11111111122222222223 m44444444444444444444
D~~~ |o|s|w|o|~|olo|o|S|d|YNI]|S95|RIN|R <
m44444444444444444444
Hllllllllllllllllllll =
*
<t | H|HA|A| A | A | A A A A A A A A A A A A A A N222222222222222l////
=
= = N I I O B D RN e R Y R o R e A
v 1215222 YJ]d|d|o|o|g|o|s|f|S|e|v|e 58w NN EEEEEREEREEEE
o |L(e(eldd|Dd|Y|Y¥|S|g|q|m|F|v|~|o|S|o|v|= o (22 Z|Z[e(2|¥[V|d|d|o|o|o|o|f|f|F|w|v|w
> [Qo|F|v|o|R|d|a|a|d|d|a|a|a|a|a|qQ|q|N| o (L8212 [Zd|9 (Y [s|a|a|a|S|v|R|o9|o|a|v|s
F |o|lw|lw|lv|lv|/lv/v|lv|w|w|w|w|w|w|w|w|w|w|w]|w > |S|@|F|v|s|R|d|a|a|a|a|a|a|d|a|a|Q|q Q|
[=H NUR RUR O USROS ROR RUR ROUR RO ROR ROR JOR JUR RUR ROR RO ROUR ROR ROR NO] F o lo|lolvlvlv|www|w|w|w|w|lw|[w|lw|w|w|w|w|w
E Q2D 2[|Q[(D|D|D[(D|D|D[ND|Q|Q[ND|Q|D[N|A (= OB ROR NOR NOR RORRON OB ROR ROR NON RUN ROR ROR NOR RORRORROR NOR ROR O]
SR =N =1 =1 =3 = =1 =1 =3 =3 [ b= =3 [ I3 = =3 [ I3 =3 =3 E |(2(2(Q|2[(Q[(RQ|2[Q[(RQ[D|D[AR[DA|D[(R[(DA|D[(D[(D|D
a (=== 1=21=1=1=1=21=1=21=21=21=21=21=20=21202>2] 2 s 2|22 22|S|2(2(2|2(2|2|2(2|12|12(2|1212]2
Wilwfw|w|w|wjw|w|w|w|Ww|w|w|w|w|(Ww|w|w|w|w a |[=1=21=21=21=21=21=20=21=202212021212121=2021202
L|D|L|o|o|b|D|D|D|o|b|b|o|o|D|D|D|D|DL|D

* only for Oval flange (N)

# [ shaft in EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.247)

244

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]
24

20+

0.8 —

0.4 —

P2

280

[m]

240

200

160

120

80

40

PERFORMANCE CURVE

kW]
032
024

NPSH 4

(m]

245

EVMS(L)10
0 USgpm. 10 20 30 40 50 60 70
| | | | | | | |
[ T T T I I T
0 Imp.g.p.m. 10 20 30 40 50 60
— 900
H
¥=23‘/ 11 .“ — i
22/1 kw=— e— - 80
==21/7.5 kxwv— — T \\\\
— L \\\\
| \\\\\>\\ - 700
——1 9{7.5 W~ — \\\\‘\
——18/75w— — o - N
' T
\\\\\\\ O\ - 600
 —16/75k—| — , AN
[ [ T N AN
— 1555 — i \Q\‘ \\\\
—
——14/55 w— — e \\\\\ \\:\ 500
\\\\\ \ \\ \\\\\\
—=—12/55 w ™ \\ \\\ ANNN
‘ —— R UANRNN
11/4.0 \W———— — —~ ™N \\ \\\ NN L 400
==—10/4.0 \w—— I —— ‘\\\‘ \‘\‘ \\\\\\\
/a0 ' —— : \\\\\\\\\\‘\
——9/4.0 k\w—|— -
T ow { _ ~ \\\\ - 300
- ——8/‘3.0 Kw—|— — ~——— ~ NN \\\
—Thow————0y — TR
— -—6/;2.2 k\%v— —_— —— ~~ \\\ \\\ | 200
5220 —|— — — —
— ~ ~N
— -—4/‘2.2 k\‘/v— el — \\\\‘ \\\\\Qé
~—
——3/15wW—|——— T 100
f— —
= —2/0.75 kW— —|— — —} —— \:\
— —
0
0 40 80 120 160 200 240 Q [fmin]
[ T T T T T T T T 3
0 2 4 6 8 10 12 14 16 Q[moh]
80
— n
— —— o
—— % —_ 60 [%
- —
_— 40
//
4 SINGLE IMPELLER kW
AR I 20
I I
0 40 80 120 160 200 240 Q [fmin]
NPSH
— 10 If
=5
0
0 40 80 120 160 200 240 Q [fmin]

Rotation speed 2900 min
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

Oval flange (N)

2 holes M12

c
e
-
x
S
<
|
A | | c3s
I
|
|
o I
T I
1
1
1 jo
<+ d =
8] TOLNE= 5
‘ 130 4 holes @12
190
200

DIN

TECHNICAL DATA
EVMS(L)10

Loose round flange (LF) - DN40

4 holes @18

i
‘ 079 !
2150

- i S

20  4holes @12 ‘ﬂ» 2110 8[
215
250

Round flange (F) - DN40

4 holes 218

Dimensions [mm] and Weights [Kg]

_ =y )
ST G
—is s 2 -

AT

18 4 holes 912 TT 2110 8[
215
250

Victaulic® connection (V)

4 holes @12 ﬁ _

Ovalfange () | L0750 [ou e (L) | Vicaulc connection 1)

Weight Weight Weight

1~ 3~ Weight  Pump + Weight  Pump + Weight  Pump +

Pmax kw  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor

Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~ 1~ 3~

EVMS(L)10 2/0.75 16 0.75 80 2120 | 160 151 232 | 141 102 233 | 343 17.6 29 26.1| 343 175 | 289 26 343 165 | 279 25
EVMS(L)10 3/1.5 16 15 90 2140 | 172 140 278 | 160 119 291 | 383 185 |36.3 32 383 185 |36.3 32 383 17.4 | 352 309
EVMS(L)10 4/2.2 16 2.2 90 @140 | 172 140 278 | 160 119 291 | 413 19.3 | 388 34.3| 413 19.3 | 388 343 413 18.2 38 332
EVMS(L)10 5/2.2 16 2.2 90 2140 | 172 140 278 | 160 119 291 | 443 20.2 | 39.7 352 | 443 20.1 |39.6 351 | 443 19.1 386 34.1
EVMS(L)10 6/2.2 16 2.2 90 2140 | 172 140 278 | 160 119 291 | 473 21 405 36 | 473 21 405 36 | 473 199 |394 349
EVMS(L)10 7/3.0 16 3.0 100 | @160 - - - 176 123 342 | 513 22 - 44 513 21.9 - 43.9 | 513 20.9 - 42.9
EVMS(L)10 8/3.0 1.6 3.0 100 | @160 - - - 176 123 342 | 543 22.8 - 44.8 | 543 22.8 - 44.8 | 543 21.7 - 43.7
EVMS(L)10 9/4.0 16 4.0 112 2160 - - - 193 138 364 | 573 23.7 - 52.2 | 573 23.6 - 52.1 | 573 22.6 - 51.1
EVMS(L)10 10/4.0 16 4.0 112 2160 - - - 193 138 364 | 603 245 - 53 603 245 - 53 603 234 - 51.9
EVMS(L)10 11/4.0 1.6 4.0 112 | @160 - - - 193 138 364 | 633 26.1 - 54.6 | 633 26.1 - 54.6 | 633 25 - 53.5
EVMS(L)10 12/5.5 16 55 132 | @300 - - - 220 152 399 | 761 35.9 - 749 | 761 35.9 - 749 | 761 34.8 - 73.8
EVMS(L)10 14/5.5 16 55 132 | @300 - - - 220 152 399 | 821 37.8 - 76.8 | 821 37.7 - 76.7 | 821 36.7 - 75.7
EVMS(L)10 15/5.5 16 55 132 | @300 - N - 220 152 399 | 851 38.7 N 77.7 | 851 38.6 N 77.6 | 851 37.6 N 76.6
EVMS(L)10 16/7.5 25 7.5 132 | @300 - - - 220 152 419 - - - 881 39.6 - 85.6 | 881 38.5 - 84.5
EVMS(L)10 18/7.5 25 75 132 | @300 - - - 220 152 419 - - - 941 41.4 - 87.4 | 941 40.3 - 86.3
EVMS(L)10 19/7.5 25 75 132 | @300 - = - 220 152 419 - - g 971 42.3 g 88.3 | 971 41.2 - 87.2
EVMS(L)10 21/7.5 25 7.5 132 | @300 - - - 220 152 419 - - - 1031 | 44.1 - 90.1 | 1031 | 43.1 - 89.1
EVMS(L)10 22/11 25 1 160 | @350 - - - 259 180 440 - - - 1091 | 46.4 - 10891091 | 454 - 1079
EVMS(L)10 23/11 25 1 160 | @350 - - - 259 180 440 - - - 1121 53.1 - 1156|1121 52.1 - 1146

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

246

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMS(L)10
ERRR
e\ YUY
140
o
321
162 — o
131-1
130-2
130-1
120-3 O
245 N
128-1
135-1
2122 "
I 47
1M5-4 — | || % 54
115-1 1
120-1 [ s
43— ||| ]} T 5
[
o T
>
=
137-1 N
\ -
48— TH— \X N
6 BiNmE -/l o
\ 7 21
51
N 107
2731
751
S 2121
T~ 160

with Round flange (F)
247

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)10

with Loose round flange (LF)
with Clamp connection (C)

with Oval flange (N)

with Victaulic® connection (V)

248

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMS(L)10
MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw for coupling from from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 ISO 4762
120-11 | Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 ISO 4017
MEC 90-100-112 . M8x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 ISO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
MEC 132 . M12 UNI 5588
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L) G3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AIS| 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron
249

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)10

N°

111-3| 1114 | 111-5 | 115-1 | 115-3* | 1154 1155 | 1154 | 1155

46 | 47 |48 (52-1| 75|75-1| 107 | 111

15
17
19
19
23
25
27
31

33
37
39
39

32-1(43-2|43-3|44-1| 457

1
1
1
1
1
1
1
1
1
1
1

1

1

(1|6

119

11101
1f(1f11(1
1(1(12f1
1(1(14(1
1(1(15(1
11|16 1
1(1)18|1
11191
11211
1(1)22|1
1(1(23(1

1

1
1
1
1
1
1
1
1
1
1
1
1

2
2

2

11
12
13
15
16
18
19
19

N°

1
1
1
1

4151|52|53|54(6|7|21|31

1
1
1
1
1
1
1
1

1
1
1
1
1
1

1
1
1

120-1{120-3| 120-6 [120-11*120-13(128-1| 128-3 | 128-5| 128-6 | 130-1 | 130-2 | 131-1 [ 135-1 | 135-6 [137-1|140| 160 | 162 | 212 |212-1|212-2| 219* | 245 |273-1|615**

4

4

4
4
4
4
4
4
4
4
4
4
4

Pump Type

EVMS(L)10 2/0.75
EVMS(L)10 3/1.5

EVMS(L)10 4/2.2

EVMS(L)10 5/2.2
EVMS(L)10 6/2.2

EVMS(L)10 7/3.0

EVMS(L)10 8/3.0

EVMS(L)10 9/4.0

EVMS(L)10 10/4.0

EVMS(L)10 11/4.0

EVMS(L)10 12/5.5

EVMS(L)10 14/5.5

EVMS(L)10 15/5.5

EVMS(L)10 16/7.5

EVMS(L)10 18/7.5

EVMS(L)10 19/7.5

EVMS(L)10 21/7.5

EVMS(L)10 22/11

EVMS(L)10 23/11

Pump Type

EVMS(L)10 2/0.75
EVMS(L)10 3/1.5

EVMS(L)10 4/2.2

EVMS(L)10 5/2.2

EVMS(L)10 6/2.2

EVMS(L)10 7/3.0

EVMS(L)10 8/3.0

EVMS(L)10 9/4.0

EVMS(L)10 10/4.0

EVMS(L)10 11/4.0

EVMS(L)10 12/5.5

EVMS(L)10 14/5.5

EVMS(L)10 15/5.5

EVMS(L)10 16/7.5

EVMS(L)10 18/7.5

EVMS(L)10 19/7.5

EVMS(L)10 21/7.5

EVMS(L)10 22/11

EVMS(L)10 23/11

* only for Oval flange (N)

** only for Loose round flange (LF)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

250

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]
24

20+

0.8 —

0.4 —

P2

280

[m]

240

200

160

120

80

40

PERFORMANCE CURVE

kW]
032
024

NPSH 4

(m]

251

EVMSG10
0 USgpm. 10 20 30 40 50 60 70
I I T I T I T I I I I I T
0 Imp.g.p.m. 10 20 30 40 50 60
— 900
H
¥=23‘/ 11 .“ — i
22/1 kw=— e— - 80
==21/7.5 kxwv— — T \:\\\
— §
| \\\:\>\\ - 700
—— 9{7.5 W~ — | \\\\‘\
——18/75w— — o - N
y N
\\\\\\\ O\ - 600
 —16/75k—| — , AN
T — T~
——1 5/:55 k:w— — i \Q\‘ \\\\\
—
——14/55 w— — e \\\\\ \\:\ 500
\\\\\ \ \\ \\\\\\
—=—12/55kw — ™ \\\ \\\\ \\\\
11}4.0 P : — ~— ™~ ~ N \\\\\\\\\ - 400
} ~
- 0/\4-0 k\W- - — ] ‘\\\‘\ \\\\\\\\\\\
} -
——09/. f'o k\‘N— p— — 5 ‘\\\ \\ \\\\\\\\\\\
——8/3.0kw—|— — e — N N\ — 300
I ! ™~ e \\\
R et — TN
— -—6/;2.2 k\%v— —_— —— ~~ \\\ \\\ | 200
— —5/22wW—|—— — T~ ‘\\\ \>\ NG
— ~ ~N
— -—4/‘2.2 k\‘/v— el — \\\\‘ \\\\\Qé
~—
——3/15wW—|——— T 100
P— —
= —2/0.75 kW— —|— — —} —— \:\
— —
0
0 40 80 120 160 200 240 Q [fmin]
[ I T I I I I T I 3
0 2 4 6 8 10 12 14 16 Q[mh]
80
— n
i T—
— 60 %
—— n% ~ [%]
//’ m
//’
4 SINGLE IMPELLER kW
l | [ l 20
0 40 80 120 160 200 240 Q [fmin]
NPSH
— 10 If
=5
0
0 40 80 120 160 200 240 Q [fmin]

Rotation speed 2900 min*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMSG10

Oval flange (N) DIN Round flange (F) - DN40
c c
1 1B . 18
o 2
N &
S Kl
A | cam A | os
ES 2 holes M12 £ 4 holes 218
_
X e A e | LapHiae T
i HEZ[E ﬁ]& @ e ) @@ ngfg% [} / v
I Ut H , Gl R 52U
%_ 4holes 912 Jz%)s_ & ‘ﬂj 2 4 holes 912 m 2110 &
20 250 190 ‘ 215
280 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
pmax | KW Size A H2 | Pump  Motor | o | pymp  Motor
Pump Type [MPa] B C H3| B C H3 1~ 3~ 1~ 3-
EVMSG10 2/0.75 1.6 |075| 80 |@120| 160 151 232 | 141 102 233 | 343 | 216 | 33 30.1| 343 | 243 |357 328
EVMSGL10 3/1.5 16 | 15| 90 |e140| 172 140 278 | 160 119 201 | 383 | 225 |403 36 | 383 | 253 [43.1 388
EVMSGL10 4/2.2 16 | 22| 9 |e140| 172 140 278 | 160 119 291 | 413 | 233 |428 383 | 413 | 26 |455 41
EVMSG10 5/2.2 1.6 |22 90 |e140| 172 140 278 | 160 119 291 | 443 | 242 [437 39.2| 443 | 269 |464 419
EVMSGL10 6/2.2 16 |22| 9 |e140| 172 140 278 | 160 119 201 | 473 | 25 |445 40 | 473 | 27.7 |472 427
EVMSGL10 7/3.0 16 [30]| 100 |e160 | - - - | 176 123 342 | 513 | 26 - 48 | 513 | 287 - 507
EVMSG10 8/3.0 1.6 |30 100 |@160| - - - | 176 123 342 | 543 | 26.8 - 488 543 | 295 - 515
EVMSGL10 9/4.0 16 | 40| 112 |o160 [ - - - | 193 138 364 | 573 | 27.7 - 56.2| 573 | 30.4 - 589
EVMSGL10 10/4.0 16 | 40| 112 |o160 | - : - | 103 138 364 | 603 | 285 - 57 | 603 | 312 - 597
EVMSG10 11/4.0 16 | 40| 112 |o160 | - - - | 193 138 364 | 633 | 30.1 - 586 633 | 329 - 614
EVMSGL10 12/5.5 16 |55| 132 |@300 | - - - | 220 152 399 | 761 | 39.9 - 789 761 | 427 - 817
EVMSGL10 14/5.5 16 |55| 132 |@300 | - . - | 220 152 399 | 821 | 418 - 808 821 | 445 - 835
EVMSG10 15/5.5 16 |55| 132 |@300 | - - - | 220 152 399 | 851 | 427 - 817 851 | 454 - 844
EVMSG10 16/7.5 25 | 75| 132 |@300| - - - | 220 152 419 | - - - - | 881 | 463 - 923
EVMSGL10 18/7.5 25 | 75| 132 |@300 | - . - | 220 152 419 | - - . - | 941 | 477 - 937
EVMSG10 19/7.5 25 | 75| 132 |@300| - - - | 220 152 419 | - - - - | o7 | 491 - 951
EVMSG10 21/7.5 25 | 75| 132 |@300 | - - - | 220 152 419 | - - - - | 1031| 509 - 9.9
EVMSG10 22/11 25 11 | 160 |@350 | - - - | 259 180 440 | - - - - | 1001 532 - us7
EVMSG10 23/11 25 11 | 160 | @350 | - - - | 259 180 440 | - . . - | 1121 599 - 1224

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

252

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG10

/\/% ora
Y
i
140
o
32-1
162 — 5
131-1 212
130-2 75
130-1
11-4
120-3
A 111-3
245 A
M) ‘ 115-5
128-1
111-5
135-1
111
212-2
46
N 47
1154 —— | ] 0
- L 5-4
115-1
J B I R
120-1
| 52
32— | ||| T 1]
- R
433 T
T 44
52-1 ]
137-1
— ZENES)
48— T | ]
6 I “ | | 31
\ ] 21
L ||
% 5-1
Q 107
é 75-1
@ 273-1
S 2121

with Round flange (F)
253

EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

PIPE CONNECTION
EVMSG10

117
120-11
219

with Oval flange (N)

254
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG10
N° PART NAME Mé\-l;:a';lé\" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250EN1551
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6 Screw for coupling from 5.5 kw to 7.5 kW Galvanized steel M8x20 ISO 4762
above 11 kW M10x30 ISO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 IS0 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 ISO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)

255

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG10

N°

52-1( 75| 751|107 | 111 |111-3|111-4|111-5 [115-1| 1154|1155 | 1154|1155

13
15
17
19
19
23
25
27

31

33
37
39
39

1

1
1
1
1
1
1
1
1
1
1
1
1
1

1(1]9

1{1]|10
1(1|11
1{1])12

1{1]|16
11|18
11|19

11|22
1{1]|23

1(1(1]|5

1(1(1]|8

1
1
1
1

1(1(1]14
1)1|1(15

1
1
1

111|121

1
1

1

1

2
2
2
2

2
2

11
12
13
15
16
18
19
19

4151|52|53|54(6|7|21| 31 [32-1(43-2|43-3|44-1| 46 | 47 | 48

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

EVMSG10 2/0.75
EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSG10 6/2.2

EVMSG10 7/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0
EVMSG10 11/4.0

EVMSG10 12/5.5

EVMSG10 14/5.5

EVMSG10 15/5.5

EVMSG10 16/7.5

EVMSG10 18/7.5

EVMSG10 19/7.5

EVMSG10 21/7.5

EVMSG10 22/11

EVMSG10 23/11

N°

117* {120-1| 120-3 | 1206 (120-11*120-13 | 128-1 | 128-3 | 128-6 | 130-1 | 130-2 | 131-1| 135-1 | 1356 |137-1| 140 | 162 | 212 | 212-1|212-2| 219* | 245 (273-1

2

/

/
/

Pump Type

EVMSG10 2/0.75

EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSG10 6/2.2

EVMSG10 7/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0

EVMSG10 11/4.0

EVMSG10 12/5.5

EVMSG10 14/5.5

EVMSG10 15/5.5

EVMSG10 16/7.5

EVMSG10 18/7.5

EVMSG10 19/7.5

EVMSG10 21/7.5

EVMSG10 22/11

EVMSG10 23/11

* only for Oval flange (N)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

256

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)15
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | I | I
I T T T T T T T T T T 1
0 Impgpm. 20 30 40 50 60 70 80 90 100 110
280
- 900
p H
[MPa] (m] H
= [ft]
2.4 -
20 17/15kw - 800
*\
= \\\
15/15kw— _| _ S~ L 700
209 a0 — ~
o ~N
~ 13/ TT~— N
e ~~ AN - 600
T2 |~ ~
ERENCE S 11/L1 T | T N \\
KW— __
T T e T~ NN 500
I~ T10/11 w— —_ ~— \\ N \
‘ ~— ~—~—— N \
=T = — — T~ \\\\ \\
129 4y | —= B \\\\‘\ - 400
I T8/75kwi— —_ _| -
i —F ——— \\ \\‘
=775 W—— i L AN
‘ \\\ \\‘ \‘\‘ 300
e A, —
0.8 — 80 6/5{5 v B B . ) \\\ \\\
— —5/55kmW—— —_— — \\:
== 4/4‘ 0 I ~— - 200
T OKWT— — — — e —
} ' i
—
04— 40 +— 3/3‘.0 W ——— —L e ——
—— ~~{
— S — — 100
2/2‘.2 KW } —
T
——111w——— — —} ]
| —
0- 0 0
0 100 200 300 400 Q [Vfmin]
T T T T T T T T T T T T T T T s
0 2 4 6 8 10 12 14 16 18 0 2 U % 28 Qmh
1 80
P2 jp— n
| —
kW] 10 — — n% 60 [%]
06 — 40
SINGLE IMPELLER kW
02 I B T — I 20
0 100 200 300 400 Q [Vfmin]
NPSH 8 NPSH
m 1 2 qm
4
—T =10
0 0
0 100 200 300 400 Q [Vmin]

Rotation speed =2900 min*
Test standard: ISO 9906:2012 - Grade 3B

257
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS 50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMS(L)15

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
c
4 holes @18
—-
.74_.*3 (AW
1 e ) G38
2 —r« Igj% s é/é/ |
o SN AR
: I
I 22 4 holes @12 @125 <
215
A | G3s 250
ﬁ
E ==l
| DIN Round flange (F) - DN50 Clamp connection (C)
I
4holes 18
ES | 2 holes M12 oles
1 -
I I I
I —— o G358
I I, G3i8 <3 3|8 ; P
<« I & <183 s ::& ]
— - 21
o Geef=ls -~ — =
‘ 4 holes 912
130 4 holes @12 < 22 A4holes 012 2125 <
190 215
200 ‘ 250 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kw Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)15 1/1.1 1.6 11| 8 |[@120| 160 151 232 | 141 102 244 | 377 18 [29.8 28 | 377 | 188 [306 288 | 377 | 169 |287 269
EVMS(L)15 2/2.2 1.6 22| 90 |e140| 172 140 278 | 160 119 291 | 387 | 183 |37.8 333| 387 | 19.1 [38.6 341 387 | 172 |36.7 322
EVMS(L)15 3/3.0 1.6 30| 100 |g160| - - - | 176 123 342 | 437 | 196 - 416|437 | 204 - 424|437 | 185 - 405
EVMS(L)15 4/4.0 1.6 | 40| 112 |@160 | - - - | 193 138 364 | 477 | 208 - 493 477 | 216 - 501 477 | 19.7 - 482
EVMS(L)15 5/5.5 1.6 55| 132 [@300| - p - | 220 152 399 | 614 | 305 - 695|614 | 313 - 703 614 | 29.4 - 684
EVMS(L)15 6/5.5 1.6 55| 132 [@300| - - - | 220 152 399 | 654 | 317 - 707|654 | 325 - 715 654 | 30.6 - 69.6
EVMS(L)15 7/7.5 1.6 75| 132 [@300| - - - | 220 152 419 | 694 | 339 - 799 694 | 347 - 807|694 | 32.8 - 788
EVMS(L)15 8/7.5 1.6 75| 132 [@300| - p - | 220 152 419 | 734 | 352 - 812 734 36 - 82 | 734 | 341 - 801
EVMS(L)15 9/11 1.6 11 | 160 |@350 | - - - | 259 180 440 | 804 | 365 - 99 | 804 | 37.3 - 998|804 | 354 - 979
EVMS(L)15 10/11 1.6 11 | 160 |@350 | - - - | 259 180 440 | 844 | 37.8 - 100.3| 844 | 386 - 101.1| 844 | 36.7 - 992
EVMS(L)15 11/11 1.6 11 | 160 |@350 | - - - | 259 180 440 | 884 | 458 - 108.3| 884 | 46.6 - 109.1| 884 | 44.7 - 1072
EVMS(L)15 12/11 25 11 | 160 |@350 | - - - | 259 180 440 | - - - | 924 | 479 - 1104| 924 | 46 - 1085
EVMS(L)15 13/11 25 1 160 @350 = N N 259 180 440 - - N N 964 49.2 N 111.7 | 964 47.3 - 109.8
EVMS(L)15 15/15 25 15 | 160M | @350 | - - - | 317 238 498 | - - - - | 1044 | 518 - 1407|1044 | 49.9 - 1388
EVMS(L)15 17/15 25 15 | 160M | @350 | - - - | 317 238 498 | - - - - | 1124 | 547 - 1436|1124 | 52.8 - 1417

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

258
EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)15

120-13

with Round flange (F)

259
EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

il

- 7

Wi m\\k.} \M\\\
)=

pd
o
— 28
O
2o
g2
@]
O3
L
o
o

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection(V)

260

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)15
MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kW M6x25 I1ISO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 ISO 4762
above 11 kW M10x30 I1SO 4762
120-11 | Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 ISO 4017
MEC 90-100-112 ) M8x20 I1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 ISO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
MEC 132 . M12 UNI 5588
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1ISO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kw Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel
261

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)15

=
%
Mlllllllllllllll Olaja|a|afajafojalofoalofoa]ofolo
©
<
A H | A A A A A A A A | A | 3222222222222222
2
%22222222222//// MZ22222222222222
by &
%222222222222222 RIRIRIBIRINI RN IR e
1s) o
.ﬂl__lllllllllllllll N A A A A A A A | A A
&
5 e
gl = ] ] Nlafafafafaloala|afofoafo]o]o]|ofo
&
@
m111111111111111 mlllllllllllllll
o
m111111111111111 m111111111111111
5 o|lgd|la|m|w|~ Blalalalalalalalalalalalalala]a
S||n|o|t|w|of~|o|o[SIY|3[2(S 9
= lala|alala|a|alala|o]ala]o]o]w
O lo|la|afoa|o|afoa|o|afo]o|ofo]o]o k)
~ b
T} Nla|ld|d| A || A A A A A A | A A ]| A | =
7111111111111111 B
g S
Q||| a|afafo]|a]a|a]o s sl |~[~|~|~|~|~|~|~|~[~]~
3 4
%111111111111111 -
L A R A A A R R
o F|a||a| A A A A A A Af A ] o
z Z o
%222222222222222 mlllllllllllllll
Elw|<|w|v|v|s]<|s|v|v]||<]c|v]|~ Y
Q Qlvl~v|s|~|s|v|v|s]| x|~~~
<
=
%111111222222223 b
Qlofo|o|o|o|o|o|o|o[o|o|o|o]|o|o
© <
R ] il e e e e B A e e e A A -
m4444//lll/l////
m111111222222223
[
@ Qlw|<|w| || c|v|<|e|<|c|c]|]|x]|~
@111111222222222 u
~ ™
ﬁ1135799nﬂﬁﬂmﬂ%ﬂ m////44444444444
1_. Al A | A A | A | H | A hri
A A A A A A A -
] NIBARARARARARARERARARARARARARAN
F =
o ||| A A A A A A A A A A A A B
@ SINANAARIAINANANEIRIRININI AR
— O|ld|[N|[M|W|[r~
dd|fn|oft|w|o|l~olo|S(d[YN]|2R|5 —
¥
R e e e e N R e N N e ] g
Sl ~]|~]|~|~
O |HA | A | A | A A | A | A A | A A A [ A | A | A | A u
Mlllllllllllllll m
sl ||| |||
M111111222222223
e
Y <[=[ala]w[<]<]w]o][~]=]]a]z]a 2444444444444444
= =
A A | A A A A A A A A | A | L)
I SINANARARARARIRARIRIRARIRIRIRAE
<t ||| A | A A | A A A A A A A A | A [ L
Ald A A |[WO [0
— |l |w|wn dlNje|e(w(w|wn|w o Sld|d| g
dldiele|elelele|gl2 2|22 2|2 HNEEHNENNE R EREEIE
o [Z1912(F1L|L(X|3|S|s|a|q|a|w|= e |[F|S|d|F|D|S|R[S|S|=|F| ||
PST Bl I T I ol el I Bl Bl Il Il Il Il Bl I S |wlw|lvw|lv[vlv|lv|[v|lv|v|[wv|v|wv|w|w
T [w|lw|vlw|w|v|[w|w|wv|[w|w|w|[w|w|w N I R B R R B B R R R B B R
a (222222222222 2|22 IS slalo|la|lalalalalalolalalalala
E |2(2(2(2(2|2|2|2|2|2|2(2(Q(Q|Q PR = =N [N I3 = =3 I3 [ = I3 = [ I3 |
S|lZ|Izlslz|z|1212|2|12|12|2|12|122 5
o S S S S S S S S S S B S e . |ddo|o|odddddddd da
L|L|L|bh|b|L|b|b|L|D|D|L|D|d|d

* only for Oval flange (N)

** only for Loose round flange (LF)

w[_] shaft in EN 1.4462 (AISI 3294)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

262

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG15
0 USgpm 20 30 4 50 60 70 80 90 100 10 120 130
| ! ! | | ! | ! | | | ! | !
I T T T T T T T T T T 1
0 Impgpm. 20 30 40 50 60 70 80 90 100 110
280
- 900
p H
[MPa] [m] H
= [ft]
24— -
20 17/15kw - 800
*\
= \\\
15/15kw | S~ L 700
—
209 0 — ~
o~ ~N
1y T~ ™\
e ~~ AN - 600
= 12hw— | — ~
16 160 = 11/\11 T — ~— \\ \\
KW— __
R NN - 0
I~ T10/11 w— —_ ~— \\ N \
T —
= 9/1‘ 1 B D\
W—— | — ~ N D
129 1 | L ~— [\ \‘\ h L 400
[~ T8lrsw—— | M \\
‘ T — \\ \ b
=775 W—— i L AN
‘ \\\ \\‘ \‘\‘ 300
e . —
vl g O T — — \Q
——
— —5/55kW— — - e — \\ \\\
—— 4/4‘ 0 I — ~ - 200
I OKW— — — — —
} v —~——
—
0.4 — 40 +— 3/3‘.0 W ——— —L e ——
—— ~—
= —2/22w—— — — —} e 100
| ]
——111w——— — —} ]
| —
0— 0 0
0 100 200 300 400 Q{limin]
T T T T T T T T T T T T T T T s
0 2 4 6 8 10 12 14 16 18 20 2 24 2 28 Q[mih
1 80
P2 jp— n
T—
// 0,
kW] 10 — Yo 60 [%
[ —— n% %]
e
06 — — 40
ISIN(‘BLE I‘MPE‘LLEI‘? le
02 , , 20
0 100 200 300 400 Q{limin]
NPSH 8 NPSH
m 1 2 qm
4
—T =10
0 0
0 100 200 300 400 Q{lfmin]

Rotation speed #2900 min*
Test standard: ISO 9906:2012 - Grade 3B

263
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

TECHNICAL DATA
EVMSG15

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN50
C C
et E
o« o«
2 £
© Nid
¢ &
A | 3B A | o3
e VR
| : —
! o
I 2 holes M12 T 4 holes @18
I I 7 I
M \ | 638 = S — bl
. | I A =] e o = G
* e ii=ls Y% = H=1g2[8 Ttk
8l E‘ t 7 g[ L[ H=—=1e s ik /‘“ﬁ‘
| gimjli Ml
130 | Ardesot2 | 10| || R Lo || 2 aresora || |oras) || &
190 215 —
200 250 190 215
= 300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
kW  Size A H2 | Pump Motor H2 | Pump Motor
Pmax
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~
EVMSG15 1/1.1 1.6 11| 80 |@120| 160 151 232 | 141 102 244 | 377 | 224 |[342 324 377 | 269 |[387 369
EVMSG15 2/2.2 1.6 22| 90 |@140 | 172 140 278 | 160 119 291 | 387 | 22.6 |421 37.6| 387 | 272 |46.7 422
EVMSG15 3/3.0 1.6 30| 100 |e160 | - - - 176 123 342 | 437 24 - 46 | 437 | 285 - 505
EVMSG15 4/4.0 1.6 40| 112 |g160 | - - - 193 138 364 | 477 | 252 - 537 | 477 | 297 - 582
EVMSG15 5/5.5 1.6 55 132 | @300 - - - 220 152 399 | 614 34.9 - 73.9 | 614 39.5 - 78.5
EVMSG15 6/5.5 16 55| 132 |@300 | - - - 220 152 399 | 654 | 36.1 - 751 654 | 407 - 797
EVMSG15 7/7.5 1.6 75| 132 | @300 | - - - 220 152 419 | 694 | 38.3 - 843 694 | 429 - 889
EVMSG15 8/7.5 1.6 75| 132 | @300 | - - - 220 152 419 | 734 | 396 - 856 734 | 442 - 902
EVMSG15 9/11 1.6 11 | 160 | @350 | - - - 259 180 440 | 804 | 40.9 - 103.4| 804 | 455 - 108
EVMSG15 10/11 1.6 11 | 160 |@350 | - - - 259 180 440 | 844 | 422 - 104.7| 844 | 46.8 - 1093
EVMSG15 11/11 1.6 11 | 160 |@350 | - - - 259 180 440 | 884 | 50.2 - 112.7| 884 | 54.7 - 1172
EVMSG15 12/11 2.5 11 | 160 | @350 | - - - 259 180 440 - - - - | 924 56 - 1185
EVMSG15 13/11 2.5 11 | 160 |@350 | - - - 259 180 440 - - - - | 964 | 57.3 - 1198
EVMSG15 15/15 2.5 15 | 160 M | @350 | - - - 317 238 498 - - - - | 1044 | 599 - 14838
EVMSG15 17/15 2.5 15 | 160M | @350 | - - - 317 238 498 - - - - | 1124 | 628 - 1517

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

264

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG15

NS

S

7

with Round flange (F)

265

, N
ST
"\, 75

120-13

120-6
128-3

212

111-4
111-3
115-5
111-5

273-1
212-1

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

PIPE CONNECTION
EVMSG15

117
120-11
219

with Oval flange (N)

266
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG15
N° PART NAME Mé\-I/—I\E/lZIéL DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

111 Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150

117 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kw M6x25 ISO 4762

120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1SO 4762
above 11 kW M10x30 ISO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 ISO 4017

120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 SO 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838

135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

212-1 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

273-1 Plug Washer EN 1.4301 (AISI 304)

267

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG15

—
% O |||~
ulllllllllllllll ﬂ
m‘l.llllllllllllll m222222222222222
i &
m222222222222222 ﬂ22222222222/lll
o Q
m1llllllllllllll Hlllllllllllllll

1N
4111111111111111 1_.
m_ N ||| ST ]
N
@
Mlllllllllllllll
mlllllllllllllll
m1llllllllllllll
Mlllllllllllllll
~
m123456789m.uﬂﬂﬁﬂ
m222222222222222
—
ERARERARAR AR AR AR AR AR AR AR AR AR AN =
(Y
T/_v111111111111111
e e e e e e e e el e e e e e bl
_ o= === === |<|<|<]<|<|~
N R R Bl Bl B B S S A S A S A S A A R —
sl
—
=l N T RV RN I N I N I D R I N I Blw|v|s|s|v|v|s|s|v|v|s|~]v|~|~
1
R I I I S R e R —
° oMlllllllllllllll
Z Qla|a|a|afa|a|afofo]ofofo]ofo|o z
o
- m&444444444444444
M111111222222223 -
—
m1ll/ll/lll/ll/l w333333333333333
—
m111111222222223 %4444///////////
S
—
@
%111111222222222 n4_u
Q=== [=|s| ||| x| |||~
N dlo|w|~|o|o|w|~ =
%113579911111222 l
= Qlw|v|s|v|v|v|~|~|v|v|s|~]|v|~|~
NI I I I I I I I I R R R B R Bl —
%) ™
3
% FERARAR AR AR AR AR AR AR AR AR AR AR AN
1111111111111111 N
“ —
— olgla|m|w|~ g
"Nt |0O]|]O|~|0|
A Al Ball Kall Bl Rul Ral B A A N I S S Y N I R B B B
~NlH|lH| A A A A A A A A A A A A A
O |HA | A | A | A A | A | A A | A A A [ A | A | A | A
AR A A A e A R A N
Mlllllllllllllll —
[
M111111222222223 m444444444444444
—
D~~~ |~|o|v|[v|w]|o[~|o|ao|S[N[2 b
m444444444444444
Hlllllllllllllll
«
<t | HA|lA|A| A Al Al A A | A | A A | A A A | A —1/.22222222222////
=
“dlan|olo|lw|w|w|w dlaldlgd|lL|y

o |did|g|f|Y|g|xicid|sS|g(q|a|s|s RN EHEHEHREEEEIEEIEE
o |J|Q|(d|F|(v|o|R|S|5|a|d|=|[=|=]= o |dld|o|s|le|lv|s|=|(2|S|SSISISIR
P |a|alalalalglslglalglelg)sls|n HNMHEENHEEEEEEE
= RCA R ECH KoY ROR R O] ROY RCR ROH ROU ROY RCRROR Y] A I I R I R R I I B R R L

(<N NCR NOR RORROR NOR NOR ROR RO NOR RORROR NOR NOR ROR RO

MMMMMMMMMMMMMMMM e |Qlo|o(a|lo|ale|la|la(ala|a(lala|n

PWWWWWWWWWWWWWWW =R = = = I3 = I3 [ b= I =3 -3 I3 [ [ I
[ I 2 P P P I D D I I I I I
wiuwlwjlwlwjwjwlwjw|lw|w|jw|w|w|jw

* only for Oval flange (N)

wer [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

268

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)20
0 USgpm. 20 30 40 50 60 70 80 90 100 10 120 130
| | ! ! ! ! | ! ! ! ! ! | !
T T T T T T T T T T T 1
0 Impgpm. 20 30 40 50 60 70 80 90 100 10
280
900
T
p 16/18.5 kw
[WPa SRR RRRE=RNAN H
| | 15/185 ~ [ft]
249 L i ~~ I~ 800
DT T F—— L] ~—
14185 kW _- = T ——_
= ! ! | ! Tt — R ~ -
"13/15 kW T T~ SN - 700
2.0 - 200 = ‘ ‘ | ‘ T T \\\ \\‘
12/15 kw L ~___ ~_ N
— - <
=1 1/‘ H ~ T~ ™~ O\ - 600
‘15|'<W\ — ~ O\
T — L B ~ N\
169 160 B '1f/j1ikw\\ ~—_ ~—_ \\‘ :\\
- ~——_] ~ N
L - N -
9/ 11w — ~ N \\ 500
T — | T — N e N\
) Tl O\
TTRWe—e S S —~—— ‘\\ N\ \ N\
124 420 | i — NN N\ - 400
T T — | T —— S~ NN N
n T T NN
6/75 'l‘W‘~— ] T —— ~N NN\ 200
L g L
C — ~ N
0.8 4 80 [~ —5/75kw= - T T—— - ~~ ™N \\
‘ | IR T~ SN N
—T4hs5w—— L | | oT—— ‘\\\ N\
o — ~_ — 200
3/ o T ——— T~ ™
4.0 —— ]
o T T
04 40 1 —_ <
. __2/3.0 KW——/ — —— | — 1 B ~ 100
T—
| T T—— B
— 1A sw————— |
[
0 0 | = 0
0 50 100 150 200 250 300 350 400 450 Q [limin]
T T T T T T T T T T T T T T T 1
0 2 4 6 8 10 12 14 16 18 20 22 24 2 28 Qmi]
18 80
P2 — = n
kW 14 — T 60 (%]
: - no/‘) o
10 R — — 40
SINGLE IMPELLER kW
06 i L L L L i L L L L i 20
0 50 100 150 200 250 300 350 400 450 Q [limin]
NPSH 0 3 NPSH
(m] — o M
5 p—
10
0 0
0 50 100 150 200 250 300 350 400 450 Q [limin]
Rotation speed #2900 min*
Test standard: 1SO 9906:2012 - Grade 3B
269

EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)20

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
C
4 holes @18
——e 1] | \1@ .
o~ | 1= | |
B i = ; G38
. i R LT () S
pu s [=1 [l ? il A
© m] 7 H A 1J
hd ] ‘ 130 22 4 holes @12 m 2125 8[
190 215
A | | G 300 250
DIN Round flange (F) - DN50
s 2 holes M12 4 holes 918
.
I I
£ I o —r—
638 | e ‘ ST |8 ’ =
- :[«‘iu g7 i <=l “Si% S ﬁﬁ hallh
Sl oads YO m] =
‘ T 4 holes @12
130 4 holes 212 130 22 4 holes @12
190 190
200 ‘ 250 300 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
1~ 3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~ 1~ 3~
EVMS(L)20 1/1.5 1.6 15| 90 |@140| 172 140 278 | 160 119 291 | 387 | 182 | 36 317 | 387 20 |[37.8 335|3870 | 171 |349 306
EVMS(L)20 2/3.0 1.6 3.0 | 100 | @160 - - 176 123 342 | 397 | 183 - 403|397 | 191 - 4111|3970 | 172 - 392
EVMS(L)20 3/4.0 1.6 40 | 112 | @160 | - - - 193 138 364 | 437 | 197 - 48.2| 437 | 205 - 49 | 4365 | 186 - 471
EVMS(L)20 4/5.5 1.6 55| 132 |@300| - - - 220 152 399 | 574 | 25.6 - 64.6| 574 | 264 - 6854|5742 | 245 - 635
EVMS(L)20 5/7.5 1.6 75| 132 | @300 | - - - 220 152 419 | 614 | 26.9 - 729 614 | 277 - 73.7|6142| 258 - 718
EVMS(L)20 6/7.5 1.6 75| 132 |@300| - - - 220 152 419 | 654 | 28.1 - 741 654 | 289 - 749 654.2 27 - 73
EVMS(L)20 7/11 1.6 1 | 160 | @350 | - - - 259 180 440 | 724 | 304 - 929 724 | 312 - 93.7| 7240 | 293 - 918
EVMS(L)20 8/11 1.6 11 | 160 |@350 | - - - 259 180 440 | 764 | 422 - 104.7| 764 43 - 1055|7642 | 411 - 103.6
EVMS(L)20 9/11 1.6 11 | 160 |@350 | - - - 259 180 440 | 804 | 435 - 106 | 804 | 44.3 - 106.8| 8042 | 424 - 1049
EVMS(L)20 10/11 25 1 | 160 | @350 | - - - 259 180 440 - - - | 844 | 457 - 108.2| 8442 | 438 - 1063
EVMS(L)20 11/15 25 15 | 160 M | @350 | - - - 317 238 498 - - - | 884 47 - 1359|8842 | 45.1 - 134
EVMS(L)20 12/15 25 15 | 160 M | 350 | - - - 317 238 498 - - - | 924 | 483 - 137.2| 9242 | 46.4 - 1353
EVMS(L)20 13/15 25 15 | 160 M | @350 - - - 317 238 498 - - - 964 49.6 - 1385( 964.2 47.7 - 136.6
EVMS(L)20 14/18.5 25 |185| 160L | @350 | - - - 317 238 542 - - - |1004| 51 - 155 |1004.2| 49.1 - 1531
EVMS(L)20 15/18.5 25 |185| 160L | @350 - - 317 238 542 - - - | 1044 | 523 - 156.3|1044.2| 50.4 - 1544
EVMS(L)20 16/18.5 25 [185| 160L | @350 | - - - 317 238 542 - - - | 1084 | 536 - 157.6|1084.2| 51.7 - 1857

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

270

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



EVMS

120-13

N
-
NN

| bi@/
A e R R
k\%@\ I8 _

© o - ~ o]
o o © < - N~ o 7N @
¥ « «Q SNY /) = = = = = ©o ~ ¥ - = S K © < 2
T T \ \\ V2 S T 0 ® N WL - N NN -

EVMS(L)20

TTTVY

SECTIONAL VIEW

PSP §P W §Y W

y788

VERTICAL MULTISTAGE PUMPS

50Hz

130-2
130-1
120-3
245
128-1
135-1
212-2
115-4
115-1
43-6

137-1

= EaaraA

with Round flange (F)

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

EBARA Pumps Europe

271



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

il

- 7

Wi m\\k.} \M\\\
)=

pd
o
— 28
O
2o
g2
@]
O3
L
o
o

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection (V)

272

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)20
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-3 O-Ring EPDM
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kW M6x25 ISO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 I1SO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 I1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 ISO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
MEC 132 X M12 UNI 5588
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L)
615 Flange Carbon Steel
273

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)20

0 ¥
¥
mllllllllllllllll ||| o]|ofo]o]|ofo]o]o
©
—
Wllllllllllllllll B2222222222222222
o~
Blalalalaflafa|ofoa|a]<~]<[~|~|~[~ %2222222222222222
i &
%2222222222222222 I E R B R B B R B Bl Al Al il Al il il il
0 o
m1111111111111111 m.l.lllllllllllllll
¥ e
W_llllllllllllllll m2222222222222222
Y S
m1111111111111111 21111111111111111
o
m_llllllllllllllll - Bal Ball Aall Bl Bl Rall Bl Bl Sall Bl Rall Bl Ball Rall Rl el
5 old|an|o|<|w|o ||| || A==
S o|N|o|v|w|o|~|e|eo|S|d|H|33]2]S m
—
NI IR R I I I R T A R Y m2222222222222222
= —
L e R e e e e e e T R R R ] A Bl Bal Bad Bl Bal Bal Bal Bal Bal Bal Bal Bl Bal Bal Bal Bl
i
—
R Rl Rl Bl Bl Bl Rl S A S S K A S S KSR KSR K M
] el e e e e N N e e e e N S e B
i
%1111111111111111 =
%4444444444444444
onﬂllllllllllllllll 01
=z P —
%2222222222222222 allllllllllllllll
i
W4444444444444444 o
Qv s|s|v||c|v|v| |||~
= i
%1111112222222222 —
W3333333333333333
m1/////////////// Al
- << << [<[=[=[<]<[<[<]=]<]<]-
“1111112222222222 u
- )
%_1111112222222222 m4444444444444444
Vlalalwlowlclololdo|v|~s|o|a|o|w|~ %
@ AlA|d|ald|lN|q QN W_///4444444444444
—
NI R R R R R R B R R R B R B R Bl Bl b
sl EEARARARARARARARARAR AR AR ARARARARAN
—
w.llllllllllllllll o
1%} <4
SERARARARARARAR AR AR AR AR IR AR AR AR AR
RN BBEBBEEINEEEE §
=
~NlH A A A | A A A A A A A A A A A n
S|t~ ~[~~|~|~|~
O |dA| A | A A A | A A A | A A A | A A [ A | | A u
Mllllllllllllllll
AR AR AR R AR A R AR R A A A
%1111112222222222
(2]
M//1234456789muﬁm m4444444444444444
—
M1111111111111111 by
SIRARARARARAGARARIRARIGIRAGIRARANS
<t | HA|A|A| A | A | A A A A A A A A A | A |~ -
b A v w| W
“J|w|w|w|wx|w|o
w|lo|lo|w|w|w 1992922 R(% wvle|eivivlglqg|lg|d|ld|d(d|a|d|2
dlo|sle|s|2|2 2 2|S|SIFISITFIFE dielsle|x|x|d|d|SD|s|g|s|a|F|v|e
dieIF|Ielx(x(dF|S|c|ala|alT|v|e o [SIJ3|F|FInlal=IzsE
o |S|3lsIFIsIcI=lssISI2S(33198 SN |G|F|B|S|R|[DB|S|a|A| |||
o S |o|lo|lo|lolololololololo|lelelalele
S |olololololelololelolelolelele]le > [RIRIRIRIRIRIRIRIRIRIRIRIRIRIRIR
= BYEY BN Y ESY Y ESYBSY PRE BSY B Y B BN PN BN = o Bl Bl Byl Byl Bl Byl Bl Bl Ryl ] Rl Rl Bl el Ry
o 2222222222 2(2|2]2|2|2 s |Fliglsisississszssssss
g |9|0|0|0|0|D|0|0|D|0|0|D|D|D|D|D mmmmmmmmmmmmmmmmm
S 2222222222122 (212|12]2 uVVVVVVVVVVVVVVVV
a |=>(=2=2121=2=21=212120=20212020212]2 o |dlalalalalalalalalalalalalalald
W W)W

* only for Oval flange (N)

** only for Loose round flange (LF)

#ex [ shaft in EN 1.4462 (AISI 3294)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

274

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG20
0 USgpm 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
I T T T T T T T T T T 1
0 Imp.g.pm. 20 30 40 50 60 70 80 90 100 110
280
T
p 16/18.5 kw
[MPa] Tt H
| 150185k T — If
249 L LT = ~~ I~ 800
T T F—— | ~__
—14/18.5 kW = T ——_
T ~— - \\\ \\‘
P~ ~
13/15kw ™ T~ N - 700
209 w04= 1‘2/‘ NERNAE=EN T T~
2hsw ~___ ~_ N
- T T —— T~ ™ \
T s L T~ ] ANAN -~ 600
I ] §§§§ \\ \\ \\
16 g | 10— | ~— T~ _ :\\
B S‘J/‘ | T T S~ \ - 500
gn SN — T O\
T T I~ ™N N N
BT T T \\ N
1 — —
129 4 | - T NN \ L 400
—— —_—
7/ w— L || T — \\\\ \\ \\ \
N m— T~ NN
6/7.5w—_—__ | — ™
1 L ~~§§§§ \\\ \\ \\ | 300
—— ~
0.8 4 80 [~ —5/75kw= - T — ~~ ™N \\
T T — T N .
— "‘4/5‘.5 w—— | T —— ‘\\\ . o0
L —_— T~
3la0ww—— ~—_ ~
R | ~_ |
: T — ~
1 __2/3.0 KW—— — — — | | T — 100
- —
—
— s — = —
0- 0 | - 0
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
T T T T T T T T T T T T T T T 1
0 2 4 6 8 10 12 14 16 18 20 2 24 2 28 Qmi]
18 80
P 2 ———___—- 555\\ T]
kW] 14 = o 60 (%]
— n%
10 T = 40
SINGLE IMPELLER kW
06 i L L L L i L L L L i 20
0 50 100 150 200 250 300 350 400 450 Q [imin]
NPSH 0 3 NPSH
[m] = n M
5 p—
10
0 0
0 50 100 150 200 250 300 350 400 450 Q imin]
Rotation speed #2900 min*
Test standard: 1ISO 9906:2012 - Grade 3B
275

EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMSG20

Oval flange (N) DIN Round flange (F) - DN50
[ [
1 18 | B
|
o o
I T
<> ki
& i
A | c3s LEE w
o
T 2 holes M12 < 4 holes &18
| \ “ G38 A 2 _ | 7:\]@‘ 638
- les = ¢ £ =gl S
8l ! i g] L @}@ s s N\ /‘]F
‘ E s -
S
130 4holes 212 ||| | 100, | 130 22 4 holes @12 H ‘ 2125 &
190 215 e
200 250 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
kW  Size A H2 | Pump Motor H2 | Pump Motor
Pmax
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~
EVMSG20 1/1.5 16 15 90 2140 | 172 140 278 | 160 119 291 | 387 226 |404 36.1| 387 27.2 45 407
EVMSG20 2/3.0 16 3.0 100 | @160 - 176 123 342 | 397 227 44.7 | 397 27.3 49.3
EVMSG20 3/4.0 16 4.0 112 2160 - 193 138 364 | 437 241 52.6 | 437 28.7 57.2
EVMSG20 4/5.5 16 55 132 | 2300 - 220 152 399 | 574 30 - 69 | 574 34.6 73.6
EVMSG20 5/7.5 16 7.5 132 | @300 - 220 152 419 | 614 31.2 77.2 | 614 35.9 81.9
EVMSG20 6/7.5 16 75 132 | @300 - 220 152 419 | 654 325 78.5 | 654 37.1 83.1
EVMSG20 7/11 16 11 160 | @350 - 259 180 440 | 724 34.8 97.3 | 724 39.4 101.9
EVMSG20 8/11 16 11 160 | @350 - 259 180 440 | 764 46.6 109.1| 764 51.2 113.7
EVMSG20 9/11 16 11 160 | @350 - 259 180 440 | 804 47.9 110.4| 804 52.5 115
EVMSG20 10/11 25 1 160 | @350 - 259 180 440 - - 844 53.9 116.4
EVMSG20 11/15 2.5 15 | 160 M | @350 - 317 238 498 - - 884 55.2 144.1
EVMSG20 12/15 25 15 | 160 M | 2350 - 317 238 498 - - 924 56.5 145.4
EVMSG20 13/15 25 15 | 160 M | @350 - 317 238 498 - - 964 57.9 146.8
EVMSG20 14/18.5 2.5 18.5| 160L | @350 - 317 238 542 - - 1004 | 59.2 163.2
EVMSG20 15/18.5 25 18.5| 160L | @350 - 317 238 542 - - 1044 | 60.5 164.5
EVMSG20 16/18.5 25 18.5| 160L | 2350 - 317 238 542 - - 1084 | 61.8 165.8

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

276

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG20

NS

S

7

with Round flange (F)

277

, N
ST
"\, 75

120-13

120-6
128-3

212

111-4
111-3
115-5
111-5

273-1
212-1

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

PIPE CONNECTION
EVMSG20

117
120-11
219

with Oval flange (N)

278
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG20
N° PART NAME Mé\-I/—I\E/lZIéL DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250EN1551
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC / Carbon / EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-4 O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kw M6x25 ISO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1SO 4762
above 11 kW M10x30 ISO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 ISO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel W12 UNI 5588
MEC 160 M16 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D.5x35 UNI 4838
135-1 Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304)
) up to 4.0 kw Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)
279

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG20

—
) i
51111111111111111 n4444444444444444
4 N
m_llllllllllllllll m2222222222222222
—
mz222222222222222 w222222222l/lll//
w0 Qq
m1111111111111111 Hllllllllllllllll

1N
hA <
m_llllllllllllllll I I I O I R B R B B B B O I
N
@
m1111111111111111 m.l.lllllllllllllll
mllllllllllllllll Wllllllllllllllll
5 old|ln|m|<|w|leo
SH Rl R Rl I I R B el R S R A A m2222222222222222
H4444444444444444 N
=
Y PRI I I R I A N
el
Bllllllllllllllll m
|||~ ~[~[~|~|~|~|~|~|~|~|~]|~
— i
&1111112222222222 =
Blw|v|s|s|v|v|s|~|v|s|s|v|v|~]|~|~
wllllllllllllllll —
~ o
R Rl Bad hal Bl Bl Ral Bl Badl Bal Rl Bl Bal Rl Ball Bl B - A I e e e e e e e e S e R
=z z <
Llofnfafafa|a|a|a|o|o|ofofofo]|o]o o
%4444444444444444

— i

%1111112222222222 —
© %3333333333333333

m.«.ll//l//l//l//ll/ ~
%444/////////////

Al A A A AN N[N [N N[N N| NN H

) ©
MR R I R I R I RS R Ql~[~[~|v|v|v|s|~|v||v|v|v|~]|~]|~

—

21135799135791357 by
Q S R R N R R Qlw|~v|s|s|v|v|s|~|v||s|v|v|~]|~|~

= —

&_1111111111111111 B
S |||t ||| ||| S|

I

W.llllllllllllllll —

= g
dl|n|ofst|v]|o[~|o|lo[S|d|YN[23]19]8 m444444444l1////l

~NlH|lH | A A A A A A A A A A A A A A

O ||| afafalala|a|a|a|a|a|a]|a]a]~ M4444444444444444

—

Mllllllllllllllll )
- Qv |s|v|v|v|~|v||c|v|v|~]|~|~

51111112222222222 —

~ —
G|~~~ v|v|w|e|~|[e]|o|S|d|S|2 m4444444444444444

Hllllllllllllllll x
—”.222222222///////

<t | H | A A A | A A A A A A A A A A A -
ww| W w|w| W

—H|lw|wWlw|lo|x©|x© wlw|

wieleiwivivlglg|lq|d|d|d|d|g(D|D MR RPN EIEI EEIEIEE
o ([dIQIFI|In|xdld DS F(d|a|(FT|IB|s o |dleF|e(|x|d|d|ds|lalS|a|F|v|a
S Bl 0 Kl 8 N N ) o Bl Bl Bl Bl B B B o |S|d|®|F|v|e|r|s|a|a|I|S|2[3|2[S

olo|olo|lo|o|lo|o|o|lolololololo]le >
L B B BN BN N B A B B B B A B B B B B F O IRIRIRISISIRIRIRIRIRIRNRRNRRR
[~ NORROR NORROR ROR NOR ROR ROR NORROR ROR NOR NORROR NOR NO} [~ NORRORROR NORROR ROR NORROR ROR NOR RO ROR NORROR ROR NO)
E|212\2|2|2(2\2|2|2|2|2|2|2\2| 22| | E |2|%|2|2]%|2|2|2|2 2|2|2 2|2 2|
[ I D - P I I I I I I I I B [ I [ I - P S I I I I I I P I I I I
UL |u|b|o| ||| |D|L|D LL|L|b|o|u|o|D|D|D|L|L|o|o|D|D

* only for Oval flange (N)

#e [ shaftin EN 1.4462 (AISI 3294)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

280

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DRAWING
EVMS(.)1-3-5-10-15-20

?7 % TYPE 1
| N
- Z \/X
TYPE 2
7
r
| N
Z \/X
TYPE 3

R

J/WM/M/LB

281

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

PACKING DATA
EVMS(.)1-3-5

Pumps Pumps with motor ~1 Pumps with motor ~3
Packing Weight + Packing Packing Weight + Packing Packing Weight + Packing
Pump Type (mm] [ko] Pack (mm] [kg] Pack (mm] [kg] Pack
X Y Z |EVMS(L)| EVMSG yP X Y z EVMS(L) | EVMSG P X Y z EVMS(L) | EVMSG P
EVMS(.)1 2/0.37 385 | 400 | 385 12.3 19.3 1 385 | 400 585 20.2 27.2 1 385 400 585 18.9 25.9 1
EVMS(.)1 3/0.37 385 | 400 | 385 12.8 19.8 1 385 | 400 585 20.7 27.7 1 385 400 585 19.4 26.4 1
EVMS(.)1 4/0.37 385 | 400 | 385 13.2 20.2 1 385 | 400 | 770 21.5 28.4 1 385 | 400 | 770 20.2 27.1 1
EVMS(.)1 5/0.37 385 | 400 | 585 14.2 21.2 1 385 | 400 | 770 22.0 28.9 1 385 | 400 | 770 20.7 27.6 1
EVMS(.)1 6/0.37 385 | 400 | 585 14.6 21.6 1 385 | 400 | 770 22.4 29.3 1 385 | 400 | 770 21.1 28.0 1
EVMS()1 7/0.37 385 | 400 | 585 15.0 22.0 1 385 | 400 | 770 22.8 29.7 1 385 | 400 | 770 215 28.4 1
EVMS()1 8/0.37 385 | 400 | 585 15.5 22.5 1 385 | 400 | 770 23.3 30.2 1 385 | 400 | 770 22.0 28.9 1
EVMS(.)1 9/0.55 385 | 400 | 585 15.9 22.9 1 385 | 400 | 770 25.1 32.0 1 385 | 400 | 770 22.8 29.7 1
EVMS(.)1 10/0.55 385 | 400 | 585 16.3 23.3 1 385 | 400 | 770 25.5 32.4 1 385 | 400 | 770 23.2 30.1 1
EVMS(.)1 11/0.55 385 | 400 | 585 16.8 23.8 1 385 | 400 770 26.0 32.9 1 385 400 770 23.7 30.6 1
EVMS(.)1 12/0.55 385 | 400 | 585 17.5 245 1 385 | 400 770 26.7 33.6 1 385 400 970 25.0 32.0 1
EVMS()1 13/0.55 385 | 400 | 585 18.1 25.1 1 385 | 400 | 970 27.9 34.9 1 385 | 400 | 970 25.6 32.6 1
1 | EVMS()1 14/0.75 385 | 400 | 770 19.3 26.3 1 385 | 400 | 970 315 38.5 1 385 | 400 | 970 28.6 35.6 1
EVMS()1 16/0.75 385 | 400 | 770 20.3 27.3 1 385 | 400 | 970 32.5 39.5 1 385 | 400 | 970 29.6 36.6 1
EVMS(.)1 18/1.1 385 | 400 | 770 21.4 28.4 1 385 | 400 | 970 34.0 41.0 1 385 | 400 | 970 32.2 39.2 1
EVMS()1 20/1.1 385 | 400 | 770 22.4 29.4 1 385 | 400 | 970 35.0 42.0 1 385 | 400 | 1170 33.8 40.7 1
EVMS()1 22/1.1 385 | 400 | 770 23.6 30.6 1 385 | 400 | 1170 36.8 43.7 1 385 | 400 | 1170 35.0 41.9 1
EVMS()1 24/1.1 385 | 400 | 970 25.0 32.0 1 385 | 400 | 1170 37.8 44.7 1 385 | 400 | 1170 36.0 42.9 1
EVMS(.)126/1.1 385 | 400 | 970 26.0 33.0 1 385 | 400 1170 38.8 45.7 1 385 400 1170 37.0 43.9 1
EVMS(.)1 27/1.5 385 | 400 | 970 26.4 33.4 1 400 510 | 1200 45.2 57.1 1|2 500 525 | 1350 60.8 67.7 1
EVMS()1 29/1.5 385 | 400 | 970 27.4 34.4 1 500 | 525 | 1350 59.6 66.5 3 500 | 525 | 1350 55.3 62.2 3
EVMS()1 32/1.5 385 | 400 | 1170 | 29.3 36.2 1 500 | 525 | 1350 60.9 67.8 3 500 | 525 | 1350 56.6 63.5 3
EVMS()1 34/1.5 385 | 400 | 1170 | 30.2 37.1 1 500 | 525 | 1350 61.8 68.7 3 500 | 525 | 1350 57.5 64.4 3
EVMS(.)1 37/2.2 385 | 400 | 1170 | 31.6 38.5 1 500 | 525 | 1540 74.1 81.1 3 500 | 525 | 1540 69.6 76.6 3
EVMS()1 39/2.2 385 | 400 | 1170 | 32.6 39.5 1 500 | 525 | 1540 75.1 82.1 3 500 | 525 | 1540 70.6 77.6 3
EVMS(.)3 2/0.37 385 | 400 | 385 12.4 17.6 1 385 | 400 | 585 20.3 25.5 1 385 | 400 | 585 19.0 24.2 1
EVMS(.)3 3/0.37 385 | 400 | 385 12.8 18.0 1 385 | 400 | 585 20.7 25.9 1 385 | 400 | 585 19.4 24.6 1
EVMS(.)3 4/0.37 385 | 400 | 385 13.2 18.5 1 385 | 400 770 21.5 26.8 1 385 400 770 20.2 25.5 1
EVMS(.)3 5/0.55 385 | 400 | 585 14.2 19.4 1 385 | 400 770 23.4 28.6 1 385 400 770 21.1 26.3 1
EVMS()3 6/0.55 385 | 400 | 585 14.6 19.8 1 385 | 400 | 770 23.8 29.0 1 385 | 400 | 770 215 26.7 1
EVMS()3 7/0.75 385 | 400 | 585 15.5 20.7 1 385 | 400 | 770 27.6 32.8 1 385 | 400 | 770 24.7 29.9 1
EVMS(.)3 8/0.75 385 | 400 | 585 16.0 21.2 1 385 | 400 | 770 28.1 33.3 1 385 | 400 | 770 25.2 30.4 1
EVMS()3 9/1.1 385 | 400 | 585 16.4 216 1 385 | 400 | 770 28.9 34.1 1 385 | 400 | 770 27.1 32.3 1
EVMS()3 10/1.1 385 | 400 | 585 16.9 22.1 1 385 | 400 | 770 29.4 34.6 1 385 | 400 | 770 27.6 32.8 1
EVMS()3 11/1.1 385 | 400 | 585 17.3 22.5 1 385 | 400 | 970 30.4 35.6 1 385 | 400 | 970 28.6 33.8 1
EVMS()3 12/1.1 385 | 400 | 585 17.8 23.0 1 385 | 400 | 970 30.9 36.1 1 385 | 400 | 970 29.1 34.3 1
EVMS(.)3 13/1.5 385 | 400 | 770 19.0 24.2 1 385 | 400 | 970 37.6 42.8 1 385 | 400 | 970 333 38.5 1
3 | EVMS(.)3 14/1.5 385 | 400 | 770 19.4 24.6 1 385 | 400 970 38.0 43.2 1 385 400 970 33.7 38.9 1
EVMS()3 15/1.5 385 | 400 | 770 19.9 25.1 1 385 | 400 | 970 38.5 43.7 1 385 | 400 | 970 34.2 39.4 1
EVMS()3 16/1.5 385 | 400 | 770 20.9 26.1 1 385 | 400 | 970 39.6 44.7 1 385 | 400 | 970 35.2 40.4 1
EVMS()3 17/2.2 385 | 400 | 770 21.4 26.6 1 385 | 400 | 970 41.7 46.9 1 385 | 400 | 970 37.2 42.4 1
EVMS(.)3 19/2.2 385 | 400 | 770 22.4 27.6 1 385 | 400 | 1170 43.3 48.5 1 385 | 400 | 1170 38.8 44.0 1
EVMS(.)3 21/2.2 385 | 400 | 770 23.3 28.5 1 385 | 400 1170 44.2 49.4 1 385 400 1170 39.7 44.9 1
EVMS()3 23/2.2 385 | 400 | 970 24.7 29.9 1 385 | 400 | 1170 45.2 50.4 1 385 | 400 | 1170 40.7 45.9 1
EVMS()3 24/2.2 385 | 400 | 970 25.1 30.4 1 385 | 400 | 1170 45.6 50.8 1 385 | 400 | 1170 41.1 46.3 1
EVMS()3 25/3.0 385 | 400 | 970 25.7 30.9 1 - - - - - - 500 | 525 | 1350 48.7 56.4 1|2
EVMS(.)3 27/3.0 385 | 400 | 970 26.7 31.9 1 - - - - - - 500 525 | 1350 63.1 68.3 3
EVMS()3 29/3.0 385 | 400 | 970 27.6 32.9 1 - - - - - - 500 | 525 | 1350 64.0 69.3 3
EVMS(.)3 31/3.0 385 | 400 | 1170 | 29.2 34.4 1 - - - - - - 500 | 525 | 1350 65.0 70.2 3
EVMS(.)3 33/3.0 385 | 400 | 1170 | 30.0 35.2 1 - - - - - - 500 | 525 | 1540 75.0 80.2 3
EVMS(.)5 2/0.37 385 | 400 | 385 12.9 19.4 1 385 | 400 585 20.8 27.3 1 385 400 585 19.5 26.0 1
EVMS(.)5 3/0.55 385 | 400 | 385 13.4 19.9 1 385 | 400 770 23.1 29.5 1 385 400 770 20.8 27.3 1
EVMS(.)5 4/0.75 385 | 400 | 585 14.9 21.4 1 385 | 400 | 770 27.0 33.4 1 385 | 400 | 770 24.1 30.6 1
EVMS()5 5/1.1 385 | 400 | 585 15.5 21.9 1 385 | 400 | 770 27.9 34.4 1 385 | 400 | 770 26.1 32.6 1
EVMS()5 6/1.5 385 | 400 | 585 16.1 22.5 1 385 | 400 | 770 34.6 41.0 1 385 | 400 | 970 30.9 37.3 1
EVMS(.)5 7/1.5 385 | 400 | 585 16.5 22.9 1 385 | 400 970 35.6 42.0 1 385 400 970 313 37.7 1
EVMS()5 8/2.2 385 | 400 | 585 17.0 235 1 385 | 400 | 970 37.8 443 1 385 | 400 | 970 33.3 39.8 1
EVMS()5 9/2.2 385 | 400 | 585 17.6 24.0 1 385 | 400 | 970 38.4 44.8 1 385 | 400 | 970 33.9 40.3 1
EVMS(.)5 10/2.2 385 | 400 | 770 18.5 25.0 1 385 | 400 | 970 38.8 45.3 1 385 | 400 | 970 34.3 40.8 1
5 EVMS(.)5 11/2.2 385 | 400 | 770 19.4 25.8 1 385 | 400 | 970 39.7 46.1 1 385 | 400 | 970 35.2 41.6 1
EVMS(.)5 12/3.0 385 | 400 | 770 20.6 27.0 1 - - - - - - 385 400 1170 44.0 50.4 1
EVMS()5 13/3.0 385 | 400 | 770 21.2 27.6 1 - - - - - - 385 | 400 | 1170 44.6 56.0 112
EVMS(.)5 14/3.0 385 | 400 | 770 21.7 28.2 1 - - - - - - 400 | 510 | 1200 45.1 56.6 1]2
EVMS(.)5 15/3.0 385 | 400 | 770 22.8 29.2 1 - - - - - - 400 | 510 | 1200 46.2 57.6 1]2
EVMS(.)5 17/4.0 385 | 400 | 970 23.9 30.3 1 - - - - - - 400 510 | 1200 58.4 64.8 2
EVMS()5 19/4.0 385 | 400 | 970 25.0 314 1 - - - - - - 500 | 525 | 1350 67.9 74.3 2
EVMS(.)5 20/4.0 385 | 400 | 970 27.2 33.6 1 - - - - - - 500 | 525 | 1350 70.1 76.5 3
EVMS(.)5 23/5.5 385 | 400 | 1170 | 345 40.9 1 - - - - - - 500 | 525 | 1540 96.5 102.9 3
EVMS(.)5 25/5.5 385 | 400 | 1170 | 355 41.9 1 - - - - - - 500 | 525 | 1540 97.5 103.9 3
EVMS()5 27/5.5 500 | 525 | 1350 | 50.8 57.3 3 - - - - - - 610 | 525 | 1750 99.0 105.5 3

282

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DATA
EVMS(.)10-15-20

Pumps Pumps with motor ~1 Pumps with motor ~3
Packing Weight + Packing Packing Weight + Packing Packing Weight + Packing
Pume Type (mm] [kg] Pack (mm] [kg] Pack (mm] [kg] Pack
X Y Z |EVMS(L)| EVMSG P X Y Z |EVMS(L)| EVMSG P X Y Z | EVMS(L) | EVMSG yp
EVMS(.)10 2/0.75 385 | 400 | 585 19.9 26.7 1 385 | 400 | 770 32.0 38.8 1 385 | 400 | 770 29.1 35.9 1
EVMS(.)10 3/1.5 385 | 400 | 585 20.9 27.7 1 385 | 400 | 770 39.4 46.2 1 385 | 400 | 770 35.1 41.9 1
EVMS(.)10 4/2.2 385 | 400 | 585 21.7 28.4 1 385 | 400 | 770 41.9 48.6 1 385 | 400 | 770 37.4 44.1 1
EVMS(.)10 5/2.2 385 | 400 | 585 22.5 29.3 1 385 | 400 | 970 43.3 50.1 1 385 | 400 | 970 38.8 45.6 1
EVMS(.)10 6/2.2 385 | 400 | 585 23.4 30.1 1 385 | 400 | 970 44.2 50.9 1 385 | 400 | 970 39.7 46.4 1
EVMS(.)10 7/3.0 385 | 400 | 585 243 31.1 1 - - - - - 400 | 510 | 1200 48.2 60.0 1]2
EVMS(.)10 8/3.0 385 | 400 | 770 25.7 32.4 1 - - - - - - 400 | 510 | 1200 49.1 60.8 12
EVMS(.)10 9/4.0 385 | 400 | 770 26.5 33.3 1 - - - - - - 400 | 510 | 1200 61.4 68.2 2
EVMS(.)10 10/4.0 385 | 400 | 770 27.4 34.1 1 - - - - - - 400 | 510 | 1200 62.3 69.0 2
10 | EVMS(.)10 11/4.0 385 | 400 | 770 29.0 35.8 1 - - - - - - 400 | 510 | 1200 63.9 70.7 2
EVMS(.)10 12/5.5 385 | 400 | 970 39.2 46.0 1 - - - - - - 500 | 525 | 1350 92.6 99.4 2
EVMS(.)10 14/5.5 385 | 400 | 970 41.0 47.8 1 - - - - - - 500 | 525 | 1350 94.4 101.2 3
EVMS(.)10 15/5.5 385 | 400 | 970 41.9 48.7 1 - - - - - - 500 | 525 | 1350 95.3 102.1 3
EVMS(.)10 16/7.5 385 | 400 | 970 42.9 49.6 1 - - - - - - 500 | 525 | 1540 | 1125 119.2 3
EVMS(.)10 18/7.5 400 | 510 | 1200 | 45.3 56.6 102 - - - - - - 500 | 525 | 1540 | 114.3 120.6 3
EVMS(.)10 19/7.5 400 | 510 | 1200 | 46.2 58.0 102 - - - - - - 500 | 525 | 1540 | 115.2 122.0 3
EVMS(.)10 21/7.5 400 | 510 | 1200 | 48.0 59.8 1|2 - - - - - 500 | 525 | 1540 | 117.0 123.8 3
EVMS(.)10 22/11 400 | 510 | 1200 | 55.3 62.1 2 - - - - - - 610 | 525 | 1750 | 138.4 145.2 3
EVMS(.)10 23/11 500 | 525 [ 1350 70.8 77.6 3 - - - - - - 610 | 525 [ 1750 145.1 151.9 3
EVMS(.)15 1/1.1 385 | 400 | 585 21.2 29.3 1 385 | 400 | 770 33.7 41.8 1 385 | 400 | 770 31.9 40.0 1
EVMS(.)15 2/2.2 385 | 400 | 585 215 29.6 1 385 | 400 | 770 41.7 49.8 1 385 | 400 | 770 37.2 45.3 1
EVMS(.)15 3/3.0 385 | 400 | 585 22.8 30.9 1 - - - - - - 400 | 510 | 1200 46.7 59.8 1|2
EVMS(.)15 4/4.0 385 | 400 | 585 24.0 32.1 1 - - - - - - 400 | 510 | 1200 59.4 67.5 2
EVMS()15 5/5.5 385 | 400 | 770 34.2 42.4 1 - - - - - - 400 | 510 | 1200 79.6 87.8 2
EVMS()15 6/5.5 385 | 400 | 770 35.4 43.6 1 - - - - - - 400 | 510 |1200 80.8 89.0 2
EVMS()15 7/7.5 385 | 400 | 770 37.6 45.8 1 - - - - - - 500 | 525 | 1350 98.4 106.6 2
15 | EVMS(.)15 8/7.5 385 | 400 | 970 39.4 475 1 - - - - - - 500 | 525 | 1350 99.7 107.9 2
EVMS()15 9/11 400 | 510 [ 1200 | 41.2 54.4 12 - - - - - - 500 | 525 | 1350 | 1175 125.7 3
EVMS(.)15 10/11 400 | 510 | 1200 | 425 55.7 102 - - - - - - 500 | 525 | 1540 | 128.0 136.2 3
EVMS()15 11/11 400 | 510 | 1200 | 50.5 63.6 102 - - - - - - 500 | 525 | 1540 | 136.0 144.1 3
EVMS(.)15 12/11 400 | 510 | 1200 | 56.8 64.9 2 - - - - - - 500 | 525 | 1540 | 137.3 145.4 3
EVMS(.)15 13/11 400 | 510 | 1200 | 58.1 66.2 2 - - - - - - 500 | 525 | 1540 | 138.6 146.7 3
EVMS(.)15 15/15 400 | 510 | 1200 60.7 68.8 2 - - - - - - 610 | 525 | 1750 170.2 178.3 3
EVMS()15 17/15 500 | 525 | 1350 | 72.4 80.5 3 - - - - - - 610 | 525 | 1750 | 173.1 181.2 3
EVMS(.)20 1/1.5 385 | 400 | 585 22.4 29.6 1 385 | 400 | 770 40.9 48.1 1 385 | 400 | 770 36.6 43.8 1
EVMS(.)20 2/3.0 385 | 400 | 585 215 29.7 1 - - - - - - 400 | 510 | 1200 45.4 586 |12
EVMS(.)20 3/4.0 385 | 400 | 585 22.9 31.1 1 - - - - - - 400 | 510 | 1200 58.3 66.5 2
EVMS(.)20 4/5.5 385 | 400 | 770 29.3 37.5 1 - - - - - - 400 | 510 | 1200 74.7 82.9 2
EVMS(.)20 5/7.5 385 | 400 | 770 30.6 38.8 1 - - - - - - 400 | 510 |1200 83.0 91.2 2
EVMS(.)20 6/7.5 385 | 400 | 770 31.8 40.0 1 - - - - - - 400 | 510 | 1200 84.2 92.4 2
EVMS(.)20 7/11 385 | 400 | 970 34.5 42.7 1 - - - - - - 500 | 525 | 1350 | 1114 119.6 3
20 EVMS(.)20 8/11 400 | 510 | 1200 46.3 60.1 1|2 - - - - - - 500 | 525 | 1350 123.2 131.4 3
EVMS(.)20 9/11 400 | 510 | 1200 47.6 61.4 1|2 - - - - - - 500 | 525 | 1350 124.5 132.7 3
EVMS(.)20 10/11 400 | 510 | 1200 | 49.0 62.8 102 - - - - - - 500 | 525 | 1540 | 135.1 143.3 3
EVMS(.)20 11/15 400 | 510 | 1200 | 50.3 64.1 1|2 - - - - - - 500 | 525 | 1540 | 162.8 171.0 3
EVMS(.)20 12/15 400 | 510 [1200| 57.2 65.4 2 - - - - - - 500 | 525 | 1540 | 164.1 172.3 3
EVMS(.)20 13/15 400 | 510 | 1200 | 58.5 66.8 2 - - - - - - 500 | 525 | 1540 | 165.4 173.7 3
EVMS(.)20 14/18.5 400 | 510 | 1200 | 59.9 68.1 2 - - - - - - 610 | 525 | 1750 | 184.5 192.6 3
EVMS(.)20 15/18.5 400 | 510 | 1200 | 61.2 69.4 2 - - - - - - 610 | 525 | 1750 | 185.8 194.0 3
EVMS(.)20 16/18.5 400 | 510 | 1200 | 62.5 70.7 2 - - - - - - 610 | 525 | 1750 | 187.1 195.3 3

283

EBARA Pumps Europe E3ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

300
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS EVM

PRODUCT FEATURES

[General]

1. Pump Type
The EVM is Non-self-priming, vertical multistage in line, centrifugal pumps.

2. Model range
The EVM comes in 32,45 and 64 m*/h flow sizes for the majority market needs.

3. Maximum operating pressure
The EVM can be operated at 16,25 or 30 bar as maximum.

4. Operating temperature range
The EVM can be operated from - 15 to + 120 °C as the maximum

5. Material options
AISI 304, AlISI 316 and Cast iron versions are available.

6. Motor
The EVM can be coupled with the commercial motors that are acquired in the markets.
The EVM can be provided as the electric pump with IE3 motor from 2.2 kW to 37 kW.

7. Certifications

Drinking water approval Atmosferes
9 PP explosibles approval
DM174/2004 ACS ATEX 2014/34/UE
<k W F g %,
R
oy Vo >
. . - All variations
Mechanical seal SiC/Carbon_FPM SiC/Carbon_FPM on page 303
EVMG ° - °
EVM ° ° [ ]
EVML ° - °
e Standard

8. Conform to the provisions of the European directives c €

[Main Product Features]

1. Robust constructions
» Commercial motors can be fitted to all of the pump models with additional ball bearing on the bracket.
» Stainless cast bottom casing to ensure 30 bar working pressure.
* Rolling groove pump shaft for high torque transmissions.

2. Energy saving
» High efficiency IE3 motor complied with the EuP 2005/32/EC and ErP 2009/125/EC directives.
* The VFD (Variable frequency drive) can be fitted on the motor for the pressure boosting systems.

3. Easy maintenance
The cartridge shaft seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.

301
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS
EVM(.)32-45-64

PUMP
Version EVMG EVM EVML
Nominal flow rate (m%h ) 32 | 45 | 64 32 | 45 | 64 32 | 45 | 64
OF:ZLZI::Q Maximum working pressure 1.6 /3.0 MPa (16 bar/ 30 bar)
Liquid temperature range -15°Cto 120 °C
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EVM 32 EN 1.4301 (AISI 304) + PTFE EN 1'440;'_'_(?:55' 316) +
Liner ring
EVM 45-64 EN 1.4401 (AISI 316) + PTFE
Bottom casing Cast Iron ASTMCF8 ASTMCF8M
Casing cover Cast Iron Cast Iron + Castlron +
9 EN 1.4301 (AIS| 304) EN 1.4404 (AIS| 316L)
Key | Shat ENl4da(uisiae) | @ | o | @ o | o | o o | o | o
Components | shat sleeve bearing Tungstene carbide
Material
type Cartridge mechanical seal
Shaft Seal
material Silicon Carbide / Carbon / FPM
O-ring EPDM FPM
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
Motor Bracket Cast Iron
Tie rod Carbon Steel
Coupling Carbon Steel
Base Cast Iron
Pipe
. Round Flange (DIN) [} [ [ [} [} [ ] [ ] [} [}
connection
Legend: @ Available
MOTOR
Frequency 50 Hz
Phase Three Phase
Rotation speed =~ 2900 min*
Power ) 2.2+ 37kw
Source Power rating
3.0+ 50 HP
230/400 + 10% V  (up to 4.0 kW)
Voltage
400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC
Efficiency Level IE3
Type No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 22 kW included
Casing Material Aluminium
Others
IMB14 (up to 4.0 kW)
Flange mount (IEC motor)
IM B5 (above 5.5 kW)

302

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

SHAFT SEAL
EVM(.)32-45-64

1. Shaft Seal
D1 D1
AERN —
FT ,
R 3 3
- d 1 1
1 3 3
w
N
||
uﬂ‘w t
up to 25 bar from 25 to 30 bar
Cartridge Unbalanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Max Material
Size | operating d D1 L L1 L2 L3 S 1 5 3
[mm] | pressure | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] | ["m] | Stationary Seal .
bar] . Rotary Seal Ring | Rubber
[ Ring
25 39 | 265|125 | 50 35 . . )
25 25 43 Carbon graphite | Silicon carbide FPM
30 50 | 385 | 115 - -
303
EBARA Pumps Europe 5 E3ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

EV I\/I VERTICAL MULTISTAGE PUMPS

TYPE KEY
EVM(.)32-45-64

Ew] [ J[s2][ J[1][-J[o]J[F][s5]| Llit22ii

Phase motor
null = 3 phase

|Motor in kW _ pag.403

Pole
Null = 2 pole

Frequency
5=50Hz

Code for pipe connection
F = Round flange

Number of reduced diameter impellers
0]1]2|3

|Dash

|Number of impellers

|Space

Flow rate [m%¥h]
32| 45|64

Code for model series
null = AISI 304 version
L = AISI 316 version

G = Cast Iron version

|Series name

Example for pump without motor: Example for pump with motor:
EVM32 1-0F5 EVM32 1-0F5/2.2
NAMEPLATE
VA 01234060221 1) “TYPE" Pump model
% Em ( € 2) “‘Q" Indicates upper and lower flow rate limits
36hii Glos (- ITALY  MADE IN ITALY 3) “H” Indicates head limits corresponding to minimum and maximum flow rate
TYPE @ ‘N a 4)  “Hmax" Maximum head
O ‘Hrnax (O m |Hni ®n ‘ O 5) “Hmin” Minimum head
e @ Imin |H ® n 6) ‘P2 Rated power of the motor (output at shaft)
) KW | Hz ‘min* 7) “HP” Rated power of the motor expressed in HP (Horse Power)
HP @ N 8) “Hz" Frequency
V> @ .t @ % 9) ‘“min-1" Speed-of rotation
10) “P/IN°” Pump item number
11)  “N” Material code
12) “MEI" Index of the pump’s quality in relation to its efficiency
13) “Hyd. Eff.” Hydraulic efficiency of the pump

304
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE RANGE
EVM(.)32-45-64

USgpm. 5 10 5 2 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
1 1 1 1 1 1 1 | 1 1 | | 1 1 | 1 | 1 1 1
T T T T T T T T T 17 T T T 1T T T T T
mp.gpm. 5 10 52 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400
404 400
p H 1200
MP.
0Pel 3o 4 M 509 1000 H
-90 g
2.5 250 — I s, i - 800
— o |
204 200 = T= b =) 7o
| | : ir ! = N\—|— - 600
1
15 150 I N I 500
| | \
12 120 I i 400
- 350
1.0 100 } f
; | - 300
0.8 80 ! , | oo
| |
0.6 60 | } - 200
| |
05 50 I 1 3 5 10 || - 150
04— o+—+—+ ,,,,L,,,,, B e M
i : ! - 100
0.3 K S S R auses i B e e R BRI i e w2 Bt Eesee [ IS En { candd e mmmas Emmeiasi Himmmas
[ i
I | 75
02- 20 | S S i
| B N ~ :
| -~ S N
045 15 P L 50
[ R SN 40
0.1 10 T L N
0.09 9 S \ — 30
0.08 8 Lo
0.07 7
0.06 6 20
0.05 5
- 15
0.04 4
9 10 1520 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]
T T T T T T T T T 1T T T T 1T T T T T T T T
1 15 2 3 4 5 6 7 8 910 12 14161820 25 30 40 50 60 70 100 o
100 TTTT T T TT |
HHHH 45 64
IAREAR RSN &9 O&
n e 10 151120 i
4] 5 R \
= X | 4 7 N\
60 1 e e T B S8 i 39
LT — pdl -
50 -~ 7 L~
// /’
40
30
9 10 152 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Ymin]

EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM VERTICAL MULTISTAGE PUMPS

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of v = 1 mm?/s
(1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best efficiency point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump
MEI - minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency. The
minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller diameter.
The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced energy consumption. The
minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical when controlled, for
example by the use of a variable speed drive that matches the pump duty to the system.

Information on benchmark efficiency is available at: www.europump.org (Ecodesign section)

Information on benchmark efficiency graph for MEI = 0.4 and MEI = 0.7 for the pump are available at:
www.europump.org/efficiencycharts (refer to "Multistage Vertical 2900 rpm")

Minimum efficiency index (MEI)

Pump Type MEI

EVM(.)32 >0.40
EVM(.)45 >0.70
EVM(.)64 >0.70

306

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SELECTION CHART

EVM(.)32-45-64

. Q = Capacity
Pump Type Motor Maximum
working |V/min 0| 200 | 350 | 500 | 600 | 700 | 900 | 1000 | 1200 | 1400
kW] | [HP] Size pressure  Imh 0 12 | 21 | 30 | 36 | 42 | 54 | 60 | 72 | 84
Three phase [MPa] . .
H = Total manometric head in meters
EVM(.)32 1-0F5/2.2 2.2 3 0L 24 21.7 | 196 | 16.4 | 13.2 9.7 - - - -
EVM(.)32 2-2F5/3.0 3.0 4 100 L 39.8 36.9 | 31.6 | 235 | 174 - - - - -
EVM(.)32 2-0F5/4.0 4.0 5.5 112 M 48 43.5 | 39.2 | 32.8 | 26.5 | 19.4 - - - -
EVM()32 3-3F5/5.5 5.5 75 132S 59.5 55.5 | 47.5 | 35.2 | 26.1 - - - - -
EVM()32 3-1F5/5.5 5.5 7.5 132 S 68 62 55 445 | 352 | 245 - - - -
EVM(.)32 4-3F5/7.5 7.5 10 132 S 84 77 67 51.5 | 39.4 - - - - -
EVM()32 4-1F5/7.5 7.5 10 132S 1.6 92 835 | 745 | 61 | 48.5 | 34.2 - - - -
EVM()32 5-3F5/11 11 15 160 M 106 100 89 70 54 37.3 - - - -
EVM(.)32 5-0F5/11 11 15 160 M 118 110 100 84 67 49 - - - -
EVM(.)32 6-3F5/11 11 15 160 M 130 122 | 109 87 | 67.5 | 47 - - - -
EVM(.)32 6-2F5/11 11 15 160 M 133 125 113 | 915 | 715 51 - - - -
EVM(.)32 7-3F5/15 15 20 160 M 153 144 129 104 81 57 - - - -
3 EVM()32 7-0F5/15 15 20 160 M 165 154 141 118 94 69 - - - -
EVM(.)32 8-3F5/15 15 20 160 M 177 166 150 121 94 67 - - - -
EVM(.)32 8-2F5/15 15 20 160 M 184 172 | 157 | 130 | 103 75 - - - -
EVM(.)32 9-3F5/18.5 18.5 25 160 L 200 188 | 170 | 137 | 108 | 76.5 - - - -
EVM(.)32 9-0F5/18.5 18.5 25 160 L 212 197 181 152 121 | 885 - - - -
EVM(.)32 10-3F5/18.5 18.5 25 160 L 25 224 210 | 190 | 154 | 121 | 86.5 - - - -
EVM(.)32 10-2F5/18.5 18.5 25 160 L 228 213 | 193 | 159 | 125 | 90.5 - - - -
EVM(.)32 11-3F5/22 22 30 180 M 247 232 | 210 171 134 | 96.5 - - - -
EVM(.)32 11-0F5/22 22 30 180 M 259 241 | 221 | 185 | 147 | 108 - - - -
EVM(.)32 12-3F5/22 22 30 180 M 271 254 | 230 188 148 106 - - - -
EVM(.)32 13-3F5/30 30 40 200 L 294 276 | 250 | 205 | 161 | 116 - - - -
EVM(.)32 13-0F5/30 30 40 200 L 30 306 285 | 261 | 219 | 174 | 128 - - - -
EVM(.)32 14-3F5/30 30 40 200 L ’ 318 298 | 270 | 222 175 126 - - - -
EVM(.)32 14-0F5/30 30 40 200 L 330 307 | 281 | 236 | 188 | 138 - - - -
EVM(.)45 1-1F5/3.0 3.0 4 100 L 21 - 189 | 176 | 16.3 | 14.3 [8.3 - - -
EVM(.)45 1-0F5/4.0 4.0 5.5 112 M 27 - 25.6 | 24.6 | 235 | 21.8 [16.7 13.3 - -
EVM(.)45 2-2F5/5.5 5.5 7.5 132S 16 42 - 38.1 | 35.8 | 33.4 | 29.8 |18.6 - - -
EVM(.)45 2-0F5/7.5 7.5 10 132 S ' 54 - 51.5 50 48 45 |35.4 29.1 - -
EVM(.)45 3-2F5/11 11 15 160 M 69 - 64 61 58 53 [37.3 - - -
EVM(.)45 3-0F5/11 11 15 160 M 81 - 77.5 75 72.5 68 [54 45 - -
EVM(.)45 4-2F5/15 15 20 160 M 96 - 90 86 82 76 |56 43 - -
EVM(.)45 4-0F5/15 15 20 160 M 108 - 103 | 100 [ 96.5 | 91 |73 60.5 - -
EVM(.)45 5-2F5/18.5 18.5 25 160 L 123 - 116 111 107 99 |74.5 58.5 - -
45 EVM(.)45 5-0F5/18.5 18.5 25 160 L 135 - 129 125 121 114 [91.5 76.5 - -
EVM(.)45 6-2F5/22 22 30 180 M 150 - 142 | 137 | 131 | 122 [93.5 | 745 - -
EVM(.)45 6-0F5/22 22 30 180 M 25 162 - 155 151 146 137 |110 92.5 - -
EVM(.)45 7-2F5/30 30 40 200 L ' 177 - 168 | 162 | 155 | 145 |112 90.5 - -
EVM(.)45 7-0F5/30 30 40 200 L 189 - 181 | 176 | 170 | 160 [129 108 - -
EVM(.)45 8-2F5/30 30 40 200 L 204 - 194 | 187 | 180 | 168 [131 106 - -
EVM(.)45 8-0F5/30 30 40 200 L 216 - 207 | 201 | 194 | 183 |148 124 - -
EVM(.)45 9-2F5/30 30 40 200 L 231 - 219 | 212 | 204 | 191 |150 122 - -
EVM(.)45 9-0F5/37 37 50 200 L 243 - 233 | 226 | 219 | 206 |166 140 - -
EVM(.)45 10-2F5/37 37 50 200 L 3.0 258 - 245 | 237 | 229 | 214 |168 138 - -
EVM(.)45 10-0F5/37 37 50 200 L ) 270 - 259 | 251 243 | 229 |185 156 - -
EVM(.)64 1-1F5/4.0 4.0 5.5 100 L 23.7 - - 21 | 204|197 [ 175 | 159 | 114 -
EVM(.)64 1-0F5/5.5 5.5 7.5 132S 29.3 - - 26.6 | 26.1 | 25.4 | 23.7 | 22.3 | 18,5 | 135
EVM(.)64 2-2F5/7.5 7.5 10 132 S 47.5 - - 42.5 | 415 | 405 | 36.5 | 33,5 | 25.3 -
EVM(.)64 2-1F5/11 11 15 160 M 53 - - 48 47 46 | 425 | 40 [324 | 23
EVM(.)64 2-0F5/11 11 15 160 M 58.5 - - 53.5 53 52 49 46.5 | 39.5 | 30.6
EVM(.)64 3-3F5/15 15 20 160 M 71 - - 64 | 625 | 61 [555| 51 | 393 -
EVM(.)64 3-2F5/15 15 20 160 M 76.5 - - 69.5 | 68 | 66.5 | 61.5 | 57.5 | 46.5 | 32.5
EVM(.)64 3-1F5/15 15 20 160 M 82.5 - - 75 74 72.5 68 64 53.5 40
EVM(.)64 3-0F5/18.5 18.5 25 160 L 16 88 - - 805|795 | 78 74 | 705 | 60.5 | 475
EVM(.)64 4-3F5/18.5 18.5 25 160 L ’ 100 - - 91 89 87 80.5 | 75.5 | 60.5 42
EVM(.)64 4-2F5/18.5 18.5 25 160 L 106 - - 96.5 | 95 93 87 | 815 | 67.5 | 495
64 EVM(.)64 4-1F5/22 22 30 180 M 112 - - 102 | 101 | 98.5 | 93 88 | 745 | 57
EVM(.)64 4-0F5/22 22 30 180 M 117 - - 108 | 106 | 104 99 | 945 | 815 | 645
EVM(.)64 5-3F5/30 30 40 200 L 130 - - 118 | 116 | 114 | 106 | 99.5 | 815 | 59
EVM(.)64 5-2F5/30 30 40 200 L 135 - - 124 | 122 | 119 | 112 | 106 | 88.5 | 66.5
EVM(.)64 5-1F5/30 30 40 200 L 141 - - 129 127 125 118 112 | 95.5 74
EVM(.)64 5-0F5/30 30 40 200 L 147 - - 135 | 133 | 131 | 124 | 119 | 103 | 81.5
EVM(.)64 6-3F5/30 30 40 200 L 159 - - 145 143 140 | 131 124 103 76
EVM(.)64 6-2F5/30 30 40 200 L 165 - - 151 148 146 137 130 110 | 83.5
EVM(.)64 6-1F5/37 37 50 200 L 170 - - 156 | 154 | 151 | 143 | 136 | 117 91
EVM(.)64 6-0F5/37 37 50 200 L 25 176 - - 162 160 157 149 143 124 99
EVM(.)64 7-3F5/37 37 50 200 L ' 188 - - 172 169 166 156 148 124 93
EVM(.)64 7-2F5/37 37 50 200 L 194 - - 178 | 175 | 172 | 162 | 154 | 131 | 101
EVM(.)64 7-1F5/37 37 50 200 L 200 - - 183 181 178 | 168 161 138 | 108

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

307

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impg.p.m. 50 100 150
05— 50
L 160
p H i |
[MPa] [m] —~ ~
\\ M
04— 40 — —~—— 2.
T~ ~ %,
\0\ - 120
\
0.3 30 Oy, — 100
\\ \\ - 80
T RN N\
02— 20 — 0/25, N\,
2k \ P
~—_
NPSH
[m] [ft]
S - 40
01+ 10 ~. 8
e 7l
NPSH — . -2
‘_—’/
0- 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Q[mdn]
: |
P2 2:0
kW] , 2\_2 _—
| \\ﬁ’
1-0 —_
1 R E—
0 200 400 600 Q [imin]
80 |
n 1-0
(%) __——— i
: 7’,4/ I~ "
2-2
40 ‘
0 200 400 600 Q [imin]
Rotation speed #2900 min*
Test standard: 1SO 9906:2012 - Grade 3B
308

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVM (L)32
0 USgpm. 50 100 150 200
| ! ! ! !
I T T T
0 Impg.p.m. 50 100 150
10— 100
p H o —~— - 300 ’
[MPa] [ml T
S "
0.8 80
~
\0\ S~ 4. 1 L 250
\ \\ ZSI(
L L
0.6 60 T~ v N 200
55 \
Iy 3 kW\ N \\
04— 40 \\
\ NPSH | 100
N m [
0.2 20 8
- 2 |50
NPSH 4
// 10
0— 0 0
0 200 400 600 Q{/min]
T T T T T
0 10 20 30 40 Qmn]
8 -
Py H e
kW] 6 4-‘3 — e
31 —
¢ | —
33—
9 ‘
0 200 400 600 Q [Vmin]
80 T
n / 411
%] E\\ / 31
60 ~
4‘-3
|
33
40 ‘
0 200 400 600 Q [/min]

Rotation speed #2900 min*
Test standard: ISO 9906:2012 - Grade 3B

309
EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.p.m. 50 100 150
15— 150
P H L 450
[MPa] M [C——
I \\Q 400
T — — %\6,2/7
——— ~— &3 Lk - 350
104 100 = <N
\\ \50%\\ L 300
%
\ 774“/ %\
\‘3 —
2 \\\\ 250
~ %\ 200
N NPSH
- N %’ (m] [f]
05 50 \\ L
N | °]
// —20 |~ 100
4 —
NPSH ! —10 50
L=
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qmin]
12 ‘
-, 62 |
\ — —_— —
KW 6-3 —
M —= %
53 —
4 ‘
0 200 400 600 Q imin]
80
n 5-0
—
[%] = N 6-2
K = — \§
= % 63
5-3
40
0 200 400 600 Q [imin]
Rotation speed 2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B

[ft

310

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| ! ! ! !
f T T T
0 Impg.p.m. 50 100 150
20— 200
p H —__ - 600
[MPa] m —— H
. T .
— S S —
—— TN
54 150 == i \\w I~ 500
— 2 o
SN
75,%\
73 \\ N I~ 400
75M\\ ‘\\
10 100 \\\\\
~ \\\ — 300
N
\ NPSH [ 909
N f
05— 5% [m] [
8
- 20 | 100
NPSH 4
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qmin
16 T
82 - — |
P2 1 — —_— [ —
kW] 0 8‘-3 ////’_
T - /
[ —
8 P
0 200 400 600 Q [imin]
80 ‘
[:/]] ~ o
— N ¥
60 = S i
8-3
7-3 |
40 |
0 200 400 600 Q [imin]
Rotation speed 2930 min
Test standard: 1SO 9906:2012 - Grade 3B
311

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM (L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.p.m. 50 100 150
254 250
- 800
P H o=
[MPa] m [T ==
— ~— _10-2/185w 700
20 W= \:\’(10-3/185 kW
~— X - 600
\\\
SN
_ - 500
15 150 9-0/18.5 kw \\\ L
9-3/185 kW//\\ ‘\\\
NN L 400
\‘
10 100 ™N
N\ L 300
N
NPSH
m (i [~200
05 50
8
7 2 100
NPSH [— Lo
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Q[mn
2 ‘
o0 12
o 103 ——
1 9‘_0 %é’/
| —
9-3
10 ‘
0 200 400 600 Q [imin]
80
n
[%] S~
0 // \
40
0 200 400 600 Q [imin]
Rotation speed 2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B

[ft

312

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Imp.g.p.m. 50 100 150
304 300
p H [ 900
[MPa] mo T —— H
T ———T= i\ 12-3/221w o
—_— \| =
)\b‘
~— 700
20 200 \\
N N -
11-0/22 aw N\ 600
\ / | \\\\
11-3/22 kw - 500
\\\\
\\\ 400
\\ NPSH
104 100 [m] [f]
300
8 —
// — 20 |- 200
4 —
NPSH L — 10 — 100
fumm—
0— 0 0
0 200 400 600 Q [Vmin]
T T T T T
0 10 20 30 40 Q[m
24 |
K 12-3 —
(kW] } /é
16 11-0 ///
| — "
11-3 —
12 :
0 200 400 600 Q [Vmin]
80
n
—
(% _— ~—
60 —
40
0 200 400 600 Q [imin]
Rotation speed #2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B
313

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200
| ! ! ! !
f T T T
0  Impgp.m. 50 100 150
40— 400
p H - 1200
[MPa] m]
— 14-0/30 kw M
—— : ‘
3.0 - 300 — : — — 14-3/30 kw I~ 1000
\ Q‘\\
e \\ 800
SO \\
20— 200 \\ AN
13-0/30 iw NN oo
13-3/30kw NN
NN
\‘ NPSH | 400
f
10— 100 i 14
8
- 20 |- 200
NPSH 4
0 0 0
0 200 400 600 Q [imin]
T T T T T
0 10 20 30 40 Qmin]
28 T ]
P 14‘-0 L —
o —
o 3 e — —
I - —
2 130 e
| —
" 133 — ~ =
0 200 400 600 Q [imin]
80
n
—
%] // \
60 /7/
40
0 200 400 600 Q [imin]
Rotation speed 2960 min
Test standard: 1ISO 9906:2012 - Grade 3B
314

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)32

Dimensional sketch

Round flange (F) - DN65
c 1
B
T I
I I
(a2 =
T O
E
N
L. +
A -
f G3/8
N
T
N° SN holes 218
D 10 ﬁﬂ\ti G3/8
8 B
g ENE
N° 4 holes @14 0145
240
280
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 SN Weight  Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVM(L)32 1-0F5/2.2 1.6 2.2 Q0L 2140 | 180 148 267 | 493 4 61 7
EVM(L)32 2-2F5/3.0 1.6 3.0 | 100L | 2160 196 155 306 503 4 63 86
EVM(L)32 2-0F5/4.0 1.6 4.0 | 112M | 2160 196 155 306 503 4 63 90
EVM(L)32 3-3F5/5.5 1.6 55| 132S | 2300 | 225 160 328 572 4 79 118
EVM(L)32 3-1F5/5.5 1.6 55 | 132S | 2300 225 160 328 572 4 79 118
EVM(L)32 4-3F5/7.5 1.6 75 | 132S | 2300 225 160 350 620 4 82 123
EVM(L)32 4-1F5/7.5 16 75 | 132S | 300 225 160 350 620 4 82 123
EVM(L)32 5-3F5/11 1.6 11 | 160 M | 2350 248 194 476 799 4 103 165
EVM(L)32 5-0F5/11 1.6 11 | 160 M | 2350 248 194 476 799 4 103 165
EVM(L)32 6-3F5/11 16 11 | 160 M | @350 248 194 476 847 4 106 168
EVM(L)32 6-2F5/11 1.6 11 | 160 M | 350 248 194 476 847 4 106 168
EVM(L)32 7-3F5/15 1.6 15 | 160 M | @350 317 238 498 895 4 109 198
EVM(L)32 7-0F5/15 1.6 15 | 160 M | @350 317 238 498 895 4 109 198
EVM(L)32 8-3F5/15 25 15 [ 160M | 2350 | 317 238 498 943 8 115 204
EVM(L)32 8-2F5/15 25 15 | 160 M | @350 317 238 498 943 8 115 204
EVM(L)32 9-3F5/18.5 25 185 160L | @350 317 238 542 991 8 118 222
EVM(L)32 9-0F5/18.5 25 185 160L | 2350 317 238 542 991 8 118 222
EVM(L)32 10-3F5/18.5 25 185 160L | @350 317 238 542 | 1039 8 122 226
EVM(L)32 10-2F5/18.5 25 185 160L | @350 317 238 542 | 1039 8 122 226
EVM(L)32 11-3F5/22 25 22 | 180M | @350 360 268 577 | 1087 8 126 289
EVM(L)32 11-0F5/22 25 22 | 180M | @350 360 268 577 | 1087 8 126 289
EVM(L)32 12-3F5/22 25 22 | 180 M | @350 360 268 577 | 1135 8 133 296
EVM(L)32 13-3F5/30 3.0 30 | 200L | @400 399 300 658 | 1198 8 143 371
EVM(L)32 13-0F5/30 3.0 30 | 200L | 2400 | 399 300 658 | 1198 8 143 371
EVM(L)32 14-3F5/30 3.0 30 | 200L | @400 399 300 658 | 1246 8 147 375
EVM(L)32 14-0F5/30 3.0 30 | 200L | @400 399 300 658 | 1246 8 147 375

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

315

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)32

7//4{

%

%
d

521 —0 |
44-1 —
137-1 i

48
75-1 31

|

273-1 6— |
s 2121 45

N
|
—]
— |
—
25,
//
R —
/4

Pump without ball bearing

316
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

-

VM

SECTIONAL VIEW
EVM(L)32

//4;@ |
e

N

274-2
150
274-3

130-2
120-6

1201 —— |

43-2

433 —0 |

52-1
44-1
43-4
137-1

48

75-1 31—

273-1 6

o 212-1 45 —

( i 613

Pump with single ball bearing

317

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS

50 Hz

75-1
2731

2121

SECTIONAL VIEW
EVM(L)32

Oy

Pump with single ball bearing

274-2
150

318

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW

1207 129
AEEA
1354 4 136
12013 ——H | § U]V I 70-1
N T F777/7
N T/
O\ ! | s
1283 S | | /7
. ] | /
120-8 3N | ' 7
‘\\tﬁFq/)) Q Q‘ Vii/ql’
245 - )=
1402 L&; | A 56
131-1 - i =+ ) 162
| 14 A
1302 ' T ¥ iani ] 140-1
130-4 ". I‘ 39-1
111-4 ,l €S “‘ 135-3
130-1 | N | 120-5
120-3 1 - | 120-6
1281 ". S : ! 120-4
' | J §

/
/1

-
—

75-1
2731
2121

Pump with double ball bearing

319

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)32
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
1 Casing cover Cast Iron + Cast Iron +
EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

21 Impeller

- EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 322
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
107 Liner ring PTFE / EN 1.4301 (AISI 304) PTFE / EN 1.4401 (AISI 316)
111-1 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4404 (AISI 316L)
111-5 | Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.208.91x5.34
115-4 O-Ring (cartridge sleeve) EPDM FPM D. 24.99x3.59
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

320

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVM(L)32
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM | EVML

120-3 Screw A2-70 UNI 7323 M5xX10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM32 1 M6x16 UNI 5931

120-5 Screw for coupling EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5 to 14 M10x30 UNI 5739
EVM32 1 M6x16 UNI 5931

120-6 Screw for coupling EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM325to 14 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739

120-8 Screw EVM3Z3 10 4 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739
EVM32 5 to14 M10x30 UNI 5739

120-10 Screw Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
EVM32 1 M8x20 UNI 5739

120-13 Screw for motor EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM32 5to 14 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-3 Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer (Tie rod) Galvanized steel 17x30x3 UNI 6592

135-3 Washer (coupling) Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer (bearing) Carbon Steel 06:04 UNI 1751

136 Washer (coupling) Carbon Steel

137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

273-1 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

274-1 C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM323to 4 D.50 UNI 7435

274-2 C-type snap ring (coupling)  EVM32 5 t010 Carbon Steel TC 80 D.65 UNI 7435
EVM32 11 tol2 D.75 UNI 7435

274-3 C-type snap ring (bracket) Carbon Steel TC 80 D.110 UNI 7437

613 Flange Carbon Steel

321

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL

EVM(L)32

Pump Type

5-2

B
N

211

39-1

432

433

41

51

a1
n

N

70-1{ 107 1204

1205

o

1207

1208

1283

129

150 |274-2(274-3

i

136 | 140 |140-1|140-2

EVM(L)32 1-0F5/2.2

EVM(L)32 2-2F5/3.0

EVM(L)32 2-0F5/4.0

EVM(L)32 3-3F5/5.5

EVM(L)32 3-1F5/5.5

EVM(L)32 4-3F5/7.5

EVM(L)32 4-1F5/7.5

===~ ]|N

EVM(L)32 5-3F5/11

EVM(L)32 5-0F5/11

EVM(L)32 6-3F5/11

EVM(L)32 7-3F5/15

EVM(L)32 7-0F5/15

EVM(L)32 8-3F5/15

)
)
)
)
)
EVM(L)32 6-2F5/11
)
)
)
)

EVM(L)32 8-2F5/15

EVM(L)32 9-3F5/18.5

EVM(L)32 9-0F5/18.5

olo|lo|o|vN|(~N|lojlo|la|la|s|dlw|lw|N[N|E

EVM(L)32 10-3F5/18.5

=
o

EVM(L)32 10-2F5/18.5

N
o

EVM(L)32 11-3F5/22

w|lo(N|lo|lo|lojla[N|sslw|fa|v|w|kr|Nd]~|N|~]|F

i
B

-
=y

i
B

EVM(L)32 12-3F5/22

o|lo|lo|N|N|N|~N|o|lo|la|lals|r|lw|lw|Nv|INIER |~~~

©

o|lo|lo|v|N|~N|~N|jo|lo|la|lals|dr|lw|lw|Nv|NER |~~~

N
N

)
)
EVM(L)32 11-0F5/22
)
)

EVM(L)32 13-3F5/30

N
o

=
o

=
o

N
w

EVM(L)32 13-0F5/30

N
o

N
w

=
o

N
w

EVM(L)32 14-3F5/30

N
B

N
B

[N
B

N
i

EVM(L)32 14-0F5/30

i
B

[SH R ENH ECN ECR N ORI N N I I TSN T I I T I I I I I I N I

Rlrlrlrlr|rlr|r|r|r|rr|rrr|rR|r]|~

iR
IS

~|lw|[~|lw|lw|[~|lw|[v|lw|[~[w|dv|[w|[~|lw|v|w|[~|lw|r|lw|kr|lw|~|N]|~

Plrlrlrir|rr|rlr|lr|r|r|lr|r|r|r|r]|r]|-

=
[

SR ENH N ECR N ORI N N T I TSN T I I T I I I I I I N I

NNNNNNNNNHHHHHHH}—‘D—'HHHHHD—\HHE

SR RN N R N ORISR N S N N S T I T N I I N W W N e

Rlrlrlrir|rr|r|rr|rlr|r|r|r|r|r|r|r|r|r ||~~~

[SH R NN SN ECR N ORI IFCN P P I SN I I I T I I I I I I N I

Plrlrlrir|lrr|r|rr|r|r|r|r|r|r|r|r|r|r|r|r|r |~~~
~|~[~|=|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r |+~

Flrlr|rrlrrr|r|r|r|r|r|r|r|r|r]~]PF
G (NG IO G NG IO O G G O N NG IO N (NG IO (NG PN NS

iR
IS

wlwlwlw|lwlwlw|lw|lwlw|lw|lw|lw|lw|w|w|lw|lw|w|~|~|~|~|~|~|~

ISHFNY Y FNY N FNH ENE ES) ES) EN) ENY FS) [N NN FNg PN IFNS FNS N

R IR I I B I I B I I I IR IR I A S S B B i S N R B Bl

R R R o I I B B I I I I I I B R I

PRk |e

bbbhbbb&bbbbbbbbbbb\\\\\\\E
@®
~ === [=|=|~|=|=|~|=|=|~|~|~|=|~|=|Fr|r|r|r|r|r]|+~

wlwlwlw|lw|w|w|w|lw|lw|lw|w|w|w|w|w|w|w|w|~|~|~[~[~[~[~
Flrlr|rrlrrlr|rlr|r|r|r|r|r|r|r]+]R
Rlrlkr|lrrrrr|r|r|r|r|r|r|r|r|r|R]|~
~|~[~[~|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r |||~~~
~|~[~[~|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r |||~~~
~|~[~[=|=|=|=|=|=|=|=|=|=|=|=|=|=|=|=|r|r|r|r|~~|~

PRk |e

BEARINGS
EVM(L)32

Pump Type

N°
56

EVM(L)32 1-0F5/2.2

/

EVM(L)32 2-2F5/3.0

/

EVM(L)32 2-0F5/4.0

/

EVM(L)32 3-3F5/5.5

6310 ZZ C3

EVM(L)32 3-1F5/5.5

6310 ZZ C3

EVM(L)32 4-3F5/7.5

6310 ZZ C3

EVM(L)32 4-1F5/7.5

6310 ZZ C3

EVM(L)32 5-3F5/11

631377 C3

EVM(L)32 5-0F5/11

6313 ZZ C3

EVM(L)32 6-3F5/11

6313 ZZ C3

EVM(L)32 6-2F5/11

631377 C3

EVM(L)32 7-3F5/15

6313 ZZ C3

EVM(L)32 7-0F5/15

6313 ZZ C3

EVM(L)32 8-3F5/15

6313 7Z C3

EVM(L)32 8-2F5/15

6313 ZZ C3

EVM(L)32 9-3F5/18.5

6313 ZZ C3

EVM(L)32 9-0F5/18.5

6313 2Z C3

EVM(L)32 10-3F5/18.5

631377 C3

EVM(L)32 10-2F5/18.5

6313 ZZ C3

EVM(L)32 11-3F5/22

6315 Z2Z C3

EVM(L)32 11-0F5/22

631577 C3

EVM(L)32 12-3F5/22

6315ZZ C3

EVM(L)32 13-3F5/30

6315 ZZDT C3 *

EVM(L)32 13-0F5/30

6315 ZZDT C3 *

EVM(L)32 14-3F5/30

6315 ZZDT C3 *

EVM(L)32 14-0F5/30

6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

322

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impg.pm. 50 100 150
05— 50
L 160
p H —— ——
[MPa] [m] ~ — H
\\ — 140
04— 40 — —~— o
T~ ~ 0/4'0/%
\"\ S — 120
~— \
\ \a 2, \
0.3 30 Oty 100
\\ \\ - 80
T \ N\
0.2 20 ‘\7‘0/2.2 i \\
— 60
\\
NPSH
[m] [ft]
S 40
0.1 10 ~ 8
rd 2
NPSH — N 2
‘_———-/
0— 0 0
0 200 400 600 Q [Vmin]
T T T T T
0 10 20 30 40 Qmin]
: |
P2 2-0
kW] , 2\_2 ]
1-0 <
1 [ —
0 200 400 600 Q [Ymin]
80 |
n 1-0
[%] — 2\0
60 I'é \\ \\ |
= g w
2-2
o |
0 200 400 600 Q [ifmin]
Rotation speed 2900 min*
Test standard: 1ISO 9906:2012 - Grade 3B
323

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS

0.6 —

100

[m]

80

60

PERFORMANCE CURVE

0.4 —

40

0.2+ 20

P2
kW]

80

[%]
60

40

EVMG32
0 USgpm. 50 100 150 200
| | | | |
f T T T
0  Impg.pm. 50 100 150
S — 300
a— — - -
~_
\1\ S~ \4L7/7 — 250
Sy,
— |
—— ™ "‘3/}\
-
~— ~—37, \
3. kW\ ™ \\
~s, S R \ 160
\ \\
\‘ NPSH | 100
N m 1
8
2 |50
NPSH - 4 0
‘__—-—‘/
0
0 200 400 600 Q [lfmin]
T T T T T
0 10 20 30 40 Q[m]
41
\ —|
4-3 — e
31 —
\ —
0 200 400 600 Q [lfmin]
4%1
= — -
43
\
3‘-3
0 200 400 600 Q [iimin]
Rotation speed #2900 min*
Test standard: 1SO 9906:2012 - Grade 3B

[ft]

324

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
| T | T
0 Imp.g.p.m. 50 100 150
15— 150
P H L 450
MPa] mo = H
—_— : —_ ft]
— S — 400 f
——— N
e \ \6‘, -2 /77
R —~—— A Ky - 350
104 100 —— &M >
—
\\ \50§\ - 300
0,
\ 77 fy \\\
\3 \ —
/77/% \\\ %0
N\
~ %\ 200
N NPSH
- N %’ (m] [f]
05 50 \\ e
N | °]
// 20 |- 100
4 —
NPSH _— - 10 |- 50
L=
0 0 0
0 200 400 600 Q [Vmin]
| T T T T
0 10 20 30 40 Qmin]
12 -
5, 62 |
T — %
LU 6-3 —__ /;
50— P —
T
' 5"3 —
0 200 400 600 Q [Vmin]
80
n 5-0
—
[%] = N 6-2
60 = \§
= % 6-3
5-3
40
0 200 400 600 Q [Umin]

Rotation speed 2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B

325
EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.pm. 50 100 150
20— 200
p H |~ - 600
[MPa] m —— ——— H
L T — i
— S —
e e -
15 150 f——— i \\% - 500
— ~3/75/(W
o
75’VW\
73 &Q N - 400
/75“,1/ \\ ‘\\
10 100 \\\\\
. \\\ 300
N
\ NPSH | 9g9
N m o
05— 50
8
- 20 {100
NPSH 4
0-— 0 0
0 200 400 600 Q [Vmin]
T T T T T
0 10 20 30 40 Qmin
16 T
82 — |
P2 1 — —_— [ —
kw] 1 8-3 // —
T - /
T —
8 P
0 200 400 600 Q [imin]
80 ‘
[:/]1 — ~ e
) \\\\ 4 i8-2
N\ 89
7-3 ]
© |
0 200 400 600 Q [imin]
Rotation speed 2930 min*
Test standard: ISO 9906:2012 - Grade 3B
326

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0  Impgp.m. 50 100 150
25— 250
- 800
p Holo
[MPa] I R e H
— ~—_ ——10-2/185w 70
20 W= \: —— 10-3/185w
—~— X - 600
\\\
SN
154 1m0 a4 - 500
’ 9-0/185kw TN §
9-3/185 kW//‘\ N
NN L 400
RNAN
10 100 N
Q\ 300
N\
NPSH
m) [f] 200
05 50
8
—— 20 100
NPSH A T
0 0 0
0 200 400 600 Q [min]
T T T T T
0 10 20 30 40 Qmn]
2 :
3 102
LU 10-3 —
T
90 _—— —
* | N=——"
9-3
10 L
0 200 400 600 Q [imin]
80
n
[%] T
40
0 200 400 600 Q [imin]
Rotation speed #2930 min*
Test standard: ISO 9906:2012 - Grade 3B
327

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200
| | | | |
I T T T
0 Impg.pm. 50 100 150
30— 300
P H | - 900
[MPa] mo T~ H
—_— — - ft
e e——= S 12-3/ o
— \"Qb\ -3/22 kw
TN~ - 700
20— 200 NN
\
TR \\ - 600
= kW
1 )\\\\
-3/22 kw — 500
\\\\
\ N 400
\\\ NPSH
1.0 100 [m] [ft]
300
8 —
// =20 |- 200
4 —
NPSH ~_— =10 | 100
L=
0— 0 0
0 200 400 600 Q [Vmin]
T T T T T
0 10 20 30 40 Q[mn]
24
P | —
o 2 123 e ——
T -
16 110 e
| — =
11-3 —
12 :
0 200 400 600 Q [imin]
80
n
[%) _— ~—
60 —
40
0 200 400 600 Q [min]
Rotation speed 2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B
328

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

4.0 —

[MPa]

3.0

20—

[kw]

329

400

[m]

300

200

100

80

60

40

PERFORMANCE CURVE

EVMG32
0  USgpm. 50 100 150 200
| | | | |
| T | T
0 Impgp.m. 50 100 150
- 1200
— 14-0/30 kw It
— T — . |
= T 14-3/30kw - 1000
SN
S~ \\ - 800
- \\
\\ ‘\
13-0/30w N o0
N
13-3/30 kv N
\\\
N NPSH | 400
[m] [fY]
8
- 2 200
NPSH 4
0
0 200 400 600 Q [Umin]
| T T T T
0 10 20 30 40 Q[m]
14:0 S ——
| —— o
143 T —
13-0 e
| o
133 — ~Z=
0 200 400 600 Q [Umin]
/7 \\
" //
0 200 400 600 Q [Vmin]

Rotation speed 2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG32

Dimensional sketch

Round flange (F) - DN65
c 1
B
T I
I I
[5e] =
T 0
E
N
L. -
A -
i G3/8
o
I
N° SN holes 218
De o G3/8
o < DK
Q
g ENE/E
N° 4 holes @14 2145
240
280
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 SN Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVMG32 1-0F5/2.2 1.6 22| 90L | o140 | 180 148 267 | 493 4 56 72
EVMG32 2-2F5/3.0 1.6 3.0 | 100L | 2160 | 196 155 306 503 4 58 80
EVMG32 2-0F5/4.0 1.6 40 | 112M | 2160 | 196 155 306 | 503 4 58 84
EVMG32 3-3F5/5.5 1.6 55 | 132S | 2300 | 225 160 328 | 572 4 72 111
EVMG32 3-1F5/5.5 16 55| 132S | @300 | 225 160 328 | 572 4 72 111
EVMG32 4-3F5/7.5 1.6 75 | 132S | 2300 | 225 160 350 | 620 4 75 116
EVMG32 4-1F5/7.5 1.6 75 | 132S | 2300 | 225 160 350 | 620 4 75 116
EVMG32 5-3F5/11 1.6 11 | 160M | @350 | 248 194 476 | 799 4 94 156
EVMG32 5-0F5/11 1.6 11 | 160M | @350 | 248 194 476 | 799 4 94 156
EVMG32 6-3F5/11 1.6 11 | 160 M | @350 | 248 194 476 | 847 4 97 159
EVMG32 6-2F5/11 1.6 11 | 160M | @350 | 248 194 476 | 847 4 97 159
EVMG32 7-3F5/15 1.6 15 | 160M | 2350 | 317 238 498 | 895 4 100 189
EVMG32 7-0F5/15 1.6 15 | 160M | @350 | 317 238 498 | 895 4 100 189
EVMG32 8-3F5/15 25 15 | 160M | 2350 | 317 238 498 | 943 8 105 194
EVMG32 8-2F5/15 25 15 [ 160M | 2350 | 317 238 498 943 8 105 194
EVMG32 9-3F5/18.5 25 [185| 160L | 2350 | 317 238 542 | 991 8 108 212
EVMG32 9-0F5/18.5 25 185 | 160L | 2350 | 317 238 542 | 991 8 108 212
EVMG32 10-3F5/18.5 25 [185| 160L | ©350 | 317 238 542 | 1039 8 111 215
EVMG32 10-2F5/18.5 25 [185| 160L | 350 | 317 238 542 | 1039 8 111 215
EVMG32 11-3F5/22 25 22 | 180M | 2350 | 360 268 577 | 1087 8 115 278
EVMG32 11-0F5/22 25 22 | 180M | 2350 | 360 268 577 | 1087 8 115 278
EVMG32 12-3F5/22 25 22 | 180M | 2350 | 360 268 577 | 1135 8 122 285
EVMG32 13-3F5/30 3.0 30 | 200L | 2400 | 399 300 658 | 1198 8 131 359
EVMG32 13-0F5/30 3.0 30 | 200L | 2400 | 399 300 658 | 1198 8 131 359
EVMG32 14-3F5/30 3.0 30 | 200L | 2400 | 399 300 658 | 1246 8 134 362
EVMG32 14-0F5/30 3.0 30 | 200L | 2400 | 399 300 658 | 1246 8 134 362

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar
330

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG32

Pump without ball bearing

331
EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

75-1
273-1
212-1

1201 —— |

43-2

433 —0 |

52-1
44-1
434

SECTIONAL VIEW
EVMG32

274-2
150
274-3

i

1
I,;_U\ 56
51
T s

T 45
130-2

120-6

1371

48

31—

6

45\

613

Pump with single ball bearing

332

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

75-1
2731
2121

333

SECTIONAL VIEW
EVMG32

1201 ——

43-3
52-1
44-1

434 —

137-1

]

I

|
i
\d "
\-qu}

o7 i i

{ ]
i Tyl | [ |
! .
1 ]
! @
'. N |
! Eﬁf !
| —

| | )

- —

&

77777l

AN

=]

I

e e e ot G

48
31

|

6 — |

Pump with single ball bearing

274-2
150

070-1
56
162
140-1
39-1
135-3
120-5
120-6
120-4
273

212

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM VERTICAL MULTISTAGE PUMPS 50 Hz
SECTIONAL VIEW
EVMG32
1207 ——— == 129
135-4 } 136

I i
120-13 ———[—f I N

It {
1285—113 — \\ @
L)

]V j 701

120-8 J A
245 -
140-2 . 56
131-1 X 162
130-2 i sy jaiai Q | 140-1
130-4 \ ! 39-1
1114 % ;'I 1353
130-1 I .’ 120-5
120-3 _r_xﬁb— i 120-6
- = ; i
122.1\ Semee =t s
t N i
75

I
O B
=
[y

|

N

=

N

1

//7////LJ

1200 — |

PO
_\..
E——

44-1

34—
137-1

48
75-1 [P ey, ————

273-1 6 — |

212-1 45 — ]

o \\I

Pump with double ball bearing

334
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVMG32
N° PART NAME M?E‘I\—/ENT(IBAL DIMENSIONS STANDARD

5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 -EN1561
7 Outer casing EN 1.4301 (AISI 304)
11 Casing cover Cast Iron EN GJL-250 -EN1561
21 Impeller

- EN 1.4301 (AISI 304)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 337
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
107 Liner ring PTFE / EN 1.4301 (AISI 304)
111-1 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D.208.91x5.34
115-4 O-Ring (cartridge sleeve) EPDM D. 24.99x3.59
115-5 O-Ring (seal cover) EPDM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

335

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG32
N° PART NAME M'TE‘I\—/ENTéAL DIMENSIONS STANDARD

120-3 Screw A2-70 UNI 7323 M5xX10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM32 1 M6x16 UNI 5931

120-5 Screw for coupling EVM32 2 and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5to 14 M10x30 UNI 5931
EVM32 1 M6x16 UNI 5931

120-6 Screw for coupling EVM32 2 and 4-3 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM32 5to 14 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739

120-8 Screw EVM323104 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739
EVM325to 14 M10x30 UNI 5739

120-10 | Screw Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
EVM321to 2 M8x20 UNI 5739

120-13 | Screw for motor EVM32 3to 4 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM325to 14 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-3 Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw (mechanical seal) A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw (coupling pin) Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer Galvanized steel 17x30x3 UNI 6592

135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer Carbon Steel 06:04 UNI 1751

136 Washer Carbon Steel

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304)

212-1 Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304)

273-1 | Plug Washer EN 1.4301 (AISI 304)

274-1 C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) D.26 UNI 7435
EVM323to 4 D.50 UNI 7435

274-2 C-type snap ring (coupling)  EVM32 5 to 10 Carbon Steel TC 80 D.65 UNI 7435
EVM32 11 to 14 D.75 UNI 7535

274-3 C-type snap ring (bracket) Carbon Steel TC 80 D.110 UNI 7437

613 Flange Carbon Steel

336

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL

EVMG32

Pump Type

5-2

B
N

211

39-1

432

433

44-1| 51

a1
n
iy

70-1{ 107

1204

120-5|120-7|120-8]

1283

129

i

136

140

140-1

140-2

150 |274-2(274-3

EVMG32 1-0F5/2.2

EVMG32 2-2F5/3.0

EVMG32 2-0F5/4.0

EVMG32 3-3F5/5.5

EVMG32 3-1F5/5.5

EVMG32 4-3F5/7.5

EVMG32 4-1F5/7.5

===~ ]|N

EVMG32 5-3F5/11

EVMG32 5-0F5/11

EVMG32 6-3F5/11

EVMG32 6-2F5/11

EVMG32 7-3F5/15

EVMG32 7-0F5/15

EVMG32 8-3F5/15

EVMG32 8-2F5/15

EVMG32 9-3F5/18.5

EVMG32 9-0F5/18.5

olo|lo|o|vN|(~N|lojlo|la|la|s|dlw|lw|N[N|E

EVMG32 10-3F5/18.5

=
o

EVMG32 10-2F5/18.5

N
o

EVMG32 11-3F5/22

w|lo(N|lo|lo|lojla[N|sslw|fa|v|w|kr|Nd]~|N|~]|F

i
B

EVMG32 11-0F5/22

-
=y

i
B

EVMG32 12-3F5/22

o|lo|lo|N|N|N|~N|o|lo|la|lals|r|lw|lw|Nv|INIER |~~~

©

o|lo|lo|v|N|~N|~N|jo|lo|la|lals|dr|lw|lw|Nv|NER |~~~

N
N

EVMG32 13-3F5/30

N
o

=
o

=
o

N
w

EVMG32 13-0F5/30

N
o

N
w

=
o

N
w

EVMG32 14-3F5/30

N
B

N
B

[N
B

N
i

EVMG32 14-0F5/30

i
B

[SH R ENH ECN ECR N ORI N N I I TSN T I I T I I I I I I N I

Rlrlrlrlr|rlr|r|r|r|rr|rrr|rR|r]|~

iR
IS

~|lw|[~|lw|lw|[~|lw|[v|lw|[~[w|dv|[w|[~|lw|v|w|[~|lw|r|lw|kr|lw|~|N]|~

Plrlrlrir|rr|rlr|lr|r|r|lr|r|r|r|r]|r]|-

=
[

SR ENH N ECR N ORI N N T I TSN T I I T I I I I I I N I

NNNNNNNNNHHHHHHH}—‘D—'HHHHHD—\HHE

SR RN N R N ORISR N S N N S T I T N I I N W W N e
Rlrlrlrir|rr|r|rr|rlr|r|r|r|r|r|r|r|r|r ||~~~
[SH R NN SN ECR N ORI IFCN P P I SN I I I T I I I I I I N I
Plrlrlrir|lrr|r|rr|r|r|r|r|r|r|r|r|r|r|r|r|r |~~~

~|~[~|=|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r |+~

Flrlr|rrlrrr|r|r|r|r|r|r|r|r|r]~]PF
G (NG IO G NG IO O G G O N NG IO N (NG IO (NG PN NS

iR
IS

wlwlwlw|lwlwlw|lw|lwlw|lw|lw|lw|lw|w|w|lw|lw|w|~|~|~|~|~|~|~
R IR I I B I I B I I I IR IR I A S S B B i S N R B Bl

ISHFNY Y FNY N FNH ENE ES) ES) EN) ENY FS) [N NN FNg PN IFNS FNS N

R R R o I I B B I I I I I I B R I

PRk |e

bbbhbbb&bbbbbbbbbbb\\\\\\\E
@®

wlwlwlw|lwlwlw|w|lwlwlw|w|lw|lw|w|w|lw|[w|w|~|~|~|~|~|~|~

PRk |e

~ === [=|=|~|=|=|~|=|=|~|~|~|=|~|=|Fr|r|r|r|r|r]|+~

rlrlrlrlr|rr|r|r|r|rr|rrr|rR|R ]|~

Plrlrlrir|r|r|rlr|r|r|r|r|r|r|r|r]|r]|~

~|~[~|~|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r |~~~
~|~[~|=|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r|r |~~~
~|~[~|~|~|~|~|~|~|~|~|~|~|~|~|~|=~|~[~|r|r|r|r|~]~|~

337

BEARINGS

EVMG32

N°
Pump Type 56

EVMG32 1-0F5/2.2 /

EVMG32 2-2F5/3.0 !

EVMG32 2-0F5/4.0 !

EVMG32 3-3F5/5.5 6310 ZZ C3
EVMG32 3-1F5/5.5 6310 ZZ C3
EVMG32 4-3F5/7.5 6310 ZZ C3
EVMG32 4-1F5/7.5 6310 ZZ C3
EVMG32 5-3F5/11 6313 ZZ C3
EVMG32 5-0F5/11 6313 7Z C3
EVMG32 6-3F5/11 6313 7Z C3
EVMG32 6-2F5/11 6313 ZZ C3
EVMG32 7-3F5/15 6313 7Z C3
EVMG32 7-0F5/15 6313 7ZZ C3
EVMG32 8-3F5/15 6313 ZZ C3
EVMG32 8-2F5/15 6313 7Z C3
EVMG32 9-3F5/18.5 631377 C3
EVMG32 9-0F5/18.5 6313 ZZ C3
EVMG32 10-3F5/18.5 6313 ZZ C3
EVMG32 10-2F5/18.5 631377 C3
EVMG32 11-3F5/22 631577 C3
EVMG32 11-0F5/22 6315 7ZZ C3
EVMG32 12-3F5/22 631577 C3

EVMG32 13-3F5/30

6315 ZZDT C3 *

EVMG32 13-0F5/30

6315 ZZDT C3 *

EVMG32 14-3F5/30

6315 ZZDT C3 *

EVMG32 14-0F5/30

6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)45
0 USgpm 50 100 150 200 250 300
I I T I T I T I T I I|
0 Impg.pm. 50 100 150 200 250
06— 60
P HoL LI
[MPa] [m] T —t—
E— 2.0 Iff
/75 i — 160
L — 140
04— 40 e Q
T \'\ \
\\ 2. 2% — 120
— 100
\
R T-0/ao, 80
NPSH
02 /== - 7 —~ N m oo
\\‘1/3.0 kw \\
\\ 6—20
40
S 7
=10
NPSH L
// 9 20
0- 0 0
0 200 400 600 800 1000 Q [lmin]
T T T T T T T T
0 10 20 30 40 50 60 Qmn]
8 |
P 2 2;0 —
[kW] ) 2:2 T et
-0 —
11—
0 |
0 200 400 600 800 1000 Q [Vmin]
80
n 7,=_
0 [ \\\
[%] 70 ~ ~ 20
X — - |
. 2‘2 § 0
TS
N\
50
0 200 400 600 800 1000 Q [Iimin]
Rotation speed #2900 min*
Test standard: 1SO 9906:2012 - Grade 3B
338

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

[MPa] m

0.8 — 80

0.4 — 40

P
(kW]

80
(%] 70
60

50

339

PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
| | | I | |
0  Imp.g.p.m. 50 100 150 200 250
—— 350 H
T 4 f
—— \0/75k\w
— —— \ — 300
o ~%2Zy, | N
ll S—— [ \ L
—l-—\%/, e TN \\ 250
—— — e~ \
—— 3-2/, \& — 200
N\
N \ nesH | 10
N ml ()
6——20 [ 100
/'/ 4
NPSH 10 = 50
// 2
0
0 200 400 600 800 1000 Q [limin]
| | | | I | | |
0 10 20 30 40 50 60 Q]
|
4-2 S~
3 0 " | —
32 —_—
0 200 400 600 800 1000 Q [limin]
P — 470
‘\‘\ 30
N
N
y.d 32/
[
4‘-2
0 200 400 600 800 1000 Q [limin]

Rotation speed 2930 min*
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

2.0 7

[MPa]

0.5

P2
kW]

(%]

200

[m]

150

100

50

80

70

60

50

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T
0  Impg.p.m. 50 150 200 250
— 600
B I I s, e L 500
e epu—— 1 \6}%
- T~
T —+— \\562'/22%\\
—— - ——0/155 SN N 400
4\\‘{2/1 854y \\ \
R\
\‘ \\ 300
N \
\ 200
NPSH
[m] [ff
6 — 20 [~ 100
/
0
0 200 400 600 800 1000 Q [lfmin]
T T T T T T T T
0 10 20 30 40 50 60 a[m
| /,-
o _—
5;0 — —
5.2 T~ - —
|
1
0 200 400 600 800 1000 Q [lfmin]
T
\ 5060 |
\(/
- 6:2 N
/) |
r 4 5-2
0 200 400 600 800 1000 Q [imin]
Rotation speed 2940 min
Test standard: 1ISO 9906:2012 - Grade 3B

[ft

340

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

25—
p
[MPa]
2.0 H
1.5 —
1.0+
0.5+
0 p—
P2
(kW]
n
[%]
341

250

[m]

200

150

100

50

30

20

80

70

60

50

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
| T T | T 1
0  Impgp.m. 50 100 150 200 250
- 800
H
— —_ i - 700
— _ — 8. 0 /30
L ———1 Pl
—— \%\ - 600
‘\——\“ L %30,(”/ ~ \\
*\‘ {2/30’( NG N
~ A3 \‘ - 500
\; \
N — 400
\\
N\
NPSH [~ 300
[m] [ft]
6 ——20 |~ 200
NPSH ~ 4
10 |- 100
e 2
0
0 200 400 600 800 1000 Q [¥min]
| T T T T T T T
0 10 20 30 40 50 60 Qmn]
| —
8.0 I f—"—i
872 \/4; —
T / ,
i
7-2
|
0 200 400 600 800 1000 Q [/min]
T roBo |
%/
L 7-2/8-2
/
7
0 200 400 600 800 1000 Q [min]

Rotation speed 2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



50 Hz

EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)45
0 USgpm 50 100 150 200 250 300
| | | | | |
| | | | | 1
0 Imp.g.p.m. 50 100 150 200 250
30 300
P Ho [ - 900
(MPa] m [ = \ H
§___§§~_ 'h\ 70~0 [ft]
L r —.\9\‘ ” 437 k1 - 800
T T 900~
— == ] @'w\ w\\\ L 00
20 200 \\\\\
\\%\ — 600
\\\\\‘
— 500
N
— 400
10~ 100 NPSH | 309
] [ft
6— 20 |- 200
NPSH - 4
L — ) 10 100
0-— 0 0
0 200 400 600 800 1000 Q{/min]
| | | | | | | |
0 10 20 30 40 50 60 Qmdn]
40 i
P, 100 I
kW, - //___———=
W 190’02 /7/;
912 \/,/4/
. =
|
0 200 400 600 800 1000 Q{/min]
80 i
n 9-0/10-0
w70 7\\/
9-2/10-2
. -2/10-
60 ,/
50
0 200 400 600 800 1000 Q[limin]
Rotation speed 2960 min*
Test standard: 1SO 9906:2012 - Grade 3B
342
5 E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)45

Dimensional sketch

Round flange (F) - DN80
c
B
I I
I I
@ -
T O
B
N
L, .
A -
P2 G3/8
N
T
N° 8 holes 218
D< i
5
g i
N° 4 holes 214 | /| H—=
190
251
365

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)

3~ ) Weight

) H2 Weight Pump +

kW  Size A Pump Motor

Pmax
Pump Type [MPa] B c H3

EVM(L)45 1-1F5/3.0 16 3.0 | 100L | @160 196 155 306 525 76 99
EVM(L)45 1-0F5/4.0 1.6 4.0 | 112M | 2160 196 155 306 525 78 105
EVM(L)45 2-2F5/5.5 16 55| 132S | 2300 225 160 328 618 86 125
EVM(L)45 2-0F5/7.5 16 75 | 132S | 2300 225 160 350 618 86 127
EVM(L)45 3-2F5/11 1.6 11 | 160 M | 2350 248 194 476 821 106 168
EVM(L)45 3-0F5/11 1.6 11 | 160 M | 2350 248 194 476 821 106 168
EVM(L)45 4-2F5/15 25 15 | 160 M | @350 317 238 498 893 115 204
EVM(L)45 4-0F5/15 25 15 | 160 M | @350 317 238 498 893 115 204
EVM(L)45 5-2F5/18.5 25 185| 160L | 2350 317 238 542 965 138 242
EVM(L)45 5-0F5/18.5 25 18.5| 160L | 2350 317 238 542 965 138 242
EVM(L)45 6-2F5/22 25 22 | 180 M | @350 360 268 577 | 1037 143 306
EVM(L)45 6-0F5/22 25 22 [ 180M | 2350 | 360 268 577 | 1037 143 306
EVM(L)45 7-2F5/30 25 30 200L | @400 399 300 658 | 1124 149 377
EVM(L)45 7-0F5/30 25 30 200L | @400 399 300 658 | 1124 149 377
EVM(L)45 8-2F5/30 25 30 200L | @400 399 300 658 | 1196 160 388
EVM(L)45 8-0F5/30 25 30 200L | @400 399 300 658 | 1196 160 388
EVM(L)45 9-2F5/30 25 30 200L | @400 399 300 658 | 1269 165 393
EVM(L)45 9-0F5/37 25 37 | 200L | @400 399 300 658 | 1269 172 414
EVM(L)45 10-2F5/37 3.0 37 | 200L | 2400 | 399 300 658 | 1341 177 419
EVM(L)45 10-0F5/37 3.0 37 200L | @400 399 300 658 | 1341 177 419

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

343

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)45

75-1
2731
2121
Pump without ball bearing
344
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW

EVM(L)45
274-2
150
120-13 274-3
140 \ 56
131-1 \ T / 51
130-4 e P e — ‘/[[;_IJ/ 120-8
111-4 \\ = Q Q %ﬁ/ 120-6
130-1 \\T_\ = WI // 162
120-3 I \\ e /i/ /— 130-2
~ |
N R RS =
B ] L/ | i
111-5 | [ E ] N l\\\\\ f_ , 75
111-2\5\%\ . T 212
154 —10 \5 \:@ 115-1
ot 3 N
47— i1l ] i \ 5-4
274-1 il ?"ﬂ\ 111-1
435 = I —tY
I I e —
ﬂi N E—
:!;' S —
1201 — | I|I I \ 52
43-6 \a___ﬂl_ !l! \ 136-1
187-1 —[ ] - 438
75-1
273-1
212-1
Pump with single ball bearing
345
EBARA Pumps Europe 5 ESARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS 50 Hz

75-1
2731
2121

SECTIONAL VIEW

EVM(L)45
120-7
135-4 FE— e
12013/1/']I [ —} 7. 190
AT Ve . [] 7041
51 ,\_,,‘,J |‘ 5
128-3 N "
N 140-1

120-8 N J
i ANH 162
245 so

140-2 T o -
( A== = 135-3
131-1 ! H 0 ; 120-5
| T ] -
130-2 . =P ‘
1 ‘w 120-6
130-4 | 120-4
™6 Cal A
111-4 1 | !
130-1 , — 1
120-3 ! =l O | "
L P | s 273
111-3 = s s
128-1 k l i
as | L /
135-1 — == ~ ——] 11
115-5 \ ‘ — —
1303\\' = = 15-1
> — T N
\\N\\*‘ f 3 j\ \ 5-4
2741 — {117 rr—
435 NN \\\111_1
1o R \\\111-2
= ]
52-1 el \ o
= T H \\ 43-1
- |
\ ! ™~ . \\ e
434 M
\T\\ 43-8
R |l
IR |
T

Pump with single ball bearing

346

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

347

|

75-1
2731
212-1

SECTIONAL VIEW
EVM(L)45

136

Qlon,

I——

J—

70-1
/ 56
/ 140-1

[./

L[]

o i
=i

Pump with double ball bearing

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)45
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN. 1.4308 (ASTM CF8) EN. 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
1 Casing cover Cast Iron + Cast Iron +
EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller

- EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Shaft sleeve EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing see table page 350
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
81 Bush PTFE
107 Liner ring PTFE /EN 1.4401 (AISI316)
111-1 Mechanical seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4404 (AISI 316L)
11-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.240.66x5.34
115-4 O-Ring (cartridege sleeve) EPDM FPM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53
120-1 Tie Rod Galvanized steel 6.8 strenght class ISO 898/1

348

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVM(L)45
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML

120-2 Tie Rod EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

120-3 Screw A2-70 UNI 7323 M5x10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739

120-5 Screw for coupling EVM451-0and 11 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI5931
EVM45 3 to 10 M10x30 UNI 5739

120-6 Screw for coupling EVMasS 1102 Galvanized steel 8.8 strenght class 1ISO 898/1 M8x20 UNI'5931
EVM45 3 to 10 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739

120-8 Screw EVM452 -0and 2-2 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739
EVM45 3 to 10 M10x30 UNI 5739

120-9 Screw EVML EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M58 UNI5737
EVM. EVMG UNI 5739

120-12 Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
EVM45 2-0, 2-2 M12x30 UNI 5739

120-13 | Screw for motor EVML45 9-0, 10-0, 10-2 Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739
EVM45 9-0, 10-0, 10-2 M16x55 UNI 5737
EVM45 3-0 to 9-2 M16x65 UNI 5739

128-1 Nut (Tie Rod) Galvanized steel M16 UNI 5588

128-2 Nut Carbon Steel EN 1.4401 (AISI 316) M5 UNI 5588

128-3 Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel M75x2

130-1 Set screw A2- 70 UNI 7323 M6x8 UNI 5923

130-2 Screw (coupling guard) A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) M6x6 UNI 5923

130-4 Set screw Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

131-2 Elastic pin Galvanized steel 6x25 UNI 6873

135-1 Washer Galvanized steel 17x30x3 UNI 6592

135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer Carbon Steel 6.4 UNI 1751

135-5 Washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

136 Bearing washer Carbon Steel

136-1 Stopper ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

137-2 | Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

140 Coupling Brass OT 58 UNI 5705

140-1 Motor coupling Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast Iron EN-GJL-200 EN1561

162 Motor bracket Cast Iron EN-GJL-200 EN1561

212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

273-1 Plug washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

274-1 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM45 2-0, 2-2 D.50 UNI 7435

274-2 C-type snap ring EVM453to5 Carbon Steel TC80 D.65 UNI 7435
EVM45 6-0 and 6-2 D.75 UNI 7535

274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437

613 Flange Carbon Steel

349

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA




VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVM(L)45

Pump Type N
5-2| 11 | 21 |21-1|39-1|43-2|43-3(43-4(44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5|120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 |140-1(140-2| 150 |274-2(274-3
EVM(L)45 1-1F5/3.0 1\ /7 |1] 1/ / / / / ! J I A A I A / 2 / / / / / / 1 1 / / / / /
EVM(L)45 1-0F5/4.0 11/ |11]1/ / / / / ! ! r{fafrfr)p1(1 / 2 / / / / / / 1 1 ! / / / /
EVM(L)45 2-2F5/5.5 211121 1 / / ! 1|/ 12|11/ |2 2 / / / 4 / / / / 1 1 ! / 1 1 1
EVM(L)45 2-0F5/7.5 271 (2|1 ! 1 / / ! 1|/ |12|1|/7|2 2 / / / 4 / / ! ! 1 1 ! / 1 1 1
EVM(L)45 3-2F5/11 311121 2 / / / 11/]3|1f1(3 3 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-0F5/11 313/ 1 2 / / ! 1 /|3|1]1]3 3 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVM(L)45 4-2F5/15 411221 2 1 1 1 1 (1|41 |1]|3 4 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 4-0F5/15 4114/ 1 2 1 1 1 1 1(4|1(1]3 4 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 5-2F5/18.5 5|1(3]|2]|1 3 1 1 1 1(1|5(1|1|4 5 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 5-0F5/18.5 5(1|5]|/ 1 3 1 1 1 1(1|5(1|1|4 5 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 6-2F5/22 6|1(4]2]1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 ! 4 3 ! ! 1 1 1 1 !
EVM(L)45 6-0F5/22 616/ 1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 7-2F5/30 71152 1 5 1 1 1 1 1(7]1(1]6 7 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 7-0F5/30 717/ 1 5 1 1 1 1(1|7(1|1|6 7 4 4 3 4 4 1 4 3 1 ! 1 1 / / !
EVM(L)45 8-2F5/30 8|1(|6]|2]|1 6 1 1 1 1 (1|81 |1|7 8 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 8-0F5/30 8|1|8]/ 1 6 1 1 1 1 1(8|1 (1|7 8 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 9-2F5/30 9|11 (7|21 7 1 1 1 1 (1|91 |1|8 9 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 9-0F5/37 9 (19| / 1 7 1 1 1 1 (1|91 |1(8 9 4 4 3 4 4 1 4 3 1 ! 1 1 / / !
EVM(L)45 10-2F5/37 0|1 (8]2]1 8 1 1 1 1|1)10{1|1|(9|10] 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-0F5/37 10| 1 (10 / 1 8 1 1 1 1 (1|10{1|1(9]|10 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
BEARINGS
EVM(L)45
Pump Type '5\16

EVM(L)45 1-1F5/3.0 /

EVM(L)45 1-0F5/4.0 /

EVM(L)45 2-2F5/5.5 6310 ZZ C3

EVM(L)45 2-0F5/7.5 6310 2z C3

EVM(L)45 3-2F5/11 631377 C3

EVM(L)45 3-0F5/11 6313 ZZ C3

EVM(L)45 4-2F5/15 6313 ZZ C3

EVM(L)45 4-0F5/15 6313 ZZ C3

EVM(L)45 5-2F5/18.5 6313 ZZ C3

EVM(L)45 5-0F5/18.5 6313 ZZ C3

EVM(L)45 6-2F5/22 631577 C3

EVM(L)45 6-0F5/22 631577 C3

EVM(L)45 7-2F5/30 6315 ZZDT C3 *

EVM(L)45 7-0F5/30 6315 ZZDT C3 *

EVM(L)45 8-2F5/30 6315 ZZDT C3 *

EVM(L)45 8-0F5/30 6315 ZZDT C3 *

EVM(L)45 9-2F5/30 6315 ZZDT C3 *

EVM(L)45 9-0F5/37 6315 ZZDT C3 *

EVM(L)45 10-2F5/37 6315 ZZDT C3 *

EVM(L)45 10-0F5/37 6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

350

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| L : T : T : — II
0 Impgpm. 50 100 150 200 250
0.6 60
P Ho oo
[MPa] ml e S
m— 2.0 [fi
77 5 1y — 160
L 140
04— 40 —— >
T \'\ \
\\ 2~2/5 - 120
~054, \
\ N 100
—f—— 1-0/4.0,,, L g
- ~_ NPSH
0.2 20 — f ~ ff
— \ N m [ |
\{/S‘Okw \\ 60
\\ 6 2
40
S “
10
NPSH ___—] 5 - 20
0- 0 0
0 200 400 600 800 1000 Q [lfmin]
T T T T T T T T
0 10 20 30 40 50 60 Qmn]
8 |
P, 2;0 B
[kW] . 2:2 Tt
1%0 _
11—
0 |
0 200 400 600 800 1000 Q [lfmin]
80
n ’,
0, T~ \\\
%] 70 ~ ~<
22 NN 20
0 CTTINON\ 1-0
TN
N\
50
0 200 400 600 800 1000 Q [Vfmin]
Rotation speed 2900 min-1
Test standard: 1SO 9906:2012 - Grade 3B
351

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T T
0 Impg.pm. 50 100 150 200 250
129 120
p H
[MPa] m] T I . — 350
S— N%
T, — \\ — 300
4‘2/15
08—  80—= S S \If\*W N
. — 250
_'F—\%/ka \ \\
——— — | \
—— 3-2 \& — 200
N \ NesH | 190
0.4 — 40 \| m] [
6 —— 20 100
/'/ )
NPSH 10 —50
// 2
0- 0 0
0 200 400 600 800 1000 Q [Vimin]
I T T T T T T T
0 10 20 30 40 50 60 Qmin]
PZ 1 4|0 //——'
kW] 4-2 N~
6 3-0 I I
312 —_—
4
0 200 400 600 800 1000 Q [lmin]
80 :
% 70 - \ 0
° AN
" y.d 32/
[
4-2
50 ‘
0 200 400 600 800 1000 Q [limin]
Rotation speed 2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B

[f

352

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

2.0

[MPa]

0.5

P2
[kw]

[%]

353

200

[m]

150

100

50

80

70

60

50

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
I I I I I I I I I I I
0 Impgpm. 50 100 150 200 250
I— 600
H
[ft]
I s e - 500
T T —— Ty,
! N
R \6~2I/22kw \\
—— - %\ N\ I~ 400
—_——
"“\\ 5_ 2 /78 N
.5 k
w \\
\‘\\\ .
\\ N
N 200
NPSH
[m] [ft]
6 20 [~ 100
/ 4
0
0 200 400 600 800 1000 Q [/min]
[ I I I I I I I
0 10 20 30 40 50 60 Q [m:}h]
|
6.2 S
5;0 — —
5‘2 i e
|
I
0 200 400 600 800 1000 Q [I/min]
I
\\ 5060 |
\(/
L 6-2 N
/ !
r 4 52
0 200 400 600 800 1000 Q [/min]

Rotation speed 2940 min*
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

2.5

[MPa]

2.0

0.5

P
kw]

[%]

250

[m]

200

150

100

50

30

20

80

70

60

50

PERFORMANCE CURVE

EVMGA45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I T T T T T
0 Impgpm. 50 100 150 200 250
- 800
H
— —_— 1 . 70
[ e S A \8?@1«
——— \%\ - 600
§*‘—\‘* — \O/:J’Okw ~ \\
ﬁ‘\‘ {2/30“ NG N
~— NN - 500
\\
— 400
O\
N\
NPSH [~ 300
[m] [f]
6—— 20 |-200
NPSH ~ 4
10 100
e 2
0
0 200 400 600 800 1000 Q [limin]
T T T T T T T T
0 10 20 30 40 50 60 Qmin]
| ——
80 — —— =]
82 T~ e —
7:0 __/9,
|
7-2
|
0 200 400 600 800 1000 Q [limin]
T
:\ |
\\ - 7-0/8-0
7 7-2/8-2 7\
/
7
0 200 400 600 800 1000 Q [limin]
Rotation speed =2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B
354

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
I 1 1 1 1 I
0 Imp.g.p.m. 50 100 150 200 250
30— 300
P o — 900
[MPa] [m] T — s H
T — [ 70. ft
L T —'\9\‘ 73 371 Lo
M ——1 T — "0/37 km?/\??
T —— %'w\ \kw\\\ 700
20— 200 \\\\\
N %\ - 600
\ \
\\\ Y
— 500
NG
\ - 400
10— 100 NPSH | 300
[m] [ft]
6——20 |- 200
— ) 10 100
0 0 0
0 200 400 600 800 1000 Q [limin]
I T T T T T T T
0 10 20 30 40 50 60 Q[mdn]
P 10|-0 —
kW - //___———=
W 190’; /7/;
9:2 Ne—F
. | — =
I
0 200 400 600 800 1000 Q [limin]
80 ‘
n 9-0/10-0 —
L
" DA
v 9-2/10-2
60 ,/
50
0 200 400 600 800 1000 Q [limin]
Rotation speed 2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B
355

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG45

Dimensional sketch

Round flange (F) - DN80
c 1
B
T T
I I
[se] -
T g
E
N
L. N
A -
BFE==3 G 38
N
I
N° 8 holes 218
D< L L %]g
8 M
N 4holesot4] |9 [[-20
190
251
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVMG45 1-1F5/3.0 16 3.0 | 100L | 160 | 196 155 306 | 525 69 92
EVMG45 1-0F5/4.0 1.6 40 | 112M | @160 | 196 155 306 | 525 71 98
EVMG45 2-2F5/5.5 16 55 | 132S | 2300 | 225 160 328 | 618 79 118
EVMG45 2-0F5/7.5 16 75 | 132S | 2300 | 225 160 350 | 618 79 120
EVMGA45 3-2F5/11 16 11 | 160M | 2350 | 248 194 476 | 821 97 159
EVMG45 3-0F5/11 16 11 | 160M | @350 | 248 194 476 | 821 97 159
EVMG45 4-2F5/15 25 15 | 160M | 2350 | 317 238 498 | 893 105 194
EVMGA45 4-0F5/15 25 15 | 160M | 9350 | 317 238 498 | 893 105 194
EVMGA45 5-2F5/18.5 25 185| 160L | #350 | 317 238 542 965 126 230
EVMG45 5-0F5/18.5 25 |[185| 160L | @350 | 317 238 542 | 965 126 230
EVMGA45 6-2F5/22 25 22 | 180M | 9350 | 360 268 577 | 1037 130 293
EVMGA45 6-0F5/22 25 22 [ 180M | 2350 | 360 268 577 | 1037 130 293
EVMGA45 7-2F5/30 25 30 | 200L | 2400 | 399 300 658 | 1124 136 364
EVMG45 7-0F5/30 25 30 | 200L | 2400 | 399 300 658 | 1124 136 364
EVMG45 8-2F5/30 25 30 | 200L | 2400 | 399 300 658 | 1196 147 375
EVMGA45 8-0F5/30 25 30 | 200L | @400 | 399 300 658 | 1196 147 375
EVMG45 9-2F5/30 25 30 | 200L | 2400 | 399 300 658 | 1269 151 379
EVMGA45 9-0F5/37 25 37 | 200L | 2400 | 399 300 658 | 1269 158 400
EVMG45 10-2F5/37 3.0 37 | 200L | 2400 | 399 300 658 | 1341 162 404
EVMG45 10-0F5/37 3.0 37 | 200L | 2400 | 399 300 658 | 1341 162 404

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

356

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

-

VM

VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVMG45

-
- W N
L A
(4 NN

[ [ [ [ 7

1
|

120-1
436 —— |1 |
137-1 (1]
w0 — T
:D—‘—\\
31

)
]

Pump without ball bearing

357

EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW

EVMG45
274-2
150
120-13 2743
140 \ 56
131-1 \1 il / 51
130-4 o i — 4//—%//#/U_U/— 120-8
111-4 Q Q e 120-6
i
130-1 - - / 162
~ i //_
N |
120-3 N /!' - 130-2
1155 IRy y By 245
R 5 Y [ ¥ |A_’,/
128-1 \ . ) | 111-3
135-1 SN | 273
111-5 s [ . ™ L_\ # 75
e i
115-4\\ \<5 \I 1151
1303 —— [ « > s
47— | 4_: i ] — 5-4
274-1 i i \ 111-1
43-5— 11 [ = L 43-1
I T
M t\ 53
o — |11 1 I
e I \ 136-1
137-1 ——
e o - 43-8
L —=—-
Ee =2\ "o~ | T 1282
437 7
N - 120-2
75-1 52-2 — "jr: . ‘ M \\ ™S o7
273-1 44-2 i A\ <] 43
2121 6 lll‘l L4 / ] S~ )
1N 2T ) 120-9
4 \1_ T - ’ 702
613 ~_| N
F— - 137-2
t = r j _3§ 135-5
B \ - T 120-12
. ‘1 L |
[ ! | J
Pump with single ball bearing
358
% E2ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

75-1
2731

| 212-1

—

SECTIONAL VIEW

120-7

EVMG45

135-4 T

120-13 T

\

51
128-3
120-8

245
140-2
131-1
130-2
130-4
111-4
130-1
120-3
111-3
128-1

%

/

P
7

P

Py

- %,

E\

4

[ ———f—f——7"""\Y

7

135-1
115-5

ZJL//
i
1
H
—
5
1

130-3
47

)

e e S e e

2741 — ]

43-5 ]

433
52-1
441

434 —

/]

/

]
[ ]
/

|

|

/

[ ]

I i —

p—
-
38
\\
A\
\@. M"’c
= ﬁ H

Pump with single ball bearing

274-2
150
70-1
56
140-1

162
39-1
135-3
120-5
120-6
120-4
273
75
212

115-1

5-4
1111
111-2
115-4
43-1
136-1
43-8

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVMGA45

i)
1

117
177

m [ TT—
435 I T
153 ] \\ 114
o T i \ 112
441\‘\\\ \1154
AN — 431
434 \ ™~ N
\\ \ 136-1
Ny 438
|
1\
|

32— |

120-1 ——

436 —— |
1371 ——

48 — 17
I—

31
43-7

751
2731 522

442 ——F——+1
212-1

6

45— |

613 \2?
N
i

Pump with double ball bearing
360

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVMG45
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG

5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL 250 EN 1561
7 Outer casing EN 1.4301 (AISI 304)
11 Casing cover Cast Iron EN GJL 250 EN 1561
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller

- EN 1.4301 (AISI 304)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 Shaft sleeve EN 1.4301 (AISI 304)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 363
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
81 Bush PTFE
107 Liner ring PTFE /EN 1.4401 (AISI316)
111-1 Mechanical seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D.240.66x5.34
115-4 O-Ring (cartridege sleeve) EPDM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM D.44.04x3.53
120-1 Tie Rod Galvanized steel 6.8 strenght class ISO 898/1

361

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG45
N° PART NAME MAETVE'\?éAL DIMENSIONS STANDARD
120-2 Tie-rod EN 1.4301 (AISI 304)
120-3 Screw A2-70 UNI 7323 M5x10 UNI 5931
120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
120-5 Screw for coupling EVMA5 1-0and 11 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5981
EVM45 3 to 10 M10x30 UNI 5739
120-6 Screw for coupling EVMas 1102 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI5931
EVM45 3 to 10 M12x30 UNI 5931
120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739
120-8 Screw EVM452 0 and 22 Galvanized steel 8.8 strenght class 1ISO 898/1 M12x25 UNI5739
EVM45 3to 10 M10x30 UNI 5739
120-9 Screw EVML EN 1.4301 (AISI 304) M5x8 UNIS757
EVM. EVMG UNI 5739
120-12 | Screw EN 1.4301 (AISI 304) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
EVM45 2-0, 2-2 M12x30 UNI 5739
120-13 | Screw EVML45 9-0, 10-0, 10-2 Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739
EVM45 9-0, 10-0, 10-2 M16x55 UNI 5737
EVM45 3-0 - 9-2 M16x65 UNI 5739
128-1 Nut for tie rod Galvanized steel M16 UNI 5588
128-2 Nut Carbon Steel M5 UNI 5588
128-3 Nut Galvanized steel M16 UNI 5588
129 Lock nut Carbon Steel M75x2
130-1 Set screw A2- 70 UNI 7323 M6x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
130-3 Set screw A2- 70 UNI 7323 M6x6 UNI 5923
130-4 Set screw Carbon Steel M10x10 UNI 5923
131-1 Pin for shaft Carbon Steel
135-1 Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751
135-4 Washer Carbon Steel 6.4 UNI 1751
135-5 Washer EN 1.4301 (AISI 304)
136 Bearing washer Carbon Steel
136-1 Stopper ring EN 1.4301 (AISI 304)
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling Brass OT 58 UNI 5705
140-1 Coupling (motor side) Carbon Steel
140-2 Coupling (pump side) Carbon Steel
150 Spacer Carbon Steel
162 Motor bracket Cast Iron EN-GJL-200 EN1561
212 Plug EN 1.4301 (AISI 304)
212-1 Plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug Washer EN 1.4301 (AISI 304)
273-1 | Plug Washer EN 1.4301 (AISI 304)
274-1 C-type snap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM45 2-0, 2-2 D.50 UNI 7435
274-2 C-type snap ring EVM453to 5 Carbon Steel TC80 D.65 UNI 7435
EVM45 6-0 and 6-2 D.75 UNI 7535
274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437
613 Flange Carbon Steel
362

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL

EVMG45

Pump Type N
5-2| 11 | 21 |21-1|39-1|43-2|43-3(43-4(44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5|120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 |140-1(140-2| 150 |274-2(274-3
EVM(L)45 1-1F5/3.0 1\ /7 |1] 1/ / / / / ! J I A A I A / 2 / / / / / / 1 1 / / / / /
EVM(L)45 1-0F5/4.0 11/ |11]1/ / / / / ! ! r{fafrfr)p1(1 / 2 / / / / / / 1 1 ! / / / /
EVM(L)45 2-2F5/5.5 211121 1 / / ! 1|/ 12|11/ |2 2 / / / 4 / / / / 1 1 ! / 1 1 1
EVM(L)45 2-0F5/7.5 271 (2|1 ! 1 / / ! 1|/ |12|1|/7|2 2 / / / 4 / / ! ! 1 1 ! / 1 1 1
EVM(L)45 3-2F5/11 311121 2 / / / 11/]3|1f1(3 3 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-0F5/11 313/ 1 2 / / ! 1 /|3|1]1]3 3 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVM(L)45 4-2F5/15 411221 2 1 1 1 1 (1|41 |1]|3 4 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 4-0F5/15 4114/ 1 2 1 1 1 1 1(4|1(1]3 4 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 5-2F5/18.5 5|1(3]|2]|1 3 1 1 1 1(1|5(1|1|4 5 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 5-0F5/18.5 5(1|5]|/ 1 3 1 1 1 1(1|5(1|1|4 5 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 6-2F5/22 6|1(4]2]1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 ! 4 3 ! ! 1 1 1 1 !
EVM(L)45 6-0F5/22 616/ 1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 7-2F5/30 71152 1 5 1 1 1 1 1(7]1(1]6 7 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 7-0F5/30 717/ 1 5 1 1 1 1(1|7(1|1|6 7 4 4 3 4 4 1 4 3 1 ! 1 1 / / !
EVM(L)45 8-2F5/30 8|1(|6]|2]|1 6 1 1 1 1 (1|81 |1|7 8 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 8-0F5/30 8|1|8]/ 1 6 1 1 1 1 1(8|1 (1|7 8 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 9-2F5/30 9|11 (7|21 7 1 1 1 1 (1|91 |1|8 9 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 9-0F5/37 9 (19| / 1 7 1 1 1 1 (1|91 |1(8 9 4 4 3 4 4 1 4 3 1 ! 1 1 / / !
EVM(L)45 10-2F5/37 0|1 (8]2]1 8 1 1 1 1|1)10{1|1|(9|10] 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-0F5/37 10| 1 (10 / 1 8 1 1 1 1 (1|10{1|1(9]|10 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
BEARING
EVMG45
Pump Type 216

EVMG45 1-1F5/3.0 /

EVMG45 1-0F5/4.0 !

EVMG45 2-2F5/5.5 6310 ZZ C3

EVMG45 2-0F5/7.5 6310 ZZ C3

EVMG45 3-2F5/11 6313 7Z C3

EVMG45 3-0F5/11 6313 7ZZ C3

EVMG45 4-2F5/15 6313 ZZ C3

EVMG45 4-0F5/15 631377 C3

EVMG45 5-2F5/18.5 63137Z C3

EVMG45 5-0F5/18.5 6313 ZZ C3

EVMG45 6-2F5/22 6315 ZZ C3

EVMG45 6-0F5/22 631577 C3

EVMG45 7-2F5/30 6315 ZZDT C3 *

EVMG45 7-0F5/30 6315 ZZDT C3 *

EVMG45 8-2F5/30 6315 ZZDT C3 *

EVMG45 8-0F5/30 6315 ZZDT C3 *

EVMG45 9-2F5/30 6315 ZZDT C3 *

EVMG45 9-0F5/37 6315 ZZDT C3 *

EVMG45 10-2F5/37 6315 ZZDT C3 *

EVMG45 10-0F5/37 6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

363

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Impg.p.m. 100 200 300
0.3 — 30
p H —J_ - 90
[MPal] [ml — , H
-0, ft]
L g
— \\
—— \ 70
0.2 20 '\\\Qﬁ, \\
.0
N N 60
\\
\ 50
\\ ‘
40
N NPSH
01— 10 [m] I[f]
30
8 —
~ —20 20
/
//
NPSH - 4
// =10 |10
—
0— 0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Q[m
6 |
P2 120 _—
- —
K — _—
1-1 74/
‘ T ———
2
0 400 800 1200 Q [Vmin]
80
n —— \\
% 70 11 < o S
} //r/ N \\
60 1-0 \\‘// \\
50
0 400 800 1200 Q [Vmin]
Rotation speed 2900 min*
Test standard: 1ISO 9906:2012 - Grade 3B
364

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

06 60
p H
[MPa] [ml
04— 40
02— 20
0- 0
12
P2
[kw]
4
80
n
%] 70
60
50
365

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 300 400
| ! ! ! !
| | T T
0 Impg.pm 100 200 300
e 180
M~ — | T — 2~
— _ \('I@k\”’ ft
L T — - 160
— _ \&7/77,% \\\
T — —— \ — 140
{2/7_5’(”/ N
\ - 120
N\ \\
\\ \\
100
N\
\ NPSH
\1 [ml [ff] |80
8 —
- 60
P -
- 2
_— - 40
" 4
NPSH " 10
// 20
|
0
0 400 800 1200 Q [imin]
| T T T T
0 20 40 60 80 Qmn]
20 —
| \ Iy
2-1 —] —
| \///
22—
0 400 800 1200 Q [imin]
1 — E\:\‘
22 — N
| // ~
21 |
ZTO N
0 400 800 1200 Q [imin]

Rotation speed 2930 min*
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

0.9 4 90

[MPa] [m]

0.6 — 60

0.3 30

P
kW]

80

[%] 70

60

50

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 300 400
| ! ! ! !
| 1 | T
0 Impgpm 100 200 300
- — - — 3-
~ ——— \?/&-S\kw L 250
L | — \{1'/15 K \
— —_ \\3*2/75kw \\ \\
\\&3/15% \\\‘ \ - 200
\\\\ \
\\ N\ \\\
\\\\ \\ A — 150
h NPSH |- 100
[m] [f]
8
— 20 50
/
//
NPSH _— 4
i 10
0
0 400 800 1200 Q [imin]
| T T T T
0 20 40 60 80 Qmin)
\
30 p—
3'1 // "]
3-2 I
| //
3‘-3
0 400 800 1200 Q [min]
33 .
3"2 \\ N\
31— AN
3-0 — )
0 400 800 1200 Q [limin]

Rotation speed =2940 min

Test standard: ISO 9906:2012 - Grade 3B

[ft

366

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

[MPa] [m]

0.8 — 80

0.4 — 40

24
P2
(kW]

80
% 70
60

50

367

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 300 400
| | | | |
| | | T
0  Impg.pm. 100 200 300
—— T — 350 H
[ — — ] 4-
e e g
T — T — TR N
—— ‘:%\\\‘ - 300
~315
SN
NN\ \ - 250
\‘\ - 200
N
NPSH
‘\ m] [f]
- 150
8_
P 90
> - 20 |- 100
NPSH " 4
" 10 |50
1L —
T
0
0 400 800 1200 Q [i/min]
| T T T T
0 20 40 60 80 Qmdn]
40
T /7
412 — |
0 400 800 1200 Q imin]
| - |
\‘k\ 4-0
- AN
Z N 42
S~ 43
0 400 800 1200 Q [/min]

Rotation speed 2940 min
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 300 400
| | | | |
I T T T
0 Impg.pm 100 200 300
15— 150
p H = —— L 450
T B sl Sy 100
—_— — i \“\\ 5:;/ kW\ \‘ 400
w
\W§§\
350
104 100 AN \\\
Q ‘\ \\ 300
\\\
N \\
NN
\\|
200
NPSH
0.5 50 [m] [
150
8 —
~ — 20 |- 100
"
//
NPSH _— 4
g —10 [~ 50
0 0 0
0 400 800 1200 Q [lfmin]
T T T T T
0 20 40 60 80 Qmdn]
30 |
P 2 5"0 —
LU 5-1 ——
- e
5\2 ‘\2//
5-3 —
10 ‘
0 400 800 1200 Q [min]
80
. |
% 70 2
) R 5+
N\ 52
60
5-3
o |
0 400 800 1200 Q [imin]
Rotation speed 2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B

[ft

368

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Imp.g.pm. 100 200 300
204 200
p H - 600
[MPa] m o ~—_l H
—_— T ——_ 6-|0/37 k\N‘ [ft]
— : : : = 6-1/37kw
S — T T - 500
~
SN
6-2/30w NI \\\\ - 400
6-3/30 kw \\ \\\
NN
10— 100 <
\\‘ L 300
N
NPSH | 900
[m] [ff]
05— 50
8
— 20 | 100
NPSH /// 4
// 10
0— 0 0
0 400 800 1200 Q [iimin]
T T T T T
0 20 40 60 80 Q[m
35 |
P2 6-0 —
kW] - 6-1 L —
e
e
63 ———
15 ‘
0 400 800 1200 Q [iimin]
80 ‘ ‘
n
[% 70 N 6-0
° X6
6-2
60
6-3
“ |
0 400 800 1200 Q [iimin]
Rotation speed 2960 min
Test standard: 1ISO 9906:2012 - Grade 3B
369

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 300 400
| | | | |
I T T T
0 Impg.p.m 100 200 300
20— 200 —T
P A B s S s U ) -6
[MPa] m] —— = \\%
TR
N — 500
15— 150 -
; §j3|7 kw /\\\\
-9/37 kW N N
NN\
\\ \\\ - 400
NN
104 100 N\
\1 300
NPSH | 900
[m] [f]
05— 50
8
- _—— 20 | 100
NPSH — 4
— 10
0 0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Q[m]
40
P2 7-1 —
kW] 7\2 —
= —
7_‘3 12¢
e
20
0 400 800 1200 Q [Ifmin]
80 — =
n ~ —
[%] 70 / — 7‘-1 —
/ ]
60 7-3 —
50
0 400 800 1200 Q [Ifmin]
Rotation speed =2960 min
Test standard: ISO 9906:2012 - Grade 3B

370

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVM(L)64

Round flange (F) - DN100

c
B
-
[ar] 4 ~
SIE
o
N
L, -
A -
: 1 G38
T
N° 8 holes D3
S etEEEls o
il EAE
N 4holes 14| || |LLLH8 D1
| 190 | 266
;5; 331
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ ) Weight
W size A He | o1 | o2 | o3 | ke | RO TEORT
Pmax
Pump Type [MPa] B c H3
EVM(L)64 1-1F5/4.0 1.6 | 40 | 112M | #160 | 196 155 306 | 525 | 2180 | 8220 | @18 | 20 76 102
EVM(L)64 1-0F5/5.5 1.6 |55 | 132S | 2300 | 225 160 328 | 546 | 2180 | 8220 | @18 | 20 82 121
EVM(L)64 2-2F5/7.5 1.6 |75 |132S | 2300 | 225 160 350 | 618 | 2180 | 2220 | @18 | 20 87 127
EVM(L)64 2-1F5/11 1.6 11 | 160M | 2350 | 248 194 476 | 749 | 9180 | 8220 | @18 | 20 100 163
EVM(L)64 2-0F5/11 1.6 11 | 160M | 2350 | 248 194 476 | 749 | 9180 | 8220 | @18 | 20 100 163
EVM(L)64 3-3F5/15 1.6 15 [ 160M | 2350 | 317 238 498 | 821 | #180 | 220 | @18 | 20 106 195
EVM(L)64 3-2F5/15 16 15 [ 160M | 2350 | 317 238 498 | 821 | 2180 | 2220 | @18 | 20 106 195
EVM(L)64 3-1F5/15 1.6 15 [ 160M | 2350 | 317 238 498 | 821 | 9180 | 8220 | @18 | 20 106 195
EVM(L)64 3-0F5/18.5 1.6 |185| 160L | 2350 | 317 238 542 | 821 | 2180 | 8220 | @18 | 20 106 210
EVM(L)64 4-3F5/18.5 1.6 |185| 160L | @350 | 317 238 542 | 893 | 9180 | 8220 | @18 | 20 115 219
EVM(L)64 4-2F5/18.5 1.6 |185| 160L | 2350 | 317 238 542 | 893 | 9180 | 8220 | @18 | 20 115 219
EVM(L)64 4-1F5/22 1.6 22 | 180M | 2350 | 360 268 577 | 893 | 2180 | 8220 | @18 | 20 123 286
EVM(L)64 4-0F5/22 1.6 22 | 180M | 8350 | 360 268 577 | 893 | 2180 | 220 | @18 | 20 123 286
EVM(L)64 5-3F5/30 1.6 30 | 200L | 9400 | 399 300 658 | 980 | 2180 | 8220 | @18 | 20 138 366
EVM(L)64 5-2F5/30 1.6 30 | 200L | 2400 | 399 300 658 | 980 | 2180 | 8220 | @18 | 20 138 366
EVM(L)64 5-1F5/30 1.6 30 | 200L | 8400 | 399 300 658 | 980 | #180 | 220 | @18 | 20 138 366
EVM(L)64 5-0F5/30 1.6 30 | 200L | 9400 | 399 300 658 | 980 | 2180 | 220 | @18 | 20 138 366
EVM(L)64 6-3F5/30 1.6 30 | 200L | 9400 | 399 300 658 | 1052 | 2180 | 220 | @18 | 20 146 374
EVM(L)64 6-2F5/30 25 30 | 200L | 2400 | 399 300 658 | 1052 | 2190 | 8235 | @22 | 26 146 374
EVM(L)64 6-1F5/37 25 37 | 200L | 2400 | 399 300 658 | 1052 | 8190 | 8235 | @22 | 26 146 388
EVM(L)64 6-0F5/37 25 37 | 200L | 9400 | 399 300 658 | 1052 | 190 | 9235 | @22 | 26 146 388
EVM(L)64 7-3F5/37 25 37 | 200L | 2400 | 399 300 658 | 1124 | 2190 | 8235 | @22 | 26 149 391
EVM(L)64 7-2F5/37 25 37 | 200L | 9400 | 399 300 658 | 1124 | 9190 | 8235 | @22 | 26 149 391
EVM(L)64 7-1F5/37 25 37 | 200L | 9400 | 399 300 658 | 1124 | 2190 | 9235 | @22 | 26 149 391

1.6 MPa=16 bar ; 2.5 MPa=25 bar

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)64

//

e e o o i

T 12
128-2
120-2
107
43-8
120-9
70-2
137-2
135-5
120-12
160

e et t

T

ol
Ir

Pump without ball bearing

372

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

75-1
2731
212-1

373

SECTIONAL VIEW

EVM(L)64

274-2
150
274-3
56

\

120-1
436 — |
1371 ——
48 — £
31—
43-7

—

&

7

/
F%/ /
&

&

51
I.:_U/ 120-8
g 120-6

Ly
E EL-/ 162
-

| / 130-2

Ui

52-2 — ]

111-3
A
273
I
g-z 75
z = ——— 212

1156-1

44-2

Pump with single ball bearing

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS

50 Hz

SECTIONAL VIEW

120-8

245
140-2 _\

EVM(L)64
120-7 2742
135-4 Ssss 150
120-13 j/\ L— \\ 70-1
51 ﬂ 5 56
128-3 SN 140-1

131-1
130-2
130-4
111-4
130-1
120-3
111-3
128-1 —
135-1 g
115-5 ! ]
111-5 |
130-3 —\m
a1 — |||
274-1 ‘ﬁr‘w
435 ]
43-3 \r@
521 — ||
44-1 I
34— ]
7]
i
i
|
432 — | |
120-1 —\T
43-6 NL}‘N
%
1l
S
|
4
i
i

LIl

Pump with single ball bearing

374

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



VERTICAL MULTISTAGE PUMPS

EVM

375

SECTIONAL VIEW

EVM(L)64

120-7
135-4 s 129
T 136
120-13 - X ]ﬂ// , 04
T .
I
o 'k":rT\ i ; I 56
128-3 N \ h | 77
120-8 N\ A\ | | / s
- A\ i 1 |/
\ ! Il ys
245 \\————fj \-—_—/7/,
140-2
1311 n 140
( e = Y — 162
130-2 1 i i i so
130-4 i TP H !
¢ T 135-3
1 ]
I
i % | 120-5
111-4 | |
\ A | 120-6
130-1 ) ; |
120-3 | 5] ! 1204
\ L TY | € | 273
1113 ) = T 75
1281 ] HK II:} 212
13541 = — —
TRy pu—— i — "
s Cl 115-1
S—0 T e
1303 — | 7 5 S T
47 0T N i
—\_ \
274-1 I \\111'1
I \ 1112
435 ~
o \ 115-4
a— Il I
i ~ 431
524 —— | \\
o | \ 136-1
434 4L 438
a— TN
21
81
53
21-1
5-2
12
1282
120-2
107
120-9
70-2
137-2
1355
120-12
160

Pump with double ball bearing

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVM(L)64
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
1 Casing cover Cast Iron + Cast Iron +
EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller
- EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing see table page 378
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
81 Bush PTFE
107 Liner ring PTFE / EN 1.4401 (AISI 316)
111-1 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4404 (AISI 316L)
11-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.240.66x5.34
115-4 O-Ring (cartridge sleeve) EPDM FPM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1
376

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVM(L)64
N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
120-2 Tie-rod EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
120-3 Screw (mechanical seal) A2-70 UNI 7323 M5x10 UNI 5931
120-4 Screw (casing cover) Galvanized steel 8.8 strenght class 1ISO 898/1 M10x25 UNI 5739
120-5 Screw for coupling —EVM64 e - Galvanized steel 8.8 strenght class ISO 898/1 MBx20 UNI 5931
EVM64 2 and higher M10x30 UNI 5739
) EVM64 1-0, 1-1, 2-2 . M8x20 UNI 5931
120-6 Screw for coupling _—— Galvanized steel 8.8 strenght class ISO 898/1
EVM®64 2 and higher M12x30 UNI 5931
120-7 Screw Galvanized steel M6x10 UNI 5739
120-8 Screw —EVM64 10, 2-2_ Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5789
EVM64 2 and higher M10x30 UNI 5739
120-9 Screw EVML EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M58 UNI 5757
EVM. EVMG M5x8 UNI 5739
120-12 Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931
EVM64 1-1 M8x20 UNI 5739
12013 | Screw EVM64 10, 2.2 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM64 6 to 7 M16x55 UNI 5737
EVM64 2to 5 M16x65 UNI 5739
128-1 Nut for tie rod Galvanized steel M16 UNI 5588
128-2 Nut (motor) Carbon Steel EN 1.4401 (AISI 316) M5 UNI 5588
128-3 Nut (motor) Galvanized steel M16 UNI 5588
129 Lock nut Carbon Steel
130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
130-3 Set screw EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) M6X6 UNI 5923
130-4 Set screw Galvanized steel M10x10 UNI 5923
131-1 Pin for shaft Carbon Steel
131-2 Elastic pin Galvanized steel 6x25 UNI 6873
135-1 Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751
135-4 Washer Carbon Steel 6.4 UNI 1751
135-5 Washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) D.6
136 Bearing washer Carbon Steel
136-1 Stopper fing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
140 Coupling Brass OT 58 UNI 5705
140-1 Coupling (motor side) Carbon Steel
140-2 Coupling (pump side) Carbon Steel
150 Spacer Carbon Steel
160 Base Cast iron EN-GJL-200-EN 1561
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
273-1 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
274-1 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM64 1-0, 2-2 D.50 UNI 7435
274-2 C-type snap ring EVM64 2 to 4-3 Carbon Steel TC80 D.65 UNI 7435
EVM64 4-0, 4-1 D.75 UNI 7535
274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437
613 Flange Carbon Steel
377

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVM(L)64

Pump Type N
5-2| 11 | 21 |21-1|39-1|43-2|43-3(43-4(44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5|120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 |140-1(140-2| 150 |274-2(274-3
EVM(L)64 1-1F5/4.0 1\ /7 |1] 1/ / / / / ! J I A A I A / 2 / / / / / / 1 1 / / / / /
EVM(L)64 1-0F5/5.5 11/ |11]1/ / / / / ! 1|/ |11|1|/7|1 1 / / / 4 / / / / 1 1 ! / 1 1 1
EVM(L)64 2-2F5/7.5 21112 1 1 / / ! 1|/ |12|1|/7|2 2 / / / 4 / / / ! 1 1 ! ! 1 1 1
EVM(L)64 2-1F5/11 211111 1 / / ! 1|/ |12|1f1|2 2 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 !
EVM(L)64 2-0F5/11 2112/ 1 1 / / / 1|/ |12|1|1|2 2 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 3-3F5/15 3(1|/|3|1 2 / / ! 1|1/]138|1f1(3 3 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 /
EVM(L)64 3-2F5/15 311121 2 / / ! 1|/]3|1f1(3 3 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 !
EVM(L)64 3-1F5/15 (2|2 |2/ (/| /|2 |/|3|1|1]|3|3|4|4|3|4]34 / 413 |1 / 1 1 1 1 /
EVM(L)64 3-0F5/18.5 3113/ 1 2 / / ! 1 /13|11 (1]3 3 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 /
EVM(L)64 4-3F5/18.5 4111|131 2 1 1 1 1|1|4|1|1(3 4 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 /
EVM(L)64 4-2F5/18.5 4112|121 2 1 1 1 1 (1|41 |1](3 4 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 !
EVM(L)64 4-1F5/22 411 (3|11 2 1 1 1 1 (1|41 |1]|3 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVM(L)64 4-0F5/22 4014 /7|21 |2|1 1|1 |1|1|4|21|1]|3|4)|4|4]|3]|4]034 / 413 |1 / 1 1 1 1 /
EVM(L)64 5-3F5/30 5|1(2|3]|1 3 1 1 1 1(1|5(1|1|4 5 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
EVM(L)64 5-2F5/30 511321 3 1 1 1 1 (1|5(1|1/|4 5 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVM(L)64 5-1F5/30 514|211 |3|1|1|21|1|2|5|1|1|4|5|4|4|3|4]|4]|1]|4]|3]|2 / 1 1 / / /
EVM(L)64 5-0F5/30 5(1|5]|/ 1 3 1 1 1 1(1|5(1|1/|4 5 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVM(L)64 6-3F5/30 611331 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
EVM(L)64 6-2F5/30 6|1(4]2]1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 / 1 1 / / /
EVM(L)64 6-1F5/37 6|1((5]|]1]1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVM(L)64 6-0F5/37 616/ 1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
EVM(L)64 7-3F5/37 7114|131 5 1 1 1 1(1|7(1|1|6 7 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVM(L)64 7-2F5/37 7115|121 5 1 1 1 1|1|7|1|1/|6 7 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVM(L)64 7-1F5/37 711611 5 1 1 1 1(1|7(1|1|6 7 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
BEARING
EVM(L)64
N°
Pump Type 56

EVM(L)64 1-1F5/4.0 /

EVM(L)64 1-0F5/5.5 6310 ZZ C3

EVM(L)64 2-2F5/7.5 6310 ZZ C3

EVM(L)64 2-1F5/11 6313 7Z C3

EVM(L)64 2-0F5/11 631377 C3

EVM(L)64 3-3F5/15 6313 ZZ C3

EVM(L)64 3-2F5/15 631327 C3

EVM(L)64 3-1F5/15 6313 7Z C3

EVM(L)64 3-0F5/18.5 6313 7ZZ C3

EVM(L)64 4-3F5/18.5 6313 ZZ C3

EVM(L)64 4-2F5/18.5 6313 7Z C3

EVM(L)64 4-1F5/22 631577 C3

EVM(L)64 4-OF5/22 631527 C3

EVM(L)64 5-3F5/30

6315 ZZDT C3 *

EVM(L)64 5-2F5/30

6315 ZZDT C3 *

EVM(L)64 5-1F5/30

6315 ZZDT C3 *

EVM(L)64 5-0F5/30

6315 ZZDT C3 *

EVM(L)64 6-3F5/30

6315 ZZDT C3 *

EVM(L)64 6-2F5/30

6315 ZZDT C3 *

EVM(L)64 6-1F5/37

6315 ZZDT C3 *

EVM(L)64 6-0F5/37

6315 ZZDT C3 *

EVM(L)64 7-3F5/37

6315 ZZDT C3 *

EVM(L)64 7-2F5/37

6315 ZZDT C3 *

EVM(L)64 7-1F5/37

6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

378

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PERFORMANCE CURVE

EVMG64
0 USgpm 100 200 300 400
| | | | |
f T T T
0 Impg.p.m. 100 200 300
03 30
p H —J_ - 9
[MPa] W = H
Q) f
Y Ly
—~— ‘\
T \ 70
02 2 \‘%/4 \\
-0
N N - 60
\\
\ - 50
‘\ \
4
N NPSH 0
0.1 10 [m] [
30
8 —
—~ —20 20
/
//
NPSH __— 4]
- =10 |10
|
0- 0 0
0 400 800 1200 Q [imin]
T T T T
0 20 40 60 80 Qmin]
6 |
P2 10 1
- —
kW] . } ~ - —
1-1 T
) |
0 400 800 1200 Q [imin]
80
[ 70 11 < — S
} //r/ N \\
60 1-0 \\,/ \\
50
0 400 800 1200 Q [imin]
Rotation speed #2900 min*
Test standard: 1SO 9906:2012 - Grade 3B
379

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Impg.p.m. 100 200 300
0.6 — 60
p H ST = 180
[MPa] M — \“\\ %
— — kW
- T —— | - 160
— — _ \&/77kw \\\
— —~— \ — 140
04- 40 <2 s N
\\ N - 120
\\ \\
— 100
N\
\ NPSH
\1 m] [f] 80
0.2 20 8 —
60
~ L
- 20
" - 40
" 4
NPSH " L 10
- - 20
e -
0 0 0
0 400 800 1200 Q [Vmin]
T T T T T
0 20 40 60 80 Qmn
12 |
P2 20 -
[kW] . 2-‘1 \ ///
| \\///_—__7_
20— T
. |
0 400 800 1200 Q [/min]
80 ‘
Tl | — \‘
[%] 70 2"2 % \\\
M| N
60 2.0 <
|
50
0 400 800 1200 Q [Vmin]
Rotation speed 2930 min*
Test standard: 1ISO 9906:2012 - Grade 3B

380

[ff

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0 Impg.pm. 100 200 300
0.9 — 90
p H L T
[MPa] [m] — ———— 3- H
S —_ \(.')/&S\kw — 250 [ft]
= _ —— \{1'/751(“/ \
\\\\ \\3~2/75kw \\\\
06 60 — \\\~ N 200
\\\\\
\\ N\ \\\
\\\\ \\ A — 150
0.3 30 h NPSH [ 100
(m] [f
8
— 2 |50
/
//
NPSH — 4
L~ 10
0- 0 0
0 400 800 1200 Q [lfmin]
T T T T T
0 20 40 60 80 Q[m]
18 |
P, 30 _—
W 31 P e —
32 — T
| //
3-3
6 ‘
0 400 800 1200 Q [lfmin]
80 ‘
1 33
[%] 70
372 /
11— | T~z ~
0 31 Z 7 \‘
30—
% |
0 400 800 1200 Q [lfmin]
Rotation speed =2940 min
Test standard: 1ISO 9906:2012 - Grade 3B
381

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| | | | |
I T T T
0  Imp.g.p.m. 100 200 300
124 120
Hof— T ——
[MpPa] m ~— T——— — 4.0 — 350
——— I p /22
—— — — o 22
— _ \“\ 4. 2 kiy \
B ‘:%\\\\ - 300
~31s Sy \\\
0.8 80 SN
SN N N\ \ L 250
\\ 200
™
NPSH
‘\ m] [f
— 150
04— 40 8 —
P Lo
/ - 20 |- 100
NPSH _— 4
" 10 |- 50
|
"
0 0 0
0 400 800 1200 Q [imin]
T T T T T
0 20 40 60 80 Q[m
24 -
P2 4;-0
KW, 4-1 —
K e | \/::lf
4-3 —
8 L
0 400 800 1200 Q [imin]
80 ‘
n N
w70 &‘k\ 40
AN
. Z N 42
S 43
50 ‘
0 400 800 1200 Q [imin]
Rotation speed 2940 min*
Test standard: 1SO 9906:2012 - Grade 3B

Ift

382

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

[MPa] [m

0.5 50

30
P2

K
kW] "

80
%] 70
60

50

383

PERFORMANCE CURVE

EVMG64
0 USgpm 100 200 300 400
| | | | |
| | | |
0  Impg.pm 100 200 300
— —— - 450
\: — :\\ \“\\ 5_0/30kw H
—— T T30 ]
— ——— 5o Ny - 400
\\.%\\\\\
NN\ - 350
~. \\\\\\
\‘\\\\ - 300
\\\\
\\‘ L 250
N
200
NPSH
[m] [ft]
- 150
8 —
~ =20 |- 100
/
/
NPSH ] 4 —
— —10 |- 50
l/
0
0 400 800 1200 Q [fmin]
| T T T T
0 20 40 60 80 Q[mn]
\
5:0 I —
51 —
- i —
52 [~ 4/5 —
5-3 —
|
0 400 800 1200 Q [imin]
N
RN 5
N\ 52
5-3
0 400 800 1200 Q [Imin]

Rotation speed 2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| ! | | |
| | T T
0 Impg.p.m. 100 200 300
20— 200
o H - 600
[MPa] m ~—_
—_— —_ 6-0/37 kw
:\\\\\ = 6-1/37kV\‘/
3 (P I e S e S ‘\2:\ - 500
TN
SN
6-2s0m” 7N \\\\ 0
6-3/30 kw NN
10 100 N \\\
N
\\‘ - 300
N
NPSH | 900
(m] [ft]
05— 50
8
— 20 |- 100
/,
—
NPSH _— o
0 0 0
0 400 800 1200 Q [imin]
| T T T T
0 20 40 60 80 Qmin]
35 |
P2 6"0 /’4——’
kW] 2 6-1 e e e
— %
6-3 ———
15 ‘
0 400 800 1200 Q [imin]
80 ‘ ‘
n
%] 70 60
' X — 6
6-2
60 3
“ |
0 400 800 1200 Q [lfmin]
Rotation speed 2960 min*
Test standard: 1ISO 9906:2012 - Grade 3B

384

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400
| ! ! ! !
I T T T
0 Impg.pm. 100 200 300
204 200 —T
p H T —— T —— T —— > L 600
[Pl mi T a4, H
\‘\\‘\ Ift
T~
15— 150 7-2/37 ﬁ\\ - 500
7-3/37kw \\\ N
NN\
\\ \\\ - 400
NN
104 100 AN
\ - 300
NPSH | 990
ft
05— 50 ol 1
8
e ——— 20 100
NPSH — 4
— 10
0- 0 0
0 400 800 1200 Q [iimin]
T T T T T
0 20 40 60 80 Qmn]
40
P2 7-1 —
[kw] 0 7\2 e
. e
N /¢/
7-3 — %
‘ "
20
0 400 800 1200 Q [limin]
n ? , /———-
[%] 70 — 771 —
60 7-3 —
50
0 400 800 1200 Q [iimin]
Rotation speed =2960 min
Test standard: ISO 9906:2012 - Grade 3B
385

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG64

Dimensional sketch

Round flange (F) - DN100
c 1
B
\‘ ‘\
[ar] =
518
o
N
L. -
A -
f 1 G3/8
b=
N° 8 holes D3
D< 7N /M
g SN
N° 4 holes @14 D1 |
266
331
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ ) Weight
W osize A Wz | o1 | oz | D3 | ke | AT CLOEY
Pmax
Pump Type [MPa] B c H3
EVM(L)64 1-1F5/4.0 1.6 40 | 112M | 2160 | 196 155 306 | 525 | 9180 | 9220 | @18 | 20 69 92
EVM(L)64 1-0F5/5.5 16 55| 132S | @300 | 225 160 328 546 | 2180 | 2220 | @18 20 75 114
EVM(L)64 2-2F5/7.5 1.6 75 | 132S | 2300 | 225 160 350 | 618 | 9180 | 9220 | @18 | 20 79 120
EVM(L)64 2-1F5/11 1.6 11 | 160 M | @350 | 248 194 476 | 749 | 180 | 2220 | ©18 | 20 92 154
EVM(L)64 2-0F5/11 16 11 | 160M | @350 | 248 194 476 | 749 | 9180 | 8220 | 218 | 20 92 154
EVM(L)64 3-3F5/15 1.6 15 | 160M | @350 | 317 238 498 | 821 | 9180 | 8220 | @18 | 20 97 186
EVM(L)64 3-2F5/15 1.6 15 | 160M | @350 | 317 238 498 | 821 | 9180 | 8220 | @18 | 20 97 186
EVM(L)64 3-1F5/15 1.6 15 | 160M | 2350 | 317 238 498 | 821 | 9180 | 220 | @18 | 20 97 186
EVM(L)64 3-0F5/18.5 1.6 185 160L | 2350 | 317 238 542 821 | 2180 | 2220 | @18 20 97 201
EVM(L)64 4-3F5/18.5 1.6 185 160L | 2350 | 317 238 542 | 893 | ¢180 | 220 | 18 | 20 105 209
EVM(L)64 4-2F5/18.5 16 |185| 160L | @350 | 317 238 542 | 893 | 9180 | 9220 | @18 | 20 105 209
EVM(L)64 4-1F5/22 16 22 | 180M | 2350 | 360 268 577 893 | 2180 | 2220 | @18 20 112 275
EVM(L)64 4-0F5/22 1.6 22 | 180M | 2350 | 360 268 577 | 893 | 9180 | 8220 | @18 | 20 112 275
EVM(L)64 5-3F5/30 1.6 30 | 200L | 2400 | 399 300 658 | 980 | ©180 | 9220 | @18 | 20 126 354
EVM(L)64 5-2F5/30 16 30 | 200L | 2400 | 399 300 658 980 | 2180 | 2220 | @18 20 126 354
EVM(L)64 5-1F5/30 1.6 30 | 200L | 2400 | 399 300 658 | 980 | ©180 | 9220 | @18 | 20 126 354
EVM(L)64 5-0F5/30 1.6 30 | 200L | 2400 | 399 300 658 | 980 | ©180 | 9220 | @18 | 20 126 354
EVM(L)64 6-3F5/30 16 30 | 200L | 2400 [ 399 300 658 | 1052 | 2180 | 2220 | @18 20 134 362
EVM(L)64 6-2F5/30 25 30 | 200L | 2400 | 399 300 658 | 1052 | 9190 | 8235 | @22 | 26 134 362
EVM(L)64 6-1F5/37 25 37 | 200L | 2400 | 399 300 658 | 1052 | 8190 | 8235 | @22 | 26 134 376
EVM(L)64 6-0F5/37 25 37 | 200L | 2400 | 399 300 658 | 1052 | 8190 | 8235 | @22 | 26 134 376
EVM(L)64 7-3F5/37 25 37 | 200L | 2400 [ 399 300 658 | 1124 | 2190 | 2235 | @22 26 136 378
EVM(L)64 7-2F5/37 25 37 | 200L | 2400 | 399 300 658 | 1124 | @190 | 9235 | @22 | 26 136 378
EVM(L)64 7-1F5/37 25 37 | 200L | 2400 | 399 300 658 | 1124 | g190 | 9235 | @22 | 26 136 378

1.6 MPa=16 bar ; 2.5 MPa=25 bar

386

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG64

140

1311 120-13
130-4 /120-5
111-4 i 120-6
130-1 \\ﬁp\ I e % 162

120-3 &

1155 .

128-1 "’\ o L/ -
135-1 \ 273
111-5\ 75

1112 = —
115-4 \jt : 1151

130-3 T - 7
o \‘“\\ < ®  — Y|
\ﬂk\ il 111-1
2741 —— |11 | i
—

—
|
-
(
I
\
|

435 —— 1t | —H‘“ !.. 43-1
o
1201 —— | I 81
o —
43-6 il | ! "
- e

137-1 — || : —

48 —

31 ——
437

75-1 52-2 —

2731 442 —

212-1 6 —

45 — |

613
\

|
I
e

Pump without ball bearing

387

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

{
_-———: ’

75-1
2731
2121

SECTIONAL VIEW

EVMG64

120-13
140 \
131-1
130-4 - —
111-4 2 S &H‘/i
130-1 S Q Q /EJ 3:4;]/
120-3 . ~ ﬁ: ,‘é
1155 NI el
128-1 i o[> e * ; ’<
135-1 \ | il
111-5 :
[ BN _—
oy I
130-3 s \: < \ \
47 \5{%\ \ \
274-1 \j’:: I . \
"M = —
Il '
a%a‘  —
1204 — :ll ﬂ\\
436 — all i —
1374; =it N
31 = O < HANS _\
437 I \ :

522 — |

44-2 —

6 —-

45 — |1

613 \}_d

adds

T‘\r’

|

—

/77

Pump with single ball bearing

274-2
150
274-3
56

51
120-8
120-6
162
130-2
245
111-3
273
75
212
115-1

‘.’1
N

111-1
43-1

aN g
'\ w

136-1
43-8
43-2

-
N

128-2
120-2
107
120-9
70-2
137-2
135-5

120-12

388

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG64

120-7 274-2
135-4 e 150

12013 jﬁ =\, 70-1
51

\
I
128-3 RS \1
\,
i
245
2 140-1
140-2 T "
( = 1 Y 162

56

(]

131-1 { il ii i so
130-2 \ o o -
, , 135-3
1304 I 120-5
111-4 ) N $ |
| 120-6
130-1 |
— 120-4
!
y)

!
120-3 ‘.

| TV | € 273
111-3 \ e ‘ %
\ E
128-1
T
135-1 ! e —
115-5 \|L‘ Ll ' c
116 — |
1303 — |

a7—— |

274 — |
43-5
B3 —0

521 — |
44-1

l\? 17\

436—— ||

(1]
X
)

r
/
e

,1

75-1 44-2

273-1 6—0 |

212-1 45—

e

A
1
]g

/_/1
L]

)
e
.
r

IR
Y

Pump with single ball bearing

389

EBARA Pumps Europe 5 E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

EV I\/I VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVMG64

70-1

:
//H

5 1 =Y

/]

493 —0 |
520 —— Tl

/]

a3-4—0 |

/

1204 —— i +—
Hi— 81
436 —— || o
137-1 11 i <4 —
i \>§_\ i 21-1
D i = — ~ 5-2
31 e
—E N
1 X 12
75-1
273-1
~ | FR— 212-1

{
-
e —

Pump with double ball bearing
390

% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE

EVMG64
N° PART NAME MAETVE'\;TéAL DIMENSIONS STANDARD

5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN-GJL-250-EN 1561
7 Outer casing EN 1.4301 (AISI 304)
11 Casing cover Cast Iron EN-GJL-250-EN 1561
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller

- EN 1.4301 (AISI 304)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 393
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
81 Bush PTFE
107 Liner ring PTFE / EN 1.4401 (AISI 316)
111-1 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM D.240.66x5.34
115-4 O-Ring (cartridge sleeve) EPDM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM D.44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

391

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG64
N° PART NAME M/-\ETVE'\;?éAL DIMENSIONS STANDARD
120-2 Tie-rod EN 1.4301 (AISI 304)
120-3 Screw (mechanical seal) A2-70 UNI 7323 M5x10 UNI 5931
120-4 Screw (casing cover) Galvanized steel 8.8 strenght class 1ISO 898/1 M10x25 UNI 5739
120-5 Screw for coupling —EVMG4 e - Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5981
EVM64 2 and higher M10x30 UNI 5739
120-6 Screw for coupling —EVM64 L0 1_1.'2_2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM®64 2 and higher M12x30 UNI 5931
120-7 Screw Galvanized steel M6x10 UNI 5739
120-8 Screw EVM641:0. 22 Galvanized steel 8.8 strenght class 1ISO 898/1 M6x10 UNI5739
M10x30 UNI 5739
120-9 Screw EVML EN 1.4301 (AISI 304) M5x8 UNI 5757
EVM. EVMG M5x8 UNI 5739
120-12 | Screw EN 1.4301 (AISI 304) M6x20 UNI 5931
EVM64 1-1 M8x20 UNI 5739
120-13 | Screw EVM641:0. 22 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM64 6 - 7 M16x55 UNI 5737
EVM642 -5 M16x65 UNI 5739
128-1 Nut for tie rod Galvanized steel M16 UNI 5588
128-2 Nut (motor) Carbon Steel M5 UNI 5588
128-3 Nut (motor) Galvanized steel M16 UNI 5588
129 Lock nut Carbon Steel
130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
130-3 Set screw EN 1.4301 (AISI 304) M6X6 UNI 5923
130-4 Set screw Galvanized steel M10x10 UNI 5923
131-1 Pin for shaft Carbon Steel
135-1 Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751
135-4 Washer Carbon Steel 6.4 UNI 1751
135-5 Washer EN 1.4301 (AISI 304) D.6
136 Bearing washer Carbon Steel
136-1 Stopper ring EN 1.4301 (AISI 304)
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling Brass OT 58 UNI 5705
140-1 Coupling (motor side) Carbon Steel
140-2 Coupling (pump side) Carbon Steel
150 Spacer Carbon Steel
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304)
212-1 Plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug Washer EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)
274-1 C-type snap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM64 1-0, 2-2 D.50 UNI 7435
274-2 C-type snap ring EVM64 2 to 4-3 Carbon Steel TC80 D.65 UNI 7435
EVM64 4-0, 4-1 D.75 UNI 7535
274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437
613 Flange Carbon Steel
392

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



50 Hz

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVMG64

Type N
5-2| 11 | 21 |21-1|39-1|43-2|43-3(43-4(44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5|120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 |140-1(140-2| 150 |274-2(274-3
EVMG64 1-1F5/4.0 1\ /7 |1] 1/ / / / / ! J I A A I A / 2 / / / / / / 1 1 / / / / /
EVMG64 1-0F5/5.5 11/ |11]1/ / / / / ! 1 rf1f1|/7]1 1 / / / 4 / / / / 1 1 ! / 1 1 1
EVMG64 2-2F5/7.5 2|/ |2 ! 1 / / ! 1 rf2f(1|/7]2 2 / / / 4 / / / ! 1 1 ! ! 1 1 1
EVMG64 2-1F5/11 211111 1 / / ! 1 r{f2f(1|11]2 2 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 !
EVMG64 2-0F5/11 2112/ 1 1 / / / 1 If2f(1|1]2 2 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVMG64 3-3F5/15 3(1|/|3|1 2 / / ! 1 I{3f(1|1]3 3 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 /
EVMG64 3-2F5/15 311121 2 / / ! 1 {3113 3 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 !
EVMG64 3-1F5/15 312 |x |2/ |/ |||/ |3|2|2|3|3|4|a]|3|a|a|/]|4a|3]1]|1 1 1 1 1 /
EVMG64 3-0F5/18.5 3113/ 1 2 / / ! 1 /13|11 (1]3 3 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 /
EVMG64 4-3F5/18.5 4111|131 2 1 1 1 1|1|4|1|1(3 4 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 /
EVMG64 4-2F5/18.5 4112|121 2 1 1 1 1 (1|41 |1](3 4 4 4 3 4 4 / 4 3 1 ! 1 1 1 1 !
EVMG64 4-1F5/22 411 (3|11 2 1 1 1 1 (1|41 |1]|3 4 4 4 3 4 4 / 4 3 1 / 1 1 1 1 /
EVMG64 4-0F5/22 411 (af /7|1 2|21 |1|2|1|4|2|2|3|4a|4|a]|3|a|a|/]|4a]|3]1]|1 1 1 1 1 /
EVMG64 5-3F5/30 5|1(2|3]|1 3 1 1 1 1(1|5(1|1|4 5 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
EVMG64 5-2F5/30 511321 3 1 1 1 1 (1|5(1|1/|4 5 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVMG64 5-1F5/30 S|1f4f2|1|3|2|1|21|2|1|5|21|212|4|5|4|4a|3|a]|4a|2]|4]|3]|2]1 1 1 / / /
EVMG64 5-0F5/30 5(1|5]|/ 1 3 1 1 1 1(1|5(1|1/|4 5 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVMG64 6-3F5/30 611331 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
EVMG64 6-2F5/30 6|1(4]2]1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVMG64 6-1F5/37 6|1((5]|]1]1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVMG64 6-0F5/37 616/ 1 4 1 1 1 1(1|6|1|1|5 6 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
EVMG64 7-3F5/37 7114|131 5 1 1 1 1(1|7(1|1|6 7 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVMG64 7-2F5/37 7115|121 5 1 1 1 1|1|7|1|1/|6 7 4 4 3 4 4 1 4 3 2 ! 1 1 / / /
EVMG64 7-1F5/37 711611 5 1 1 1 1(1|7(1|1|6 7 4 4 3 4 4 1 4 3 2 ! 1 1 / / !
BEARING
EVMG64
N°
Pump Type 56

EVMG64 1-1F5/4.0 !

EVMG64 1-0F5/5.5 6310 ZZ C3

EVMG64 2-2F5/7.5 6310 ZZ C3

EVMG64 2-1F5/11 6313 7Z C3

EVMG64 2-0F5/11 6313 7ZZ C3

EVMG64 3-3F5/15 6313 ZZ C3

EVMG64 3-2F5/15 6313 ZZ C3

EVMG64 3-1F5/15 6313 ZZ C3

EVMG64 3-0F5/18.5 6313 ZZ C3

EVMG64 4-3F5/18.5 6313 ZZ C3

EVMG64 4-2F5/18.5 6313 7Z C3

EVMG64 4-1F5/22 631577 C3

EVMG64 4-0F5/22 6315 ZZ C3

393

EVMG64 5-3F5/30

6315 ZZDT C3 *

EVMG64 5-2F5/30

6315 ZZDT C3 *

EVMG64 5-1F5/30

6315 ZZDT C3 *

EVMG64 5-0F5/30

6315 ZZDT C3 *

EVMG64 6-3F5/30

6315 ZZDT C3 *

EVMG64 6-2F5/30

6315 ZZDT C3 *

EVMG64 6-1F5/37

6315 ZZDT C3 *

EVMG64 6-0F5/37

6315 ZZDT C3 *

EVMG64 7-3F5/37

6315 ZZDT C3 *

EVMG64 7-2F5/37

6315 ZZDT C3 *

EVMG64 7-1F5/37

6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA




50 Hz

EV I\/I VERTICAL MULTISTAGE PUMPS

PACKING DRAWING
EVM(.)32-45-64

/ % TYPE 1
— 4

TYPE 2

394
% EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

PACKING DATA
EVM(.)32-45-64

Pumps Pumps with motor ~3
Packin Weight + Packin Packin Weight + Packin
Pump Type mml” N Pack ] T Pack

X Y Z |EVMS(L)| EVMSG P X Y z EVMS(L) | EVMSG P

EVM(.)32 1-0F5/2.2 400 | 780 | 400 61 56 1 400 | 1047 | 400 79 74 1
EVM(.)32 2-2F5/3.0 400 | 780 | 400 63 58 1 400 | 1047 | 400 87.5 82.5 1
EVM(.)32 2-0F5/4.0 400 | 780 | 400 63 58 1 400 | 1047 | 400 95.1 90.1 1
EVM(.)32 3-3F5/5.5 400 | 780 | 400 79 72 1 400 | 1047 | 400 130.6 123.6 1
EVM(.)32 3-1F5/5.5 400 | 780 | 400 79 72 1 400 | 1047 | 400 130.6 123.6 1
EVM(.)32 4-3F5/7.5 400 | 780 | 400 82 75 1 400 | 1047 | 400 136.4 129.4 1
EVM(.)32 4-1F5/7.5 400 | 780 | 400 82 75 1 400 | 1047 | 400 136.4 129.4 1
EVM(.)32 5-3F5/11 400 | 1047 | 400 103 94 1 500 | 540 | 1540 | 207.3 198.3 2
EVM(.)32 5-0F5/11 400 | 1047 | 400 103 94 1 500 | 540 | 1540 207.3 198.3 2
EVM(.)32 6-3F5/11 400 | 1047 | 400 106 97 1 500 540 | 1540 210.3 201.3 2
EVM(.)32 6-2F5/11 400 | 1047 | 400 106 97 1 500 | 540 | 1540 | 210.3 201.3 2
EVM(.)32 7-3F5/15 400 | 1047 | 400 109 100 1 500 | 540 | 1540 [ 220.8 211.8 2
EVM(.)32 7-0F5/15 400 | 1047 | 400 109 100 1 500 | 540 | 1540 | 220.8 211.8 2
52 EVM(.)32 8-3F5/15 400 | 1240 | 400 115 105 1 500 | 540 | 1540 | 223.8 213.8 2
EVM(.)32 8-2F5/15 400 | 1240 | 400 115 105 1 500 540 | 1540 223.8 213.8 2
EVM(.)32 9-3F5/18.5 400 | 1240 | 400 118 108 1 610 | 593 | 1750 | 2325 222.5 2
EVM(.)32 9-0F5/18.5 400 | 1240 | 400 118 108 1 610 | 593 | 1750 | 2325 222.5 2
EVM(.)32 10-3F5/18.5 | 400 | 1240 | 400 122 111 1 610 | 593 | 1750 | 236.5 225.5 2
EVM(.)32 10-2F5/18.5 | 400 | 1240 | 400 122 111 1 610 | 593 | 1750 236.5 225.5 2
EVM(.)32 11-3F5/22 400 | 1240 | 400 126 115 1 610 593 | 1750 282 271 2
EVM(.)32 11-0F5/22 400 | 1240 | 400 126 115 1 610 | 593 | 1750 282 271 2
EVM(.)32 12-3F5/22 400 | 540 | 1350 133 122 2 635 | 587 | 2130 346 335 2
EVM(.)32 13-3F5/30 500 | 545 | 1350 143 131 2 635 | 587 | 2130 399 387 2
EVM(.)32 13-0F5/30 500 | 545 | 1350 143 131 2 635 | 587 | 2130 399 387 2
EVM(.)32 14-3F5/30 500 | 545 | 1350 147 134 2 635 587 | 2130 403 390 2
EVM(.)32 14-0F5/30 500 | 545 | 1350 147 134 2 635 | 587 | 2130 403 390 2
EVM(.)45 1-1F5/3.0 400 | 780 | 400 76 69 1 400 | 1047 | 400 100.5 93.5 1
EVM(.)45 1-0F5/4.0 400 | 780 | 400 78 71 1 400 | 1047 | 400 110.1 106.6 1
EVM(.)45 2-2F5/5.5 400 | 780 | 400 86 79 1 400 | 1047 | 400 137.6 131.4 1
EVM(.)45 2-0F5/7.5 400 | 780 | 400 86 79 1 400 | 1047 | 400 140.4 133.4 1
EVM(.)45 3-2F5/11 400 | 1047 | 400 106 97 1 500 | 540 | 1540 | 210.3 201.3 2
EVM(.)45 3-0F5/11 400 | 1047 | 400 106 97 1 500 540 | 1540 210.3 201.3 2
EVM(.)45 4-2F5/15 400 | 1047 | 400 115 105 1 500 | 540 | 1540 | 214.8 204.8 2
EVM(.)45 4-0F5/15 400 | 1047 | 400 115 105 1 500 | 540 | 1540 | 214.8 204.8 2
EVM(.)45 5-2F5/18.5 400 | 1240 | 400 138 126 1 610 | 593 | 1750 | 2525 240.5 2
- EVM(.)45 5-0F5/18.5 400 | 1240 | 400 138 126 1 610 | 593 | 1750 | 2525 240.5 2
EVM(.)45 6-2F5/22 400 | 1240 | 400 143 130 1 610 | 593 | 1750 299 286 2
EVM(.)45 6-0F5/22 400 | 1240 | 400 143 130 1 610 | 593 | 1750 299 286 2
EVM(.)45 7-2F5/30 480 | 1297 | 480 149 136 1 635 | 587 | 2130 409 396 2
EVM(.)45 7-0F5/30 480 | 1297 | 480 149 136 1 635 587 | 2130 409 396 2
EVM(.)45 8-2F5/30 500 | 545 | 1350 160 147 2 635 | 587 | 2130 416 403 2
EVM(.)45 8-0F5/30 500 | 545 | 1350 160 147 2 635 587 | 2130 416 403 2
EVM(.)45 9-2F5/30 500 | 545 | 1350 165 151 2 635 | 587 | 2130 421 407 2
EVM(.)45 9-0F5/37 610 | 593 | 1750 172 158 2 635 | 587 | 2130 435 421 2
EVM(.)45 10-2F5/37 610 | 593 | 1750 177 162 2 635 | 587 | 2130 440 425 2
EVM(.)45 10-0F5/37 610 | 593 | 1750 177 162 2 635 | 587 | 2130 440 425 2
EVM(.)64 1-1F5/4.0 400 | 780 | 400 76 69 1 400 | 1047 | 400 108.1 101.1 1
EVM(.)64 1-0F5/5.5 400 | 780 | 400 82 75 1 400 | 1047 | 400 133.6 126.6 1
EVM(.)64 2-2F5/7.5 400 | 780 | 400 87 79 1 400 | 1047 | 400 140.4 133.4 1
EVM(.)64 2-1F5/11 400 | 1047 | 400 100 92 1 500 545 | 1350 205.3 196.3 2
EVM(.)64 2-0F5/11 400 | 1047 | 400 100 92 1 500 | 545 | 1350 205.3 196.3 2
EVM(.)64 3-3F5/15 400 | 1047 | 400 106 97 1 500 540 | 1540 218.8 209.8 2
EVM(.)64 3-2F5/15 400 | 1047 | 400 106 97 1 500 | 540 | 1540 | 218.8 209.8 2
EVM(.)64 3-1F5/15 400 | 1047 | 400 106 97 1 500 | 540 | 1540 | 218.8 209.8 2
EVM(.)64 3-0F5/18.5 400 | 1047 | 400 106 97 1 500 | 540 | 1540 | 2175 208.5 2
EVM(.)64 4-3F5/18.5 400 | 1047 | 400 115 105 1 500 | 540 | 1540 | 226.5 216.5 2
EVM(.)64 4-2F5/18.5 400 | 1047 | 400 115 105 1 500 | 540 | 1540 | 2265 216.5 2
EVM(.)64 4-1F5/22 400 | 1047 | 400 123 112 1 610 | 593 | 1750 282 271 2
& EVM(.)64 4-0F5/22 400 | 1047 | 400 123 112 1 610 | 593 | 1750 282 271 2
EVM(.)64 5-3F5/30 480 | 1147 | 480 138 126 1 610 593 | 1750 337 325 2
EVM(.)64 5-2F5/30 480 | 1147 | 480 138 126 1 610 | 593 | 1750 337 325 2
EVM(.)64 5-1F5/30 480 | 1147 | 480 138 126 1 610 593 | 1750 337 325 2
EVM(.)64 5-0F5/30 480 | 1147 | 480 138 126 1 610 | 593 | 1750 337 325 2
EVM(.)64 6-3F5/30 480 | 1297 | 480 146 134 1 635 | 587 | 2130 406 394 2
EVM(.)64 6-2F5/30 480 | 1297 | 480 146 134 1 635 587 | 2130 406 394 2
EVM(.)64 6-1F5/37 480 | 1297 | 480 146 134 1 635 | 587 | 2130 420 408 2
EVM(.)64 6-0F5/37 480 | 1297 | 480 146 134 1 635 | 587 | 2130 420 408 2
EVM(.)64 7-3F5/37 480 | 1297 | 480 149 136 1 635 | 587 | 2130 423 410 2
EVM(.)64 7-2F5/37 480 | 1297 | 480 149 136 1 635 | 587 | 2130 423 410 2
EVM(.)64 7-1F5/37 480 | 1297 | 480 149 136 1 635 587 | 2130 423 410 2

395

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



50 Hz

VERTICAL MULTISTAGE PUMPS

400
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




50 Hz

VERTICAL MULTISTAGE PUMPS

GENERAL

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the
manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy consumption.
Indeed, the International Electrotechnical Commission (IEC) has introduced a new standards relating to energy efficient
motors.

IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements for induction
motor efficiency levels around the world.

The Commission Regulation (EC) N. 640/2009 implementing EcoDesign Directive 2009/125/EC states that in the
European Community, with the exception of some special applications, motors shall not be less efficient than the IE3
efficiency level as from 1 January 2015.

In detail:
IE3 by January 1, 2015 (for motors = 7.5 to 375 kW).
IE3 for all motors by January 1, 2017 (for motors from 0.75 to 375 kW).

MOTOR EVMS MOTOR EVM
Frequency 50 Hz 50 Hz
Phase Single Phase Three Phase Three Phase
Rotation speed =~ 2900 min* =~ 2900 min*
PO ) 0.37 + 2.2 kW 0.37 = 18.5 kW 2.2+ 37 kW
Source | Power rating T o anuo
0.5+ 3.0HP 0.5+ 25 HP 3.0 + 50 HP
230/400 + 10% V  (up to 4.0 kW) 230/400 + 10% V  (up to 4.0 kW)
Voltage 230+ 10% V
400/690 + 10% V (above 5.5 kW) 400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC Electric - TEFC
= : from 0.37 up to 0.55 kW
Efficiency Level from 0.37 up to 2.2 kW IE3
IE3: above 0.75 kW
Type
No° of poles 2 2
Protection degree IP 55 IP 55
Insulation Class F (temperature rise class B) F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW included PTC is available for the above 22 kW included
Casing Material Aluminium Aluminium
Others | £jange mount IM B14  (up to 4.0 kW) IM B14  (up to 4.0 kW)
(IEC motor) IMB5  (above 5.5 kW) IMB5  (above 5.5 kW)
Terminal Box fixing Unlosable screw and sealing from 0.75 kW to 11 kW
: Power Noise
Motor Size LpA- dB (A) *
[kw] [HP]
0.37 0.5
71 <70
0.55 0.75
0.75 1
80 52
11 15
15 2
90 60
2.2 3
100 3.0 4 62
112 4.0 55 66
55 75
132 68
7.5 10
160 11 15 73
160 M 15 20
74
160 L 18.5 25
180 M 22 30 77
30 40 % N ]
200 L 78 Noise values were measured with a tolerance of
37 50 +2.5dB (A).

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 50 Hz

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20

Single Phase Motor at 50Hz, 2 poles

Motor Capacitor Load efficency Full load current Locked rotor current
p and power-factor [A] [A]
X Power n. % cos-¢
Motor Size 230V 230V
[kw] [HP] [uF] V] 100% 100%
- 0.37 0.5 16 400 57.6 0.89 3.1 9.6
0.55 0.75 16 400 69.0 0.89 3.9 13.6
80 0.75 1 25 400 65.0 0.95 5.3 28.1
1.1 15 36 400 74.0 0.97 6.5 26.0
90S = 15 2 35 400 79.0 0.97 8.8 46.0
9OL = 22 3 40 400 78.0 0.97 12.9 61.0
= Single phase motors manufactured by EBARA
Three Phase Motor at 50Hz, 2 poles
Motor Load efficency Full load current Locked rotor current
and power-factor (400 V) [A] [A]
Efficiency
. Power n. % cos-¢
Motor Size 230V 400 V 690 V 230V 400 V 690 V
[kw] | [HP] 50% 75% 100% 100%
- 0.37 0.5 - 58.0 64.0 70.0 0.78 1.7 1.0 - 8.1 4.7 -
0.55 0.75 - 57.0 64.0 71.0 0.77 2.6 1.5 - 12.5 7.2 -
50 . 0.75 1 IE3 80.2 825 82.1 0.76 3.0 1.7 - 19.7 114 -
11 15 IE3 81.3 82.8 82.7 0.77 4.3 25 - 28.8 16.6 -
% . 15 2 IE3 835 84.3 84.6 0.77 5.8 3.3 - 44.1 255 -
2.2 3 IE3 85.7 86.8 86.0 0.78 8.2 4.7 - 63.3 36.6 -
100 4| 30 4 IE3 85.9 87.5 87.1 0.78 11.1 6.4 - 89.8 51.8 -
112 L4 4.0 55 IE3 86.0 88.3 88.1 0.75 15.1 8.7 - 131.8 76.1 -
132 R 55 75 IE3 88.9 90.3 90.0 0.85 - 10.4 6.0 - 115.3 66.6
75 10 IE3 89.0 90.7 90.4 0.88 - 13.6 7.9 - 144.0 83.1
160 . 11 15 IE3 90.1 91.4 91.2 0.81 - 21.3 12.3 - 184.0 106.2
160 M 15 20 IE3 91.0 91.3 91.9 0.89 - 26.7 15.4 - 259.0 149.5
160 L 18.5 25 IE3 91.6 92.8 92.4 0.88 - 33.0 19.1 - 353.1 203.9

4 MOTOR DATA ETM

402

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



50 Hz

VERTICAL MULTISTAGE PUMPS

EVM

Three Phase Motor at 50Hz. 2 poles

TECHNICAL MOTOR DATA

EVM 32-45-64

Motor Load efficency Full load current Locked rotor current
and power-factor [A] [A]
Power Efficiency n % cos-¢
Motor Size 230V | 400V | 690V | 230V | 400V | 690V
[kw] | [HP] 50% 75% 100% | 100%
90 L 22 3 IE3 85.0 86.2 86.5 0.82 8.0 4.6 733 423
100 L 3.0 4 IE3 82.3 85.8 87.7 0.89 9.7 5.6 85.4 49.3
112 M 4.0 55 IE3 86.8 87.8 88.1 0.93 12.1 7.0 116.4 67.2
132 55 75 IE3 88.0 88.5 89.2 0.90 - 10.0 5.8 89.0 51.4
7.5 10 IE3 88.6 89.2 90.1 0.92 - 13.1 7.6 116.6 67.3
11 15 IE3 87.4 89.8 91.2 0.89 - 19.7 11.4 179.3 103.5
1eom 15 20 IE3 91.0 91.3 91.9 0.89 - 26.7 15.4 259.0 | 1495
160 L 185 25 IE3 91.6 92.8 92.4 0.88 - 33.0 19.1 353.1 | 203.9
180 M 22 30 IE3 92.3 92.9 92.9 0.90 - 38.0 22.0 361.0 | 209.0
30 40 IE3 92.8 93.9 94.0 0.89 51.8 30.0 459.0 270.0
200L 37 50 IE3 93.0 93.9 93.8 0.90 62.5 36.0 496.0 288.0

403

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

NOTES

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

50 Hz



S0 1z NOTES EVM

EBARA Pumps Europe % E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.






EBARA Corporation
11-1, Haneda Asahi-cho, Ohta-ku,
Tokyo 144-8510

Japan

Tel +81 3 6275 7598

Fax +81 3 5736 3193
www.ebara.com

ESARA

EBARA Pumps Europe S.p.A.

Via Pacinotti, 32
36040 Brendola (Vicenza), Italia
Tel. +39 0444 706811
Fax +39 0444 405811
ebara_pumps@ebaraeurope.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. si riserva il diritto di apportare modifiche senza preavviso: tutte le specifiche potrebbero essere oggetto di modifiche

09/16

REV. C



	1. SPECIFICATIONS 
	1.1 TYPICAL APPLICATIONS 
	1.2 PERFORMANCE RANGE 

	2. EVMS 1-3-5-10-15-20

	2.1 PRODUCT FEATURES 
	2.2 PRODUCT SPECIFICATIONS 
	2.3 SHAFT SEAL 
	2.4 TYPE KEY and NAMEPLATE
	2.5 PERFORMANCE RANGE 
	2.6 CURVE SPECIFICATIONS 
	2.7 SELECTION CHART 
	2.8 EVMS(L)1

	EVMSG1


	2.9 EVMS(L)3

	EVMSG3


	2.10 EVMS(L)5

	EVMSG5


	2.11 EVMS(L)10

	EVMSG10


	2.12 EVMS(L)15

	EVMSG15


	2.13 EVMS(L)20

	EVMSG20


	2.14 PACKING 

	3. EVM 32-45-64

	3.1 PRODUCT FEATURES 
	3.2 PRODUCT SPECIFICATIONS 
	3.3 SHAFT SEAL 
	3.4 TYPE KEY and NAMEPLATE
	3.5 PERFORMANCE RANGE 
	3.6 CURVE SPECIFICATIONS 
	3.7 SELECTION CHART 
	3.8 EVM(L)32

	EVMG32


	3.9 EVM(L)45

	EVMG45 

	3.10 EVM(L)64

	EVMG64


	3.11 PACKING 

	4. MOTOR DATA 
	4.1 NOISE DATA 
	4.2 TECHNICAL MOTOR DATA 
	EVMS 1-3-5-10-15-20

	EVM 32-45-64




